REVISIONS by

rairie, W1 53590

COLORS SELECTED:

BUILDING COLOR: SLATE GRAY

WINDOW AND DOOR TRIM COLOR: GARNET
EXTERIOR DOOR OTHER THAN BURN DOORS: BRONZE
NOTE: Burn room doors and all shutters are Galvanized Steel

800—-929-3726
nce # PE 56328

Sun

o
(o}
o

(2
=
—
3

2

Sa

<+

-

)
o
(2]
o
A~

°

Digitally signed by Steven

Westra

DN: C=US,

E=swestra@firefacilities.com,
Steven WEStra O="Fire Facilities, Inc",

CN=Steven Westra

Date: 2022.01.05

08:03:50-06'00"

DRAWING INDEX

PAGE 01 — FLOOR PLANS

PAGE 02 — FLOOR PLANS CONT.

PAGE 05 — ELEVATIONS

PAGE 04 — ELEVATIONS CONT.

PAGE 05 — ANCHOR BOLT PLAN

PAGE 06 — STRUCTURAL FRAMING PLAN
PAGE O/ — STRUCTURAL ELEVATIONS
PAGE 08 — STRUCTURAL ELEVATIONS CONT.
PAGE 09 — STRUCTURAL SECTIONS

PAGE 10 — STRUCTURAL SECTIONS CONT.
PAGE 11 — JOIST PLAN

PAGE 12 — JOIST PLAN CONT.

SUN PRAIRIE, WI 53590

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

PROPERTY OF FIRE FACILITIES, INC.,
OFFICE: (608) 327—-4100 FAX (608) 834—1843

PAGE 15 — STUD WALL ELEVATIONS AND DETAILS % %
PAGE 14 — STUD WALL ELEVATIONS AND DETAILS CONT. = =
GENLRAL DATA e g PAGE 15 — ANNEX BURN ROOM #1 PLAN AND DETAILS DESIGN LOADS: 3 -
ceupancy P P 9 PAGE 16 — BURN ROOM #2 PLAN AND DETAILS “L00OR LIVE |OAD: 100 PSF = =
simulator /nonbuilding structure PAGE 17 — WESTEC SYSTEM DETAILS : ¥ =
gccufo”iy Loﬁd: .LeS'TS thoﬁ‘ gO PAGE 18 — WESTEC SYSTEM DETAILS CONT ROOF LIVE LOAD: 100 PSF
ASQC?- ru%é?? Sgpef.t ype ll— PAGE 19 — PARAPET DETAILS WIND LOAD: 128 MPH: RISK CAT I; EXP C D - .
e T PAGE 20 — RECESSED BALCONY DETAILS . o S
Height: 40 ft SEISMIC DESIGN CAT: A T 5
Stories: 4 PAGE 21 — MISC. DETAILS L 1
Alowable Area:  N/A PAGE 22 — MISC. DETAILS CONT. ol lE CLASS: D —ol .38
e Sorinkler: N /A PAGE 23 — MISC. DETAILS CONT. DESIGN CODE: FBC 2020 AND NFPA 1402 —_— 37 20
e oprineer PAGE 24 — SHUTTER/BURN DOOR LEVER LATCH DETAILS —_— 0853
PAGE 25 — STAIR DETAILS NFPA 1402 is the Standard on Facilities for Fire Training O=]  uBsh
and Associated Props. Chapters 1.2.2 and A.1.2.2 state <§ ZE‘H/EE
the following ‘Fire training structures are not occupied I 1 — gj'lELLg
buildings. Building code requirements for many occupied L E%OQLZL
building items, such as fire protection, HVAC, finishes, and o QWEZE
accessibility per the ADA, do not apply to fire training I-IJ H- ;g,LQS
structures.” m 0 z = EQ
] m@g;
m; ég’o\%
38&
Skt
ogg
S
d—
MATERIAL SPECIFICATIONS: |
W SHAPES: ASTM A992 (Fy = 50 ksi). L
HSS: ASTM A500 (GRADE B). L
PLATES: ASTM A36 OR ASTM A572 (GRADE 50). ]
ANGLES: ASTM A36. L
C SHAPES: ASTM A36. o —
BOLTS: ASTM A325N. ®
LIGHT GAUGE STEEL: ASTM A653 OR ASTM A924. = =
WELDS Field Welding Not Required; Shop Electrodes E71T-1 Lol N
i 337 |¢
.EL N = um B O
& Ll L = Ly
S =306 [iE
8 2
D 0
SPECIAL INSPECTIONS Date: DECEMBER 10, 2021
(cont. reports required for submittal to city inspector): Drawn by
WDM
1. HIGH STRENGTH BOLTS Checked by:
2. REINF. CONC W/ F'c > 2.5ksi SPW
3. WELDING — NO FIELD WELDING REQUIRED Scale: SHOWN
NECTENS £OR T SRS A S TSRO GHE T consTrTn o T T ere7es / geeeses
Sheet No.

TITLE PAGE



AutoCAD SHX Text
TITLE PAGE

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
SITE CLASS: D

AutoCAD SHX Text
SEISMIC DESIGN CAT: A

AutoCAD SHX Text
ROOF LIVE LOAD: 100 PSF

AutoCAD SHX Text
FLOOR LIVE LOAD: 100 PSF

AutoCAD SHX Text
WIND LOAD: 128 MPH; RISK CAT I; EXP C

AutoCAD SHX Text
DESIGN LOADS:

AutoCAD SHX Text
GENERAL DATA Occupancy Group:  Unoccupied fire training  simulator/nonbuilding structure Occupancy Load: Less than 50 Construction Type:  Type II-B Area:  2611 sq. ft. Height:  40 ft Stories:  4 Allowable Area:  N/A Fire Sprinkler:  N/A

AutoCAD SHX Text
SPECIAL INSPECTIONS (cont. reports required for submittal to city inspector): 1.  HIGH STRENGTH BOLTS 2.  REINF. CONC W/ F'c > 2.5ksi 3.  WELDING - NO FIELD WELDING REQUIRED INSPECTIONS FOR REINF. CONCRETE SHALL TAKE PLACE PRIOR/DURING FOUNDATION CONSTRUCTION AND INSPECTIONS FOR HIGH STRENGTH BOLTS DURING SUPERSTRUCTURE PLACEMENT.

AutoCAD SHX Text
DESIGN CODE: FBC 2020 AND NFPA 1402

AutoCAD SHX Text
DRAWING INDEX PAGE 01 - FLOOR PLANS PAGE 02 - FLOOR PLANS CONT. PAGE 03 - ELEVATIONS PAGE 04 - ELEVATIONS CONT. PAGE 05 - ANCHOR BOLT PLAN PAGE 06 - STRUCTURAL FRAMING PLAN PAGE 07 - STRUCTURAL ELEVATIONS  PAGE 08 - STRUCTURAL ELEVATIONS CONT. PAGE 09 - STRUCTURAL SECTIONS  PAGE 10 - STRUCTURAL SECTIONS CONT. PAGE 11 - JOIST PLAN PAGE 12 - JOIST PLAN CONT. PAGE 13 - STUD WALL ELEVATIONS AND DETAILS PAGE 14 - STUD WALL ELEVATIONS AND DETAILS CONT. PAGE 15 - ANNEX BURN ROOM #1 PLAN AND DETAILS PAGE 16 - BURN ROOM #2 PLAN AND DETAILS PAGE 17 - WESTEC SYSTEM DETAILS PAGE 18 - WESTEC SYSTEM DETAILS CONT PAGE 19 - PARAPET DETAILS PAGE 20 - RECESSED BALCONY DETAILS PAGE 21 - MISC. DETAILS PAGE 22 - MISC. DETAILS CONT. PAGE 23 - MISC. DETAILS CONT. PAGE 24 - SHUTTER/BURN DOOR LEVER LATCH DETAILS PAGE 25 - STAIR DETAILS

AutoCAD SHX Text
NFPA 1402 is the Standard on Facilities for Fire Training and Associated Props.  Chapters 1.2.2 and A.1.2.2 state the following “Fire training structures are not occupied Fire training structures are not occupied buildings.  Building code requirements for many occupied building items, such as fire protection, HVAC, finishes, and accessibility per the ADA, do not apply to fire training structures.”   

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
TITLE PAGE

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


9 3/4”

REVISIONS by

3-9 5/8”

Sun Prairie, W 53590

800-929-3726

%
T L./L.L. T T LJJ\L T T T J i T T | | ] ! | | / "“

o
|-
s
7]
o
=
o
c
]
>
[
2
(%]
e
]
o
£
=)
c
]

Florida Licence # PE 56328

Address: 314 Wilburn Road

JD

12'-6 5/8"

22’_0”

o) T T T T
fallz | - North arrow for reference only —
— coordinate actual orientation on site
i F t ] ANNEX BURN ROOM #1 =
B ) | |
) i LINER PANEL
L- i #466309600 \ INTERIOR OF ROOM IS LINED
T < ALONG SIDE OF WITH WESTEC INSULATION &
= R STAIR WALL ONLY | STAINLESS STEEL PANELS | =
NN o 1 |
tp] -
i il " N . . FLOOR PANEL ;
(\ B - || 2 2
71\ & q = e / 6 X '] ’]8 GA AH*
g i \) @ @ R N - 1 1
wn :
L @l o (2) 4'x4’ WESTEMP PANELS H » - - | .
- . i AT CEILING OUTSIDE OF BURN\_E 4 J
x| & ROOM DOOR ! § !
d 9] Oy © :_ B | |
’D' - = ! i l —
3-31/47||3-31/4" : : | |
/ ! -—+—JOIST
& ] 8" x 2—1/2" "CEE”
= - - -
D ﬂ - - - \<
— ]
'I C I I I I I T ] I 11

C C C C C C C L T J
% \ / ﬂ ’ —— FLOOR PANEL SPLICE
SIAMESE FIRE DEPARTMENT PANEL JOINT BACK PLATE, 67 x 17 26 GA. #382200

CONNECTION /STANDPIPE

(FELD LoONTe) ps2ss: e o s FLOOR PANEL SPLICE PLATE
scale: 1 1/2" = 1'=-0"
48'—g" FASTEN FLOOR/ROOF PANELS TO
JOISTS WITH #12 x 1 1/4” S.D.

SCREWS #760602 AT 2'—0" O.C.
(EACH JOIST)

FLOOR PANELS

FIRST FLOOR PLAN voers s

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.,
OFFICE: (608) 327—-4100 FAX (608) 834—1843

314 WILBURN ROAD, SUN PRAIRIE, WI 53590

SCALE: 1/4” = 1'=0"

IMPORTANT:
PLEASE NOTE ONE LEG OF THE
FLOOR PANELS IS LONGER. THE

22’_0”

- o
o= o
LLl A
g
LONGER LEG SHOULD BE PLACED C§> Q%%
NOTE: ALL SHUTTERS IN TOWER (#392100) SWING IN, UNLESS OTHERWSE SHOWN \ UNDER THE SHORTER LEG TO =2 5838
’ ‘ ENSURE A FLAT FLOOR SYSTEM. <" Q#%E
19 -~
ALL SHUTTERS IN BURN ROOM (#392300) & ATTIC (#392600) SWING OUT, UNLESS OTHERWISE SHOWN \ FLOOR JOISTS —= L
7 I ”” 7 ~X I
8" x 2 1/2" "CEE QO= LwBEh
o =< o
< — wh XEQ
TYPICAL FLOOR PANEL FASTENING DETAIL LL. Pzl g
L EFSo=2Z
” ’ ” o =0 8 |9
RECESSED SIDE WALL scale: 1 1/2" = 1-0 — LT LS
PANELS #370830 STEP TRIM #384430 I-IJ L LL% 1 §8
: oZ | =50
~ g FASTEN TRIM TO STUDS WITH FASTEN TRIM TO PANELS — ) §@§5
~ @ B 18 GA. ROOF PANEL #351310 RAKE TRIM #380850 #12 x 3/4” S.D. SCREWS WITH #12 x 3/4” S.D. L., R332
I 760600 AT EACH STUD / g < s Sk
T T T T T w) ||r T T T I T - \ 7 # SCREWS #760600 AT 6 0.C. = o 8 &
. = I 1 y 2”"OF CONCRETE FLOOR | (1) 44 WESTEMP PANEL r / \ T oL
@© LTOWER FLOOR AN (BY OTHERS) SLORE CONGRETE.TION | BURN ROOM DOOR el _ FLOOR EDGE TRIM #580001 " I L 2
0 = PANELS F9ona05 /& [ EXTERIOR OF BUILDING RESIDENCE BURN ROOM #2 ﬂ S
o (5] FLOOR PANELS|#352318 ; B N ] ] -
- | | (LoCATED BELOW|CONGRETE) T WESTEC INSULATION & — “ “ =
a [’ 1 STAINLESS STEEL PANELS O
© a — - : : FLOOR PANELS ==
b | /=3 | © ) N (2 OF CONCRETE COVER BY OTHERS, | | 6” x 17 18 GA
i 5 .L ZTOWER_ g . - THIS BURN ROOM AREA ONLY)  H . WALL STUDS . :
2| 5 RESIDENCE FLOOR PANELS #352730 - » ” » ”
T M o PANELS (LOCATED BELOW CONCR#ETE) 47 x 2720 GA. "CEE
2l B " #352815 (2) x4 WESTEMP PANELS [
I § 11'=0" AT CEILING OUTSIDE OF $ FlZOOR JOBT,,S » » <
|1 — i J BURN ROOM DOORS 8" x 2—1/2" 16 GA. "CEE |
g N _’ = o LINER PANEL #466309600 i L
~ THIS SIDE OF WALL ONLY 2
olo = i O Nk gggo;ggoz%mm By —— i TYPICAL FLOOR EDGE TRIM DETAIL Lo
|0 = N .0. 5 : :
] A r\ = I\\,i& = 8l 5 (STUDS SIT ON JOISTS) 5 scale: 11/2" = 1'=0" —1
©|® . QO BN = ® \ L
2 2 R M - % é RESIDENCE FLOOR TYPICAL OUTSIDE CORNER TRIM #358340 = () —
2 L a o % L) PANELS #352309 AT ALL OUTSIDE PANEL CORNERS FASTEN TRIM TO PANELS ©) L
Q _}:D \ — D_: ; e L lNERPANEL#466311OOO FLOOR OPEN'NG TOE Wl—l—H #8 X 1/2” FLATHEAD 2 R
- THIS SIDE OF WALL ONLY ANGLE #399000 ” = %
O SCREWS #508672 AT 6° O.C.
R 1/47|3=3 1/4” ~—FLOOR TRANSITION LINE FROM TOWER E??Déﬁéﬁoﬁgiém (INSTALL WITH HEMMED LEG UP) S O = - =
™~ PANELS TO RESIDENCE PANELS — TRIM (S’TUDS SIT ON JOISTS) l 1 FLOOR EDGE TRIM #380004 .5 o O E T
) \ WITH PART #380004 FASTEN WITH RESIDENGE FLOOR / 2 hH = 0 “ O
h I L;%E'ﬁg;@g&m . #8 x 1/2” FLATHEAD SCREWS #5086; YPANELS #352308 Ir: FASTEN ANGLE TO JOISTS WITH I ‘ % Lol g E E%
' /8’ | #12 x 3/47 S.D. SCREWS Yy Q O O %
2 FIRE DEPARTMENT STANDPIPE Dot
N i ene APROXIMATE FLOOR PANELS are DECEMBER 10, 2021
: FOLD LINE, 45° ” ”
2 AT THE TOP AND BOTTOM OF STAIRS, 6" x 17 18 GA. Drawn by:
THE OUTSIDE CORNERS OF TOE o O NEL WDM
11°=4" 11°—4" 12'-0" ANGLES SHALL BE FOLDED AT A i I Checked by
" on o 45° ANGLE TO FLOOR PANEL TO :
348 14-0 PREVENT SHARP EDGE SITUATION. FLOOR JOISTS — ikl
45_g" ¢ 8" x 2 1/2” 16 GA. "CEE” cale: SHOWN

Order No.

FTE—796 / #244368

SECOND FLOOR PLAN TYPICAL FLOOR OPENING TRIM DETAIL

SCALE: 1/4” = 1'-0” scale: 11/2% = 1'=0" 01 of 25



AutoCAD SHX Text
SCALE:   1/4" = 1'-0"

AutoCAD SHX Text
SCALE:   1/4" = 1'-0"

AutoCAD SHX Text
SECOND FLOOR PLAN

AutoCAD SHX Text
FLOOR PLANS

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
TYPICAL FLOOR PANEL FASTENING DETAIL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
TYPICAL FLOOR EDGE TRIM DETAIL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
FLOOR EDGE TRIM #380001

AutoCAD SHX Text
       ALL SHUTTERS IN BURN ROOM (#392300) & ATTIC (#392600) SWING OUT, UNLESS OTHERWISE SHOWN

AutoCAD SHX Text
NOTE:  ALL SHUTTERS IN TOWER (#392100) SWING IN, UNLESS OTHERWISE SHOWN

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
FLOOR PANEL SPLICE PLATE

AutoCAD SHX Text
PANEL JOINT

AutoCAD SHX Text
FIRST FLOOR PLAN

AutoCAD SHX Text
ANNEX BURN ROOM #1

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
IMPORTANT:  PLEASE NOTE ONE LEG OF THE FLOOR PANELS IS LONGER. THE LONGER LEG SHOULD BE PLACED UNDER THE SHORTER LEG TO ENSURE A FLAT FLOOR SYSTEM. 

AutoCAD SHX Text
JOIST  8" x 2-1/2"  "CEE"

AutoCAD SHX Text
FASTEN FLOOR/ROOF PANELS TO  JOISTS WITH #12 x 1 1/4" S.D. SCREWS #760602 AT 2'-0" O.C. (EACH JOIST)

AutoCAD SHX Text
FLOOR JOISTS 8" x 2 1/2"  "CEE"

AutoCAD SHX Text
FLOOR PANELS 6" x 1" 18 GA.

AutoCAD SHX Text
FASTEN TRIM TO STUDS WITH #12 x 3/4" S.D. SCREWS #760600 AT EACH STUD

AutoCAD SHX Text
FASTEN TRIM TO PANELS WITH #12 x 3/4" S.D. SCREWS #760600 AT 6" O.C.

AutoCAD SHX Text
FLOOR PANELS 6" x 1" 18 GA.

AutoCAD SHX Text
FLOOR JOISTS 8" x 2-1/2" 16 GA. "CEE"

AutoCAD SHX Text
SPW

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
TYPICAL FLOOR OPENING TRIM DETAIL

AutoCAD SHX Text
FLOOR EDGE TRIM #380004

AutoCAD SHX Text
FASTEN TRIM TO PANELS WITH #8 x 1/2" FLATHEAD SCREWS #508672 AT 6" O.C.

AutoCAD SHX Text
FLOOR PANELS 6" x 1" 18 GA.

AutoCAD SHX Text
FLOOR JOISTS 8" x 2 1/2" 16 GA. "CEE"

AutoCAD SHX Text
FLOOR OPENING TOE  ANGLE #399000  (INSTALL WITH HEMMED LEG UP)

AutoCAD SHX Text
FASTEN ANGLE TO JOISTS WITH #12 x 3/4" S.D. SCREWS #760600 AT 2'-0" O.C.

AutoCAD SHX Text
IMPORTANT:    AT THE TOP AND BOTTOM OF STAIRS, THE OUTSIDE CORNERS OF TOE  ANGLES SHALL BE FOLDED AT A 45° ANGLE TO FLOOR PANEL TOPREVENT SHARP EDGE SITUATION. 

AutoCAD SHX Text
APROXIMATE FOLD LINE, 45°

AutoCAD SHX Text
LEVEL OF  FLOOR PANEL

AutoCAD SHX Text
3"

AutoCAD SHX Text
3"

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
18 GA. ROOF PANEL #351310

AutoCAD SHX Text
RAKE TRIM #380830

AutoCAD SHX Text
STEP TRIM #384430

AutoCAD SHX Text
INTERIOR OF ROOM IS LINED WITH WESTEC INSULATION & STAINLESS STEEL PANELS

AutoCAD SHX Text
FLOOR PANEL 6" x 1" 18 GA.

AutoCAD SHX Text
FLOOR PANEL SPLICE BACK PLATE, 6" x 1" 26 GA. #382200

AutoCAD SHX Text
WALL STUDS 4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
UP

AutoCAD SHX Text
UP

AutoCAD SHX Text
8 TREADS @ 11" = 7'-4

AutoCAD SHX Text
TOWER FLOOR PANELS #352805

AutoCAD SHX Text
UP

AutoCAD SHX Text
8 TREADS @ 11" = 7'-4

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
TOWER FLOOR PANELS #352805

AutoCAD SHX Text
TOWER FLOOR PANELS #352815

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
01 of 25

AutoCAD SHX Text
(2) 4'x4' WESTEMP PANELS AT CEILING OUTSIDE OF BURN ROOM DOOR

AutoCAD SHX Text
LINER PANEL #466309600 ALONG SIDE OF STAIR WALL ONLY

AutoCAD SHX Text
SIAMESE FIRE DEPARTMENT CONNECTION/STANDPIPE (FIELD LOCATE) #329863

AutoCAD SHX Text
FIRE DEPARTMENT STANDPIPE

AutoCAD SHX Text
BURN ROOM #2

AutoCAD SHX Text
RESIDENCE FLOOR PANELS #352308

AutoCAD SHX Text
LINER PANEL #466309600  THIS SIDE OF WALL ONLY  (STUDS #330209) (F.O. STUDS #330219) (STUDS SIT ON JOISTS)

AutoCAD SHX Text
LINER PANEL #466311000 THIS SIDE OF WALL ONLY  (STUDS #330209) (F.O. STUDS #330219) (STUDS SIT ON JOISTS)

AutoCAD SHX Text
TYPICAL OUTSIDE CORNER TRIM #358340  AT ALL OUTSIDE PANEL CORNERS

AutoCAD SHX Text
INTERIOR OF ROOM IS LINED WITH WESTEC INSULATION & STAINLESS STEEL PANELS

AutoCAD SHX Text
(2" OF CONCRETE COVER BY OTHERS, THIS BURN ROOM AREA ONLY.)

AutoCAD SHX Text
RESIDENCE FLOOR PANELS #352730 (LOCATED BELOW CONCRETE)

AutoCAD SHX Text
(2) 4'x4' WESTEMP PANELS AT CEILING OUTSIDE OF BURN ROOM DOORS

AutoCAD SHX Text
RESIDENCE FLOOR   PANELS #352309

AutoCAD SHX Text
RECESSED SIDE WALL PANELS #370830

AutoCAD SHX Text
21

AutoCAD SHX Text
A

AutoCAD SHX Text
FLOOR PANELS #352318  #352318  (LOCATED BELOW CONCRETE)

AutoCAD SHX Text
(1) 4'x4' WESTEMP PANEL AT CEILING OUTSIDE OF BURN ROOM DOOR

AutoCAD SHX Text
2" OF CONCRETE FLOOR (BY OTHERS) SLOPE CONCRETE TO EXTERIOR OF BUILDING RESIDENCE 

AutoCAD SHX Text
B

AutoCAD SHX Text
21

AutoCAD SHX Text
C

AutoCAD SHX Text
21

AutoCAD SHX Text
UP

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
UP

AutoCAD SHX Text
16 RISERS @ 7.5" = 10'-0"

AutoCAD SHX Text
FLOOR TRANSITION LINE FROM TOWER PANELS TO RESIDENCE PANELS - TRIM WITH PART #380004 FASTEN WITH  #8 x 1/2" FLATHEAD SCREWS #508672

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


(1) RAPPELLING ANCHOR(S)

(CEILING MOUNTED)

INSTALL NO MORE THAN ONE ANCHOR
PER JOIST OR MAKE SURE ANCHORS
ARE SEPARATED BY AN INTERIOR

PARAPET OPENING TRIM #387430

3’—8” 4’—0” 3’—8”

PARAPET RAKE TRIM #388630

IMPORTANT NOTE:

THIS RAPPELLING ANCHOR SYSTEM IS

IS RATED FOR 10,000 LBS ULTIMATE 1” x 6”7 FORGED SWIVEL RAPPELLING ANCHOR

IMPORTANT NOTE:

THIS RAPPELLING ANCHOR SYSTEM IS
IS RATED FOR 10,000 LBS ULTIMATE
LOAD AND A 1,000 LBS WORKING LOAD.

IMPORTANT NOTE:

THIS MUST BE INSTALLED
BEFORE PLACING FLOOR

N BEAM (FIELD LOCATE) LOAD AND A 1,000 LBS WORKING LOAD. #391051 (GALVANIZED ANCHOR HOUSING) DO NOT INSTALL MORE THAN ONE OR ROOF PANEL ABOVE
~ STEP TRIM #381330— MITER CUT OR COPE ALL RAPPELLING ANCHOR ON A SINGLE
) ' 7 PARAPET RAKE TRIMS AT (4) FLAT WASHERS #391007 FOR ANCHORS ARE: SEPARATED By
. ] — . 7 7 . . . . X — CORNERS (OUTSIDE) TYP. DO NOT INSTALL MORE THAN ONE # ANCHORS ARE SEPARATED BY AN
. . 1 C , r 1 I RAPPELLING ANCHOR ON A SINGLE ROOF PANEL (ONLY — NO INTERIOR BEAM (FIELD LOCATE)
- U % I_ / BUILDING JOIST OR MAKE SURE WASHERS REQ. FOR FLOOR PANEL)
: a l_ ANCHORS ARE SEPARATED BY AN i ) P — »
> LTOWER FLOOR INTERIOR BEAM (FIELD LOCATE) 1-8 x 3.25 [ \(,J,QSL/E% ng%OELAT
0 PANELS #352805 ,_/ I A325 STRUCTURAL N I # “
fl\‘ —— RESIDENCE ROOF BOLT #390017 .
+ z_o - 30 3/47] = PANELS #351317 % % % % % % ” ” =
- =l ' | ol = — ] ’ — ] NUT 4390006 (THHEAD APPROX
2 Q - - o .
S | /=3 | = LINER PANEL #466311000 ' d o A .I 17 OF NUT ONTO EACH BOLT) B
—. ! I/ THIS SIDE OF WAL ONLY = (2) RINGBOLT SPACERS #391004 [ ROOF PANEL OR
Mk = O i || &~ TowER 1 BETWEEN PANEL & JOIST FLOOR PANEL NSTALL COTTER PIN
ol = = A FLOOR | (1) RAPPELLING ANCHOR(S) 1 BETWEEN JOIST & NUT — =t 1502960
ol — T ks ] INSTALL NO MORE THAN , \ 1Y 1 /4" THICK FLAT (2) RINGBOLT SPACERS #391004 = 8” 16 GA. FLOOR
2" O L 2 # ONE ANCHOR PER JOIST (1) 1”7 =8 X 2 3/4” COUPLING — (1) 1/  BETWEEN ANGLE & EVE _\ ) SR ROGF JOIST
e - ) OR MAKE SURE ANCHORS NUT #390996 (THREAD APPROX. . WASHER 1 BET'VEEN JOIST & NUT = (1) 1/4” THICK
2 ~ T B = | ——3040 TOWER SHUTTER #392100 T B LOCATE) 1"-8 x 3.25" A325 — #502960 im \
N | AN o (SWINGS INTO TOWER) - STRUCTURAL BOLT #390017 8” 16 GA. FLOOR OR —™ © 4 (1) 1/8” THICK FLAT
“ 21X S e USE DOOR STOP #381000 l < ROOF JOIST 4 >5 WASHER #391007 >
3o - 3 — ol = (THIS NON—BURN SHUTTER ONLY) — — L
o (€] ~ Y2} = (O @ 3 M u
g \1/1 L Ua = ® » @ 4 L 6” X 4” X 1/2” STRUCTURAL 44 A
W L i G ® % i ANGLE #391024 17 x 6” FORGED SWIVEL
~ L T : < 3/8”-16 X 1” BOLT #760100 & 3/8"—16 .o , RAPPELLING ANCHOR
E L % — 2 = RESIDENCE FLOOR < N6T #760300 ON 5ol ENDS OF XNGLE - C4TUI§AI1_/ 2 NGLE / #391051 (GALVANIZED
K . o= Lo PANELS #352500 = - 4391024 ANCHOR HOUSING)
B ; |- " i i ?I—?I—IE:I'HREE JOISTS ARE SHOWN AT MAXIMUM SPACING (2'—0" 0.C.). ONLY i/ i”/;&)é KU$OL7T6§2881%%
N 8—6 1/2" 3-31/47||3-3 1/4 THREE JOISTS NEED TO BE CONNECTED, THEREFORE THE ENTIRE LENGTH OF THE NOTE: B0Th ENDS OF AﬁGLE
) 2 ANGLE MAY NOT NEED TO BE UTILIZED (I.E., IF THE JOISTS HAVE A SMALLER THE THREE JOISTS ARE SHOWN AT MAXIMOM SPACING (2'—0" O.C.). ONLY THREE
i i SPACING). , ” JOISTS NEED TO BE CONNECTED, THEREFORE THE ENTIRE LENGTH OF THE ANGLE MAY
B TOWER FLOOR FINISHING TRIM  #358140 4-2 1/2 N NOT NEED TO BE UTILIZED (L.E., IF THE JOISTS HAVE A SMALLER SPACING).
R 0 O _I /® PANELS #352805 / I_ I = . Ristyd
L C C C C C C C C C C C \ a \/ \/
& FIRE DEPARTMENT STANDPIPE N O,,\ s FORGED SWIVEL RAPPELLING ANCHOR INSTALLATION DETAIL (X3) FORGED SWIVEL RAPPELLING ANCHOR CEILING INSTALLATION DETAIL (X1)
2 4 g\ PARAPET OPENING scale: 3" = 1'-0 scale: 3" = 1'-0
12°_0” oo g” TRIM #387430
34'-8" 3'-0"
FASTEN ROOF PANELS TO JOISTS WITH
#12 x 1-1/4" S.D. SCREWS
TOWER THIRD FLOOR & ATTIC PLAN #760502 AT 2-0" OC. (EACH J0IST)
36 1—1/2" 18 GA.
SCALE: 1/4" = 1-0" | | | f A W A U A U A U A W A U
| | | | _/ \/ \/ \/ \/
| | | |
oy 6" TYP = CAULK TAPE #760703
/,/’ " L____ﬁ4 3-0”
Q
FLOOR JOISTS
8” 2_,] 2” ”CEE”
/ 7 / TYPICAL ROOF PANEL OVERLAP
TYPICAL ROOF PANEL FASTENING DETAIL scale: 1 1/2" = =0’
North arrow for reference only — m P
coordinate actual orientation on site scale: 1.1/27 = 1'-0
?Sﬁfpgg;ﬁzg“NG MITER CUT OR COPE ALL PARAPET RAKE TRIMS
o ) . # . AT CORNERS (OUTSIDE) TYP.
> STEP TRIM 4381330 SCHEDULE 80 1—1/4” DIA. LADDER PIPE #399170 (HOT DIPPED GALVANIZED) X N
~ / # = = PARAPET RAKE TRIM #388630
~ 00 /
T e S— T ' ' TT 11171
1T o o[ T T ,, ,, 11
Y , , / . 3/8" DIA. BOLTS #760100, 3/8" DIA. NUTS #760300 : :
> 86 1/2 TOWER FLOOR ' Q Q.
0 = PANELS #352805 /. | & WASHERS #630146 (3) EACH PER ANGLE ™ o o
< 3'-0" ! o~ ~ N
¥ 30 3/47] c N v -
1 O o ! | 4 INSTALL (1) 1/4” CARRIAGE BOLT L .
T ) 7 e 2 — o
2 | 73 | : RAKE TRIM #380830 £ 4392003 & (1) NUT #502910 INTO 2 ]
Y g = ZTOWER LADDER PIPE #399170 PIPE ENDS TO KEEP PIPE FROM - = -
ke N : FLOOR ATTACH TO ANGLED ROOF ! SLIDING THROUGH ANGLES. AN
.g ] T < Zégﬂﬁ% WITH ANGLES #340250 |- - TOWER ROOF
e - 0 Q FIELD DRILL (1) 5/18” 2 ) PANELS #351316
N 5 A L L _| | —— RIDGE CAP #382100 . DIA. HOLE THRU EACH UK L]
: o|~ s Ty = 5 O # <, , ) o= )
o ~| T & IR 1 END OF PIPE : o~ :
| ) = O]~ 4 < ~NE - - =
g 2 % C_) 71x [N r E&’l © S 1\'
o < = = ~ 12 GA. GALV. PIPE 2l (2) RAPPELLING ANCHOR(S)
0o = N —~ ©| - \ : ~ 4l o INSTALL NO MORE THAN ONE
“le ) N S ©le o ANGLES #340250 4P ANCHOR PER JOIST OR MAKE
©ly, L Q) M § @| T ———— RESIDENCE ROOF ¥ ol ] SURE ANCHORS ARE
2 = N -l N 0| 2 PANELS #351305 (FASTENS TO ROOF ’ -8 SEPARATED BY AN INTERIOR
& = el S PANELS) N BEAM (FIELD LOCATE)
0| & X = 2
Lo o \‘ x|~ 0 <
—l — 4 n 0 - -
g & o ——— FENDER BRACKETS K -
: 33 1/4" 4380017 FIELD” DRILL (3)
™ 7/16" DIA. HOLES (Tl 86 1/2" 2_6" X 30" BILCO
¥ LTOWER FLOOR l_ NOTE: FIELD CUT ROOF -~ THRU, EACH ANGLE, v ROOF HATCH #390400
PANELS 35805 PANEL AROUND OPENINGS. THRU ROOF PANELS
Lo L T M —
[ 1 VA \
< LADDER #399020J L ) /
N ROOF CURBS|WITH CRICKET #390304 & %TAAZ%;A)E%MNG
° LADDER PIPE ANCHOR DETAIL (X1) 5
o o ——— 1 1/4” DIA. X 24" LONG
12-0 -4 4$-0" 4$-0" 4£-0" GRAB BAR #300200.
FASTEN W/(6) #760600 S.D.
. SCREWS DIRECTLY TO
234 12°-0" PARAPET RAKE TRIM.
SCALE: 1/4” = 1'=0" SCALE: 1/4” = 1’=0"

REVISIONS by

Sun Prairie, W 53590

Steven P. Westra

800—-929-3726
Florida Licence # PE 56328

Address: 314 Wilburn Road

«
5]
5]

£
o
c

L

SUN PRAIRIE, WI 53590

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.,

314 WILBURN ROAD,
OFFICE: (608) 327—-4100 FAX (608) 834—1843

INFO@ FIREFACILITIES.COM

FIRE FACILITIES, INC.
314 WILBURN ROAD, SUN PRAIRIE, WI 53590
OFFICE: (608) 327—4100 FAX: (608) 834—1843

STEEL FIRE TRAINING TOWERS
TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639—7012

FIRE FACILITIES

WWW.FIREFACILITIES.COM;

|
L
=
L]
=
|_
%
L]
o
O

T
Lo
Lo
I
L
()]
O
=
o 3
LR
L"'D
= O

FLOOR PLANS

Sheet Title:

S| Job Description:
@

DECEMBER 10, 2021

Drawn by: WDM

Checked by: SPW

Scale:
SHOWN

Order No- e1e_796 / #244368

Sheet No.

02 of 25



AutoCAD SHX Text
TOWER THIRD FLOOR & ATTIC PLAN

AutoCAD SHX Text
TOWER ROOF PLAN

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
TOWER FOURTH FLOOR AND RESIDENCE ROOF PLAN

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
FLOOR PLANS

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
PARAPET RAKE TRIM #388630

AutoCAD SHX Text
MITER CUT OR COPE ALL PARAPET RAKE TRIMS AT CORNERS (OUTSIDE) TYP.

AutoCAD SHX Text
FLOOR JOISTS  8" x 2-1/2"  "CEE"

AutoCAD SHX Text
FASTEN ROOF PANELS TO JOISTS WITH #12 x 1-1/4" S.D. SCREWS #760502 AT 2'-0" O.C. (EACH JOIST)

AutoCAD SHX Text
ROOF PANELS  36" x 1-1/2" 18 GA.

AutoCAD SHX Text
RESIDENCE FLOOR PANELS #352500

AutoCAD SHX Text
CAULK TAPE #760703

AutoCAD SHX Text
TYPICAL ROOF PANEL OVERLAP

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
TYPICAL ROOF PANEL FASTENING DETAIL

AutoCAD SHX Text
STEP TRIM #381330

AutoCAD SHX Text
ROOF CURBS WITH CRICKET #390304

AutoCAD SHX Text
RIDGE CAP #382100

AutoCAD SHX Text
RAKE TRIM #380830

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
LINER PANEL #466311000 THIS SIDE OF WALL ONLY

AutoCAD SHX Text
3040 TOWER SHUTTER #392100  (SWINGS INTO TOWER)  USE DOOR STOP #381000 (THIS NON-BURN SHUTTER ONLY)

AutoCAD SHX Text
FINISHING TRIM #358140

AutoCAD SHX Text
2'-6" X 3'-0" BILCO  ROOF HATCH #390400

AutoCAD SHX Text
1 1/4" DIA. X 24" LONG GRAB BAR #300200. FASTEN W/(6) #760600 S.D. SCREWS DIRECTLY TO PARAPET RAKE TRIM.

AutoCAD SHX Text
RESIDENCE ROOF PANELS #351305

AutoCAD SHX Text
FENDER BRACKETS #380017

AutoCAD SHX Text
TOWER FLOOR PANELS #352805

AutoCAD SHX Text
UP

AutoCAD SHX Text
8 TREADS @ 11" = 7'-4

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
TOWER FLOOR PANELS #352805

AutoCAD SHX Text
TOWER FLOOR PANELS #352815

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
TOWER FLOOR PANELS #352805

AutoCAD SHX Text
8 TREADS @ 11" = 7'-4

AutoCAD SHX Text
TOWER FLOOR PANELS #352805

AutoCAD SHX Text
TOWER FLOOR PANELS #352815

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
LADDER #399020

AutoCAD SHX Text
PARAPET OPENING TRIM #387430

AutoCAD SHX Text
STEP TRIM #381330

AutoCAD SHX Text
MITER CUT OR COPE ALL PARAPET RAKE TRIMS AT CORNERS (OUTSIDE) TYP.

AutoCAD SHX Text
PARAPET RAKE TRIM #388630

AutoCAD SHX Text
4'-2 1/2"

AutoCAD SHX Text
3/8"-16 X 1" BOLT #760100 & 3/8"-16 NUT #760300 ON BOTH ENDS OF ANGLE

AutoCAD SHX Text
6" X 4" X 1/2" STRUCTURAL ANGLE #391024

AutoCAD SHX Text
NOTE:  THE THREE JOISTS ARE SHOWN AT MAXIMUM SPACING (2'-0" O.C.).  ONLY THREE JOISTS NEED TO BE CONNECTED, THEREFORE THE ENTIRE LENGTH OF THE ANGLE MAY NOT NEED TO BE UTILIZED (I.E., IF THE JOISTS HAVE A SMALLER SPACING).

AutoCAD SHX Text
scale:  3" = 1'-0"

AutoCAD SHX Text
ROOF PANEL OR FLOOR PANEL

AutoCAD SHX Text
FORGED SWIVEL RAPPELLING ANCHOR INSTALLATION DETAIL (X3)

AutoCAD SHX Text
DO NOT INSTALL MORE THAN ONE RAPPELLING ANCHOR ON A SINGLE BUILDING JOIST OR MAKE SURE OR MAKE SURE  MAKE SURE ANCHORS ARE SEPARATED BY AN INTERIOR BEAM (FIELD LOCATE)

AutoCAD SHX Text
1" x 6" FORGED SWIVEL RAPPELLING ANCHOR #391051 (GALVANIZED ANCHOR HOUSING)

AutoCAD SHX Text
(4) FLAT WASHERS #391007 FOR ROOF PANEL (ONLY - NO WASHERS REQ. FOR FLOOR PANEL)

AutoCAD SHX Text
1"-8 x 3.25" A325 STRUCTURAL BOLT #390017

AutoCAD SHX Text
(1) 1" -8 X 2 3/4" COUPLING NUT #390996 (THREAD APPROX. 1" OF NUT ONTO EACH BOLT)

AutoCAD SHX Text
(2) RINGBOLT SPACERS #391004  1 BETWEEN PANEL & JOIST  1 BETWEEN JOIST & NUT

AutoCAD SHX Text
INSTALL COTTER PIN #502960

AutoCAD SHX Text
(1) 1/4"THICK FLAT WASHER 

AutoCAD SHX Text
8" 16 GA. FLOOR OR ROOF JOIST

AutoCAD SHX Text
IMPORTANT NOTE: THIS RAPPELLING ANCHOR SYSTEM IS IS RATED FOR 10,000 LBS ULTIMATE LOAD AND A 1,000 LBS WORKING LOAD.   

AutoCAD SHX Text
(2) RAPPELLING ANCHOR(S) INSTALL NO MORE THAN ONE ANCHOR PER JOIST OR MAKE OR MAKE  MAKE SURE ANCHORS ARE SEPARATED BY AN INTERIOR BEAM (FIELD LOCATE)

AutoCAD SHX Text
(1) RAPPELLING ANCHOR(S) INSTALL NO MORE THAN ONE ANCHOR PER JOIST OR MAKE SURE ANCHORS  MAKE SURE ANCHORS ARE SEPARATED BY AN INTERIOR BEAM (FIELD LOCATE)

AutoCAD SHX Text
LADDER PIPE #399170 ATTACH TO ANGLED ROOF  WITH ANGLES #340250

AutoCAD SHX Text
FIRE DEPARTMENT STANDPIPE

AutoCAD SHX Text
16 RISERS @ 7.5" = 10'-0"

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
UP

AutoCAD SHX Text
16 RISERS @ 7.5" = 10'-0"

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
UP

AutoCAD SHX Text
16 RISERS @ 7.5" = 10'-0"

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
PARAPET OPENING TRIM #387430

AutoCAD SHX Text
(1) RAPPELLING ANCHOR(S) (CEILING MOUNTED) INSTALL NO MORE THAN ONE ANCHOR PER JOIST OR MAKE SURE ANCHORS OR MAKE SURE ANCHORS  MAKE SURE ANCHORS ARE SEPARATED BY AN INTERIOR BEAM (FIELD LOCATE)

AutoCAD SHX Text
12 GA. GALV. PIPE ANGLES #340250 (FASTENS TO ROOF PANELS)

AutoCAD SHX Text
FIELD DRILL (1) 5/16" DIA. HOLE THRU EACH END OF PIPE

AutoCAD SHX Text
INSTALL (1) 1/4" CARRIAGE BOLT #392003 & (1) NUT #502910 INTO PIPE ENDS TO KEEP PIPE FROM SLIDING THROUGH ANGLES.

AutoCAD SHX Text
FIELD DRILL (3) 7/16" DIA. HOLES THRU, EACH ANGLE, THRU ROOF PANELS

AutoCAD SHX Text
3/8" DIA. BOLTS #760100, 3/8" DIA. NUTS #760300 & WASHERS #630146 (3) EACH PER ANGLE

AutoCAD SHX Text
SCHEDULE 80 1-1/4" DIA. LADDER PIPE #399170 (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
LADDER PIPE ANCHOR DETAIL (X1)

AutoCAD SHX Text
4'-2 1/2"

AutoCAD SHX Text
NOTE:  THE THREE JOISTS ARE SHOWN AT MAXIMUM SPACING (2'-0" O.C.).  ONLY THREE JOISTS NEED TO BE CONNECTED, THEREFORE THE ENTIRE LENGTH OF THE ANGLE MAY NOT NEED TO BE UTILIZED (I.E., IF THE JOISTS HAVE A SMALLER SPACING).

AutoCAD SHX Text
(1) 1" -8 X 2 3/4" COUPLING NUT #390996 (THREAD APPROX. 1" OF NUT ONTO EACH BOLT)

AutoCAD SHX Text
INSTALL COTTER PIN #502960

AutoCAD SHX Text
8" 16 GA. FLOOR OR ROOF JOIST

AutoCAD SHX Text
scale:  3" = 1'-0"

AutoCAD SHX Text
FORGED SWIVEL RAPPELLING ANCHOR CEILING INSTALLATION DETAIL (X1)

AutoCAD SHX Text
(1) 1/4" THICK FLAT WASHER 

AutoCAD SHX Text
1"-8 x 3.25" A325 STRUCTURAL BOLT #390017

AutoCAD SHX Text
6" X 4" X 1/2" STRUCTURAL ANGLE #391024

AutoCAD SHX Text
3/8"-16 X 1" BOLT #760100 & 3/8"-16 NUT #760300 ON BOTH ENDS OF ANGLE

AutoCAD SHX Text
1 BETWEEN JOIST & NUT

AutoCAD SHX Text
1 BETWEEN ANGLE & EYE 

AutoCAD SHX Text
(2) RINGBOLT SPACERS #391004 

AutoCAD SHX Text
1" x 6" FORGED SWIVEL RAPPELLING ANCHOR  #391051 (GALVANIZED ANCHOR HOUSING)

AutoCAD SHX Text
(1) 1/8" THICK FLAT WASHER #391007

AutoCAD SHX Text
IMPORTANT NOTE: THIS MUST BE INSTALLED BEFORE PLACING FLOOR OR ROOF PANEL ABOVE

AutoCAD SHX Text
DO NOT INSTALL MORE THAN ONE RAPPELLING ANCHOR ON A SINGLE BUILDING JOIST OR MAKE SURE OR MAKE SURE  MAKE SURE ANCHORS ARE SEPARATED BY AN INTERIOR BEAM (FIELD LOCATE)

AutoCAD SHX Text
IMPORTANT NOTE: THIS RAPPELLING ANCHOR SYSTEM IS IS RATED FOR 10,000 LBS ULTIMATE LOAD AND A 1,000 LBS WORKING LOAD.   

AutoCAD SHX Text
(1) 1/8" THICK FLAT WASHER #391007

AutoCAD SHX Text
PARAPET OPENING TRIM #387430

AutoCAD SHX Text
TOWER ROOF PANELS #351316

AutoCAD SHX Text
RESIDENCE ROOF PANELS #351317

AutoCAD SHX Text
PARAPET OPENING TRIM #387430

AutoCAD SHX Text
NOTE:  FIELD CUT ROOF PANEL AROUND OPENINGS.

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
02 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by
S NOTES. WALL PANEL SPLICE BACK
L ~——WALL STUDS 1. WALL PANEL MUST BE FIELD CUT AROUND PLATE #382430, 67 x 3/4" 26 CA.
e 4 x 27 20 GA. "CEE FRAMED OPENINGS /, . $ $
WALL PANELS ENSURE THAT THE BOTTOM EDGE OF 2. TRIMS ARE IN STANDARD 10’ LENGTHS :’ | / .
6" x 3/4" 18 GA. THE UPPER PANEL IS DIRECTLY IN THE SOME FIELD CUTTING OF TRIMS IS REQUIRED — — Y- § 3eg 8
=t CORNER BEND OF THE LOWER PANEL | | WAL STUD 2 8y
0 TO ENSURE INTERIOR DARKNESS | ! A N c 358 «
N | | 4” x 27 20 GA. "CEE 3 547 3
FASTEN WALL PANELS TO STUD o L al b i x58 &
WITH #12 x 1 1/4” S.D. SCREWS — 5 : T\ iy .
#104170 AT 2'—0” O.C. (EACH STUD) - - " " £5 d
SRIVEN HARD ENGUCH T0 S Kb
j: i ”
| BRING THE PANELS TOGETHER 6" x 3/47 18 GA.
! S WALL PANEL SPLICE PLATE
TYPICAL WALL PANEL FASTENING DETAIL T f e i
scale: 1 1/2" = 1'=0” 6" x 3/4" 18 GA L
AR i WALL STUDS
2 x 4 OR 2 x 6 BY OTHERS 47« 27 20 GA. "CEE”

BOLT ONTO ANGLE BY OTHERS

T
]
i

37 X 3" X 3 LONG 16 GA. ANGLE

WALL STUD \/\’\V

WALL PANEFL —— 7
A 3/47 x 6”7 18 GA.

57/8

STUD WALL TRACK #330000
4" x 2" 20 GA. CHANNEL

FASTEN TRIM TO STUDS WITHj\L
#12 x 1 1/47 S.D. SCREWS #104170 —
AT 2'—0Q0" 0.C. (EACH STUD)

SILL TRIM #380150

-

i

WALL PANEL
3/47 x 67 18 GA.

ANGLE TRIM #388030 AND
FASTEN WITH POP RIVETS I

T

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

Ll
=
D
>
—
O
<
L
L
T
'_
%)
L
S
(e
o
L
T
'_
%
'_
x
<<
o
—
—
<<
o
=
<<
O
=
=
<
%
a
2/
I
'_

2
S
8
w b
=32
Sy E
” ” ” (el
3/8" DIA. BOLT (TYP. EVERY 10-127) | #/62050 @ 187 ON CENTER FASTEN TRIM TO PANEL = =
bR (f) m
EAVE AREA < FOUNDATION ~— CORNER TRIM #380330 WITH #12 x 3/4” S.D. oo
) ) SCREWS #104080 @ 6" O.C. = é S
(CENTER OF EACH PANEL) T ¥ =
BRACKETS FOR 2X4 FENDER DETAILS 2 2N w o
o 9 ™ %)
TYPICAL EXTERIOR CORNER TRIM DETAIL £ 359 8 3
. ” _ ) ” . ” e ’_ » ” ) ”» L © E
scale: 1 1/2” = 1'=0 scale:  1.1/2" = 1'-0 scale: 1 1/2” = 1'=0 S g 8 &
- oD L o
e 3 . =
34’—8” E ; 5 E
) ” 8 i LL:: E
| 22-0 | 22'-8” | 12'=0” a ™ © =
PARAPET RAKE PARAPET RAKE
TRIM #388630 TRIM #388630
_ . N .
u j o- S
] I-IJ L h
] g |~ TRANSITION TRIM #387130 RANSITION TRIM. 4387130 — = 3'35
4 — I_ o 208
ROOF o ROOF — o 9
[ — 0 el
CORNER TRIMS #380330 B ] © RN
/ — =% .G
—— FRAMED OPENING TRIMS o = %L
#381150 TYP. — GEo“#
: : <L =] ="
O bl ” ’ ” b m S m
K (3) 2’=8" X 7'=0" EXTERIOR CORNER TRIM #380330 —= 1 — G % L._g
o / FIRE ESCAPE DOOR #103241 S m Lo =8
= Ll FS 2=z
/ o 0327
— ALL PANELS — 5o
30 TYP o <o+
O _TYP. LIJ L L‘-<QE | 88
—1 w O R I*"\) %)
3" x 3" x 3'-0" FENDER 4TH m L %“ﬁ M [ L
4TH FLOOR BRACKET #380017 SPACED g FLOOR | — Z 55
AT APPROX. 6'—0" 0.C. 1 S5O0 PG
- 1 — m ©
m w 4 =T
STEP TRIM #381330 = .00
RAKE TRIM #380830 _ _ \ + 5SE
CORNER TRIM #381430 \ DELGE
e TAPE CAULK #760703 BETWEEN TRIMS EAVE TRIM #381530 N SWZ
:Cf | & CAULK 760800 TO CREATE SEAL \ = T
- - —
S RAKE TRIM #388630 &; il H|N|N|E)8 g = §
HINE CORNER TRIMS #380330 ——— P ]
— — — I —— \\ ]
] L L1l L) PARAPET OPENING TRIM #387430 e AN Z \ <RD )
9 3RD FLOOR INSIDE _CORNER TRIM_#380430 TOWER SIDE WALL ] FLOOR | 9
| — TRANSITION TRIM #387130 N # = |
@ INSIDE CORNER OF
g — o o BUILDING NOTCH PANELS 4566230 - [ | < <
i " _——NOTCH TRIM #384630 |
INSTALL 4" MINI LOUVER v t— ——— CORNER TRIM #380330 L
#392025 5 0.C. MAX \\/ L
COLUMN WRAP TRIM #376330 & 1
5 #376430 AROUND COLUMN AND FASTEN / ] 5
K WITH POP RIVETS #762030 @ 6" O.C. FRAMED OPENING TRIM #381140 | 566050 A = d
= (TRIM #376330 FITS INSIDE OF #376430) I / o -
INSTALL BEFORE PLACING WALL PANELS » I ()] |
FRAMED OPENING SILL TRIM #381630 G D ~ @) L
FRAMED OPENING SILL TRIM #382630- EI D > =
, RAKE TRIM #380830
INSTALL 4" MINI LOUVER # 2ND : = n
2ND FLOOR ; - 1 AN FLOOR | g O == =
#392025 @ 5 0.C. MAX , = S
® 3 \, Vi \ ! i = o O 9
A N7) e \\ o L o 1 I 2 (n — U s =
INSTALL END CAP #380230 ONLY - RAKE TRIM #380830 ) S L] © o =
AT LIGHT CIRCLED AREAS SHOWN & D R 4 iy
ON THIS PAGE FASTEN WITH POP < OO0 o —
RIVETS #762030 S RS
2 ) %)
CIJ [ =) < Date
5 | e | > DECEMBER 10, 2021
o " Drawn by:
TOP OF 6” CURB \ ~/ N o o . o
= BURN ROOM SIDE WALL RESIDENCE SIDE WALL Checked by:
PANELS #364330 / PANELS #366430 SPW
TOP OF FINISH FLOOR TOP OF
» ” Scale:
TOP OF 6" CURB p 6_ CURBJ SHOWN
PR | l | A / \ Order No.
SILL PANEL #380130 INSTALL SLIDE BOLT #783100 AT——— CONCRETE POUR STOP ANGLE #387630—— FTE—796 / #244368
AROUND ENTIRE PERIMETER INSIDE TOP OF DEAD LEAF SHUTTER (SEE RECESSED CORNER DETAIL ON PAGE 21) Sheet No.

WITH SCREWS #760600

SOUTH END ELEVATION (LEAF OPPOSITE THE SLAN LATCH) WEST SIDE ELEVATION

SCALE: 1/4" = 1’=0" SCALE: 1/4" = 1’-0"

03 of 25



AutoCAD SHX Text
WEST SIDE ELEVATION

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
CORNER TRIM #380330

AutoCAD SHX Text
     SOME FIELD CUTTING OF TRIMS IS REQUIRED

AutoCAD SHX Text
1.   WALL PANEL MUST BE FIELD CUT AROUND

AutoCAD SHX Text
2.   TRIMS ARE IN STANDARD 10' LENGTHS

AutoCAD SHX Text
     FRAMED OPENINGS

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
TRANSITION TRIM #387130

AutoCAD SHX Text
ELEVATIONS

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
RAKE TRIM #380830

AutoCAD SHX Text
FRAMED OPENING TRIM #381140

AutoCAD SHX Text
TOP OF FINISH FLOOR

AutoCAD SHX Text
TOP OF 6" CURB

AutoCAD SHX Text
SOUTH END ELEVATION

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
CORNER TRIMS #380330

AutoCAD SHX Text
TRANSITION TRIM #387130

AutoCAD SHX Text
TYPICAL EXTERIOR CORNER TRIM DETAIL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
WALL STUD

AutoCAD SHX Text
CORNER TRIM #380330

AutoCAD SHX Text
STEP TRIM #381330

AutoCAD SHX Text
TYPICAL WALL PANEL FASTENING DETAIL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
FOUNDATION

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
6" x 3/4" 18 GA.

AutoCAD SHX Text
SILL TRIM #380130

AutoCAD SHX Text
TYPICAL SILL DETAIL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
WALL PANEL SPLICE PLATE

AutoCAD SHX Text
PANEL JOINT

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
3/8" DIA. BOLT (TYP. EVERY 10-12")

AutoCAD SHX Text
BRACKETS FOR 2X4 FENDER DETAILS

AutoCAD SHX Text
3" X 3" X 3' LONG 16 GA. ANGLE

AutoCAD SHX Text
EAVE AREA

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
3" x 3" x 3'-0" FENDER BRACKET #380017 SPACED AT APPROX. 6'-0" O.C.

AutoCAD SHX Text
MINIMUM USAGE GUIDELINES:

AutoCAD SHX Text
1.  RECOMMENDED BURN ROOM MAXIMUM SAFE TRAINING TEMPERATURE IS 1200 degrees F (600 degree F. IN

AutoCAD SHX Text
     SPOT BURN AREAS).

AutoCAD SHX Text
2.  CLEAR SIMULATOR OF ALL PERSONNEL AND UNLOCK ALL MEANS OF EGRESS BEFORE IGNITING FIRE.

AutoCAD SHX Text
3.  FIRE SHOULD NOT BE DIRECTLY POSITIONED ON METAL FLOOR OR PREMATURE DAMAGE WILL OCCUR.

AutoCAD SHX Text
4.  FIRE SHOULD ONLY BE PLACED IN DESIGNATED BURN/INSULATED AREAS.

AutoCAD SHX Text
5.  TEMPERATURE MONITORING DEVICE, FIRE CONDITIONS, AND TRAINEES SHALL BE CONSTANTLY

AutoCAD SHX Text
     MONITORED BY A TRAINING OR SAFETY OFFICER(S).

AutoCAD SHX Text
6.  THIS STRUCTURE TO BE USED IN STRICT CONFORMANCE WITH N.F.P.A. 1403.

AutoCAD SHX Text
F

AutoCAD SHX Text
IRE 

AutoCAD SHX Text
F

AutoCAD SHX Text
ACILITIES, INC.

AutoCAD SHX Text
350 Business Park Drive  Sun Prairie, WI 53590-9401

AutoCAD SHX Text
1-800-929-3726

AutoCAD SHX Text
Toll Free Fax  1-866-639-7012

AutoCAD SHX Text
608-327-4100

AutoCAD SHX Text
FASTEN WALL PANELS TO STUDS WITH #12 x 1 1/4" S.D. SCREWS #104170 AT 2'-0" O.C. (EACH STUD)

AutoCAD SHX Text
WALL PANELS 6" x 3/4" 18 GA.

AutoCAD SHX Text
WALL STUDS 4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
ENSURE THAT THE SCREW IS  DRIVEN HARD ENOUGH TO  BRING THE PANELS TOGETHER  IN FIRM CONTACT

AutoCAD SHX Text
ENSURE THAT THE BOTTOM EDGE OF THE UPPER PANEL IS DIRECTLY IN THE CORNER BEND OF THE LOWER PANEL TO ENSURE INTERIOR DARKNESS

AutoCAD SHX Text
2 x 4 OR 2 x 6 BY OTHERS BOLT ONTO ANGLE BY OTHERS

AutoCAD SHX Text
FASTEN TRIM TO STUDS WITH #12 x 1 1/4" S.D. SCREWS #104170 AT 2'-0" O.C. (EACH STUD)

AutoCAD SHX Text
STUD WALL TRACK #330000 4" x 2" 20 GA. CHANNEL

AutoCAD SHX Text
WALL STUDS 4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
END WALL PANELS #366030 TYP.

AutoCAD SHX Text
SILL PANEL #380130   AROUND ENTIRE PERIMETER

AutoCAD SHX Text
INSTALL END CAP #380230 ONLY  AT LIGHT CIRCLED AREAS SHOWN  ON THIS PAGE FASTEN WITH POP  RIVETS #762030

AutoCAD SHX Text
INSTALL 4" MINI LOUVER    #392025 @ 5' O.C. MAX

AutoCAD SHX Text
RESIDENCE SIDE WALL  PANELS #366430

AutoCAD SHX Text
BURN ROOM SIDE WALL PANELS #364330

AutoCAD SHX Text
TOWER SIDE WALL PANELS  #366230

AutoCAD SHX Text
FASTEN TRIM TO PANEL  WITH #12 x 3/4" S.D.  SCREWS #104080 @ 6" O.C.  (CENTER OF EACH PANEL)

AutoCAD SHX Text
ANGLE TRIM #388030 AND  FASTEN WITH POP RIVETS  #762030 @ 18" ON CENTER

AutoCAD SHX Text
WALL PANEL 3/4" x 6" 18 GA. 

AutoCAD SHX Text
WALL PANEL 3/4" x 6" 18 GA. 

AutoCAD SHX Text
WALL PANEL 6" x 3/4" 18 GA.

AutoCAD SHX Text
WALL STUD 4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
WALL PANEL SPLICE BACK  PLATE #382430, 6" x 3/4" 26 GA.

AutoCAD SHX Text
RAKE TRIM #380830

AutoCAD SHX Text
EAVE TRIM #381530

AutoCAD SHX Text
RAKE TRIM #388630

AutoCAD SHX Text
PARAPET OPENING TRIM #387430

AutoCAD SHX Text
TRANSITION TRIM #387130

AutoCAD SHX Text
CORNER TRIM #381430 TAPE CAULK #760703 BETWEEN TRIMS & CAULK 760800 TO CREATE SEAL

AutoCAD SHX Text
CORNER TRIMS #380330

AutoCAD SHX Text
FRAMED OPENING SILL TRIM #381630

AutoCAD SHX Text
FRAMED OPENING SILL TRIM #382630

AutoCAD SHX Text
INSTALL 4" MINI LOUVER    #392025 5' O.C. MAX

AutoCAD SHX Text
INSTALL SLIDE BOLT #783100 AT INSIDE TOP OF DEAD LEAF SHUTTER  TOP OF DEAD LEAF SHUTTER WITH SCREWS #760600 (LEAF OPPOSITE THE SLAM LATCH)

AutoCAD SHX Text
MINIMUM USAGE GUIDELINES:

AutoCAD SHX Text
1.  RECOMMENDED BURN ROOM MAXIMUM SAFE TRAINING TEMPERATURE IS 1200 degrees F (600 degree F. IN

AutoCAD SHX Text
     SPOT BURN AREAS).

AutoCAD SHX Text
2.  CLEAR SIMULATOR OF ALL PERSONNEL AND UNLOCK ALL MEANS OF EGRESS BEFORE IGNITING FIRE.

AutoCAD SHX Text
3.  FIRE SHOULD NOT BE DIRECTLY POSITIONED ON METAL FLOOR OR PREMATURE DAMAGE WILL OCCUR.

AutoCAD SHX Text
4.  FIRE SHOULD ONLY BE PLACED IN DESIGNATED BURN/INSULATED AREAS.

AutoCAD SHX Text
5.  TEMPERATURE MONITORING DEVICE, FIRE CONDITIONS, AND TRAINEES SHALL BE CONSTANTLY

AutoCAD SHX Text
     MONITORED BY A TRAINING OR SAFETY OFFICER(S).

AutoCAD SHX Text
6.  THIS STRUCTURE TO BE USED IN STRICT CONFORMANCE WITH N.F.P.A. 1403.

AutoCAD SHX Text
F

AutoCAD SHX Text
IRE 

AutoCAD SHX Text
F

AutoCAD SHX Text
ACILITIES, INC.

AutoCAD SHX Text
350 Business Park Drive  Sun Prairie, WI 53590-9401

AutoCAD SHX Text
1-800-929-3726

AutoCAD SHX Text
Toll Free Fax  1-866-639-7012

AutoCAD SHX Text
608-327-4100

AutoCAD SHX Text
INSIDE CORNER TRIM #380430

AutoCAD SHX Text
@ INSIDE CORNER OF 

AutoCAD SHX Text
BUILDING NOTCH

AutoCAD SHX Text
NOTCH TRIM #384630

AutoCAD SHX Text
WALL PANELS

AutoCAD SHX Text
#366030

AutoCAD SHX Text
RAKE TRIM #380830

AutoCAD SHX Text
CONCRETE POUR STOP ANGLE #387630 (SEE RECESSED CORNER DETAIL ON PAGE 21)

AutoCAD SHX Text
CORNER TRIM #380330

AutoCAD SHX Text
COLUMN WRAP TRIM #376330 &  #376430 AROUND COLUMN AND FASTEN WITH POP RIVETS #762030 @ 6" O.C. (TRIM #376330 FITS INSIDE OF #376430) INSTALL BEFORE PLACING WALL PANELS 

AutoCAD SHX Text
TOP OF 6" CURB

AutoCAD SHX Text
2ND FLOOR

AutoCAD SHX Text
3RD FLOOR

AutoCAD SHX Text
ROOF

AutoCAD SHX Text
4TH FLOOR

AutoCAD SHX Text
FRAMED OPENING TRIMS #381150 TYP.

AutoCAD SHX Text
(3) 2'-8" X 7'-0" EXTERIOR  FIRE ESCAPE DOOR #103241

AutoCAD SHX Text
608-327-4100

AutoCAD SHX Text
Toll Free Fax  1-866-639-7012

AutoCAD SHX Text
1-800-929-3726

AutoCAD SHX Text
350 Business Park Drive  Sun Prairie, WI 53590-9401

AutoCAD SHX Text
ACILITIES, INC.

AutoCAD SHX Text
F

AutoCAD SHX Text
IRE 

AutoCAD SHX Text
F

AutoCAD SHX Text
6.  THIS STRUCTURE TO BE USED IN STRICT CONFORMANCE WITH N.F.P.A. 1403.

AutoCAD SHX Text
     MONITORED BY A TRAINING OR SAFETY OFFICER(S).

AutoCAD SHX Text
5.  TEMPERATURE MONITORING DEVICE, FIRE CONDITIONS, AND TRAINEES SHALL BE CONSTANTLY

AutoCAD SHX Text
4.  FIRE SHOULD ONLY BE PLACED IN DESIGNATED BURN/INSULATED AREAS.

AutoCAD SHX Text
3.  FIRE SHOULD NOT BE DIRECTLY POSITIONED ON METAL FLOOR OR PREMATURE DAMAGE WILL OCCUR.

AutoCAD SHX Text
2.  CLEAR SIMULATOR OF ALL PERSONNEL AND UNLOCK ALL MEANS OF EGRESS BEFORE IGNITING FIRE.

AutoCAD SHX Text
     SPOT BURN AREAS).

AutoCAD SHX Text
1.  RECOMMENDED BURN ROOM MAXIMUM SAFE TRAINING TEMPERATURE IS 1200 degrees F (600 degree F. IN

AutoCAD SHX Text
MINIMUM USAGE GUIDELINES:

AutoCAD SHX Text
608-327-4100

AutoCAD SHX Text
Toll Free Fax  1-866-639-7012

AutoCAD SHX Text
1-800-929-3726

AutoCAD SHX Text
350 Business Park Drive  Sun Prairie, WI 53590-9401

AutoCAD SHX Text
ACILITIES, INC.

AutoCAD SHX Text
F

AutoCAD SHX Text
IRE 

AutoCAD SHX Text
F

AutoCAD SHX Text
6.  THIS STRUCTURE TO BE USED IN STRICT CONFORMANCE WITH N.F.P.A. 1403.

AutoCAD SHX Text
     MONITORED BY A TRAINING OR SAFETY OFFICER(S).

AutoCAD SHX Text
5.  TEMPERATURE MONITORING DEVICE, FIRE CONDITIONS, AND TRAINEES SHALL BE CONSTANTLY

AutoCAD SHX Text
4.  FIRE SHOULD ONLY BE PLACED IN DESIGNATED BURN/INSULATED AREAS.

AutoCAD SHX Text
3.  FIRE SHOULD NOT BE DIRECTLY POSITIONED ON METAL FLOOR OR PREMATURE DAMAGE WILL OCCUR.

AutoCAD SHX Text
2.  CLEAR SIMULATOR OF ALL PERSONNEL AND UNLOCK ALL MEANS OF EGRESS BEFORE IGNITING FIRE.

AutoCAD SHX Text
     SPOT BURN AREAS).

AutoCAD SHX Text
1.  RECOMMENDED BURN ROOM MAXIMUM SAFE TRAINING TEMPERATURE IS 1200 degrees F (600 degree F. IN

AutoCAD SHX Text
MINIMUM USAGE GUIDELINES:

AutoCAD SHX Text
608-327-4100

AutoCAD SHX Text
Toll Free Fax  1-866-639-7012

AutoCAD SHX Text
1-800-929-3726

AutoCAD SHX Text
350 Business Park Drive  Sun Prairie, WI 53590-9401

AutoCAD SHX Text
ACILITIES, INC.

AutoCAD SHX Text
F

AutoCAD SHX Text
IRE 

AutoCAD SHX Text
F

AutoCAD SHX Text
6.  THIS STRUCTURE TO BE USED IN STRICT CONFORMANCE WITH N.F.P.A. 1403.

AutoCAD SHX Text
     MONITORED BY A TRAINING OR SAFETY OFFICER(S).

AutoCAD SHX Text
5.  TEMPERATURE MONITORING DEVICE, FIRE CONDITIONS, AND TRAINEES SHALL BE CONSTANTLY

AutoCAD SHX Text
4.  FIRE SHOULD ONLY BE PLACED IN DESIGNATED BURN/INSULATED AREAS.

AutoCAD SHX Text
3.  FIRE SHOULD NOT BE DIRECTLY POSITIONED ON METAL FLOOR OR PREMATURE DAMAGE WILL OCCUR.

AutoCAD SHX Text
2.  CLEAR SIMULATOR OF ALL PERSONNEL AND UNLOCK ALL MEANS OF EGRESS BEFORE IGNITING FIRE.

AutoCAD SHX Text
     SPOT BURN AREAS).

AutoCAD SHX Text
1.  RECOMMENDED BURN ROOM MAXIMUM SAFE TRAINING TEMPERATURE IS 1200 degrees F (600 degree F. IN

AutoCAD SHX Text
MINIMUM USAGE GUIDELINES:

AutoCAD SHX Text
ROOF

AutoCAD SHX Text
4TH FLOOR

AutoCAD SHX Text
3RD FLOOR

AutoCAD SHX Text
2ND FLOOR

AutoCAD SHX Text
TOP OF 6" CURB

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
03 of 25

AutoCAD SHX Text
PARAPET RAKE TRIM #388630

AutoCAD SHX Text
PARAPET RAKE TRIM #388630

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


_~——MITER TOP CORNERS OF THE REVISIONS by

40'=0”

FRAMED OPENING TRIM o MITER TOP CORNERS OF THE
N\ J #381140 P FRAMED OPENING TRIM
) A #381140
/ \ FRAMED OPENING SILL & HEAD CHANNELS % T
| SN FRAMED OPENING SILL & HEAD CHANNELS / AN .
jl FRAMED OPENING SHUTTER DOOR | \ 7 MITER TOP CORNERS OF THE % 3sq &
STOP #381830 AROUND ENTIRE '\\ FRAMED OPENING TRIM > :g"'\’l w
o] OPENING FASTEN WITH #12 x 1—1/4” “ ; DOOR STOP ANGLE #381000 #381140 s 258 «
—————————————— : L SCREWS #104170 FASTEN TO JAMBS, SILL & HEADER \ 5 £33 §
g > | . WITH #12 x 3/4” SCREWS #760600
N g2 5
FRAMED OPENING TRIM #381140 AND T FRAMED OPENING TRIM #381140 AND j
FASTEN WITH POP RIVETS #/62011 @ | FASTEN WITH POP RIVETS #762011 @ / FRAMED OPENING HEAD CHANNELS
187 ON CENTER EACH FLANGE OF TRIM 2 5/8" TYP. | 18” ON CENTER EACH FLANGE OF TRIM /
T SECTION THRU HEAD =
] T \ N WALL PANEL -] \ TN\CWALL PANEL
VITER ALL CORNERS ———' "~ FRAMED OPENING STUD : L L™ FRAMED OPENING STUD FRAMED OPENING TRIM #381140 AND
OF THE FRAMED SECTION THRU JAMB d SECTION THRU JAMB FASTEN WITH POP RIVETS #/62011 @
OPENING SKUTTER 18” ON CENTER EACH FLANGE OF TRIM
DOOR STOP #381830 i K — -
FRAMED OPENING SILL TRIM/CHAFE RAIL I——| FRAMED OPENING SILL TRIM/CHAFE RAIL 1
SECTION THRU HEAD \
INSTALL END CA (3040 SHUTTER) #381630 INSTALL END CA (3040 SHUTTER) #381630 L WALL PANEL ~
#380250 AND FASTEN ﬁ 6040 SHUTTER) #382630 #580230 AND FASTEN ﬁ —- W 2
WITH POP RIVETS ( ) # WITH POP RIVETS PRAMED OPENING STUD @ =
#/62030 L T AL PANEL #/62030 T AL PANEL 2 =
SECTION THRU SILL SECTION THRU SILL SECTION THRU JAMB i L2 i
o P o
% 3 T o
STANDARD SHUTTER TRIM DETAILS BURN ROOM SHUTTER TRIM DETAILS TOWER SWING DOOR TRIM DETAILS s 232
£ . =
scale: 1 1/2” = 1'=0” SCALE: 1 1/2” = 1'=0" fdy gz
n . < 8
348" % = E E §
= - 4 5 3 8 ¢
12755,
B 12'=0” L 22'-8" _ % % % 53 & %
L 20-0" N S 8 z 5 'é %
= -z &8
—— PARAPET RAKE ‘ o 2 . <32
/ TRIM #388630 o = & -
T ITE S
:| 7 F o m O < =
CORNER TRIMS NOTES:
Q L] £380330 1. WALL PANEL MUST BE FIELD CUT AROUND
ROOF | TRANSITION TRIM FRAMED OPENINGS (Jp) < o
i | ~ #8710 2. TRIMS ARE IN STANDARD 10’ LENGTHS LL] R
SOME FIELD CUTTING OF TRIMS IS REQUIRED — m%lz
~~——— PARAPET OPENING TRIM J— © 33
4387430 { — S §38
END WALL PANELS 0+ SF
o ] #366030 TYP. — 2 - %35
i} ~_ CORNER TRIMS IMPORTANT NOTE: ; — = =% .0
= #380330 ALIGN THE TOP OF THE PIPE WITH PROJECTED QO= i STl
Z ROOF LINE SO THAT LADDER HOOK WILL ENGAGE, < ;':: E%Vmi
T — PANELS] ALLOWING THE LADDER TO LIE COMPLETELY FLAT — | sE¥xEe
ON THE ROOF PANELS FOR TRAINING. LL. . | =58
. 3" x 3" x 3—0" FENDER o 253 E;_
| AT APPROK. 607 0.0, LLI - | £g7¢e3
ROOF CURB #390304 . W N8y
e /7 RAKE TRIM #8080 T LADDER PIPE #399170 m— " %EiﬁlE
11 CORNER TRIM #381430 &
EAVE TRIM #381530 TAPE CAULK #760703 BETWEEN TRIMS ATTACH TO ANGLED ROOF — Do 3
. / % CAULK 760500 TO CREATE SEAL WITH ANGLES #340250 m » =Sk
S / (SEE DETAIL ON PAGE 03) G B
= (e AL , PARAPET RAKE TRIM #388630 %8 L;L
7 RAKE TRIM #380830 T E
4 CORNER TRIMS #380330 ©=
// — s
20 jee A PARAPET OPENING TRIM #387430 o
FLOOR | 1 u — TRANSITION TRIM #387130 TRANSITION TRIM #387130
| | CORNER TRIMS ———=t ® ) ) INSTALL 4” MINI LOUVER
4380330 TYP. 4392025 5’ 0.C.
‘\\x ’/ <
= FRAMED OPENING TRIMS FRAMED OPENING TRIMS £ |
= L #381140 TYP. #381140 TYP. L
= , Lo
- FRAMED OPENING SILL TRIM FRAMED OPENING SILL TRIM #381630 = /
i 4381630 TYP. t—— END WALL PANELS ——— —
RESIDENCE SIDE WALL PANELS 4366030_TYP / , 18 GA. ROOF PANEL #351310 L
OND 4366430 ,7 RAKE TRIM #380830 7 7 / ) ]
7 O0R | RAKE TRIM #380830 RAKE TRIM #380830 o o
| ® o s -
/\ q\ TS~ INSTALL END CAP #380230 E
SHOWN " ON THIS PAGE FASTEN. INSTALL 4" MINI LOUVER EAVE TRIM #384230 g O == Z
WITH POP RIVETS 4762030 #392025 @ 5 0.C. MAX AT BURN ROOM S 8 o = 2
5 S e : O L S
] = — NSTALL 47 N LOUVER i = usrce sov poosor IS g D00 |
o #392025 @ 5 0.C. MAX - i EXTERIOR ENTRANCE 3 0
TOP OF 6" CURB / DOORS)
O ZBURN ROOM SIDEWALL a vate DECEMBER 10, 2021
ToP OF PANELS #364330 TOP OF FINISH FLOOR[{—— 7 Drowr B
6” CURB i N N a ' WDM
| | . N | | o / Checked by:
SILL PANEL #380130 SILL PANEL #380130 FFI SIGN #300002 — SPW
L — "IRE DEPT. CONNECTION e AROUND ENTIRE PERIMETER J AROUND ENTIRE PERIMETER (FIELD LOCATE) Scale:

| | SHOWN

Order No.
raer VO t1e_796 / #244368

EAST SIDE ELEVATION NORTH END ELEVATION Sheet e

SCALE: 1/4" = 1'=0" SCALE: 1/4”" = 1’-0" 04 Of 25



AutoCAD SHX Text
EAST SIDE ELEVATION

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
NORTH END ELEVATION

AutoCAD SHX Text
SCALE:  1/4" = 1'-0"

AutoCAD SHX Text
     SOME FIELD CUTTING OF TRIMS IS REQUIRED

AutoCAD SHX Text
1.   WALL PANEL MUST BE FIELD CUT AROUND

AutoCAD SHX Text
2.   TRIMS ARE IN STANDARD 10' LENGTHS

AutoCAD SHX Text
     FRAMED OPENINGS

AutoCAD SHX Text
NOTES:

AutoCAD SHX Text
ELEVATIONS

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
RAKE TRIM #380830

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
BURN ROOM SHUTTER TRIM DETAILS

AutoCAD SHX Text
SCALE:  1 1/2" = 1'-0"

AutoCAD SHX Text
SECTION THRU SILL

AutoCAD SHX Text
SECTION THRU JAMB

AutoCAD SHX Text
FRAMED OPENING STUD

AutoCAD SHX Text
FRAMED OPENING SILL & HEAD CHANNELS

AutoCAD SHX Text
SECTION THRU HEAD

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
PARAPET RAKE TRIM #388630

AutoCAD SHX Text
TRANSITION TRIM #387130

AutoCAD SHX Text
PARAPET OPENING TRIM #387430

AutoCAD SHX Text
CORNER TRIMS #380330

AutoCAD SHX Text
FRAMED OPENING SILL TRIM #381630 TYP.

AutoCAD SHX Text
FRAMED OPENING TRIMS #381140 TYP.

AutoCAD SHX Text
SECTION THRU JAMB

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
STANDARD SHUTTER TRIM DETAILS

AutoCAD SHX Text
SECTION THRU SILL

AutoCAD SHX Text
FRAMED OPENING SILL & HEAD CHANNELS

AutoCAD SHX Text
SECTION THRU HEAD

AutoCAD SHX Text
FRAMED OPENING STUD

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
STEP TRIM #381330

AutoCAD SHX Text
MINIMUM USAGE GUIDELINES:

AutoCAD SHX Text
1.  RECOMMENDED BURN ROOM MAXIMUM SAFE TRAINING TEMPERATURE IS 1200 degrees F (600 degree F. IN

AutoCAD SHX Text
     SPOT BURN AREAS).

AutoCAD SHX Text
2.  CLEAR SIMULATOR OF ALL PERSONNEL AND UNLOCK ALL MEANS OF EGRESS BEFORE IGNITING FIRE.

AutoCAD SHX Text
3.  FIRE SHOULD NOT BE DIRECTLY POSITIONED ON METAL FLOOR OR PREMATURE DAMAGE WILL OCCUR.

AutoCAD SHX Text
4.  FIRE SHOULD ONLY BE PLACED IN DESIGNATED BURN/INSULATED AREAS.

AutoCAD SHX Text
5.  TEMPERATURE MONITORING DEVICE, FIRE CONDITIONS, AND TRAINEES SHALL BE CONSTANTLY

AutoCAD SHX Text
     MONITORED BY A TRAINING OR SAFETY OFFICER(S).

AutoCAD SHX Text
6.  THIS STRUCTURE TO BE USED IN STRICT CONFORMANCE WITH N.F.P.A. 1403.

AutoCAD SHX Text
F

AutoCAD SHX Text
IRE 

AutoCAD SHX Text
F

AutoCAD SHX Text
ACILITIES, INC.

AutoCAD SHX Text
350 Business Park Drive  Sun Prairie, WI 53590-9401

AutoCAD SHX Text
1-800-929-3726

AutoCAD SHX Text
Toll Free Fax  1-866-639-7012

AutoCAD SHX Text
608-327-4100

AutoCAD SHX Text
Fire Training Building

AutoCAD SHX Text
FIRE FACILITIES, INC.

AutoCAD SHX Text
TM

AutoCAD SHX Text
F

AutoCAD SHX Text
IRE 

AutoCAD SHX Text
F

AutoCAD SHX Text
ACILITIES, INC.

AutoCAD SHX Text
Toll Free Fax  1-866-639-7012

AutoCAD SHX Text
1-800-929-3726

AutoCAD SHX Text
608-327-4100

AutoCAD SHX Text
314 Wilburn Road  Sun Prairie, WI 53590-9401

AutoCAD SHX Text
(FIELD LOCATE @ ALL ALL EXTERIOR ENTRANCE DOORS)

AutoCAD SHX Text
USAGE SIGN #300001

AutoCAD SHX Text
EAVE TRIM #384230 AT BURN ROOM

AutoCAD SHX Text
SILL PANEL #380130  AROUND ENTIRE PERIMETER

AutoCAD SHX Text
INSTALL 4" MINI LOUVER   #392025 @ 5' O.C. MAX

AutoCAD SHX Text
TOP OF 6" CURB

AutoCAD SHX Text
TOP OF FINISH FLOOR

AutoCAD SHX Text
RAKE TRIM #380830

AutoCAD SHX Text
18 GA. ROOF PANEL #351310

AutoCAD SHX Text
ROOF CURB #390304

AutoCAD SHX Text
RAKE TRIM #380830

AutoCAD SHX Text
SECTION THRU JAMB

AutoCAD SHX Text
FRAMED OPENING STUD

AutoCAD SHX Text
TOWER SWING DOOR TRIM DETAILS

AutoCAD SHX Text
SECTION THRU HEAD

AutoCAD SHX Text
FRAMED OPENING HEAD CHANNELS

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
3" x 3" x 3'-0" FENDER BRACKET #380017 SPACED AT APPROX. 6'-0" O.C.

AutoCAD SHX Text
MITER ALL CORNERS OF THE FRAMED OPENING SHUTTER DOOR STOP #381830 

AutoCAD SHX Text
MITER TOP CORNERS OF THE FRAMED OPENING TRIM #381140

AutoCAD SHX Text
MITER TOP CORNERS OF THE FRAMED OPENING TRIM #381140

AutoCAD SHX Text
MITER TOP CORNERS OF THE FRAMED OPENING TRIM #381140

AutoCAD SHX Text
FFI SIGN #300002 (FIELD LOCATE)

AutoCAD SHX Text
INSTALL END CAP #380230 ONLY  AT LIGHT CIRCLED AREAS SHOWN  ON THIS PAGE FASTEN WITH POP  RIVETS #762030

AutoCAD SHX Text
INSTALL 4" MINI LOUVER    #392025 @ 5' O.C. MAX

AutoCAD SHX Text
BURN ROOM SIDEWALL PANELS  #364330

AutoCAD SHX Text
RESIDENCE SIDE WALL PANELS #366430

AutoCAD SHX Text
CORNER TRIMS #380330

AutoCAD SHX Text
TOWER SIDE WALL PANELS #366230

AutoCAD SHX Text
INSTALL END CAP #380230 AND FASTEN WITH POP RIVETS #762030

AutoCAD SHX Text
FRAMED OPENING SILL TRIM/CHAFE RAIL (3040 SHUTTER) #381630 (6040 SHUTTER) #382630

AutoCAD SHX Text
FRAMED OPENING TRIM #381140 AND FASTEN WITH POP RIVETS #762011 @ 18" ON CENTER EACH FLANGE OF TRIM

AutoCAD SHX Text
FRAMED OPENING SHUTTER DOOR STOP #381830 AROUND ENTIRE OPENING FASTEN WITH #12 x 1-1/4"  SCREWS #104170

AutoCAD SHX Text
DOOR STOP ANGLE #381000 FASTEN TO JAMBS, SILL & HEADER WITH #12 x 3/4" SCREWS #760600

AutoCAD SHX Text
FRAMED OPENING TRIM #381140 AND FASTEN WITH POP RIVETS #762011 @ 18" ON CENTER EACH FLANGE OF TRIM

AutoCAD SHX Text
FRAMED OPENING SILL TRIM/CHAFE RAIL (3040 SHUTTER) #381630

AutoCAD SHX Text
INSTALL END CAP #380230 AND FASTEN WITH POP RIVETS #762030

AutoCAD SHX Text
FRAMED OPENING TRIM #381140 AND FASTEN WITH POP RIVETS #762011 @ 18" ON CENTER EACH FLANGE OF TRIM

AutoCAD SHX Text
RAKE TRIM #380830

AutoCAD SHX Text
EAVE TRIM #381530

AutoCAD SHX Text
PARAPET RAKE TRIM #388630

AutoCAD SHX Text
PARAPET OPENING TRIM #387430

AutoCAD SHX Text
CORNER TRIMS #380330

AutoCAD SHX Text
TRANSITION TRIM #387130

AutoCAD SHX Text
CORNER TRIM #381430   TAPE CAULK #760703 BETWEEN TRIMS & CAULK 760800 TO CREATE SEAL

AutoCAD SHX Text
LADDER PIPE #399170 ATTACH TO ANGLED ROOF WITH ANGLES #340250 (SEE DETAIL ON PAGE 03)

AutoCAD SHX Text
CORNER TRIMS #380330 TYP.

AutoCAD SHX Text
FIRE DEPT. CONNECTION

AutoCAD SHX Text
FRAMED OPENING SILL TRIM #381630

AutoCAD SHX Text
INSTALL 4" MINI LOUVER  #392025 5' O.C.

AutoCAD SHX Text
MINIMUM USAGE GUIDELINES:

AutoCAD SHX Text
1.  RECOMMENDED BURN ROOM MAXIMUM SAFE TRAINING TEMPERATURE IS 1200 degrees F (600 degree F. IN

AutoCAD SHX Text
     SPOT BURN AREAS).

AutoCAD SHX Text
2.  CLEAR SIMULATOR OF ALL PERSONNEL AND UNLOCK ALL MEANS OF EGRESS BEFORE IGNITING FIRE.

AutoCAD SHX Text
3.  FIRE SHOULD NOT BE DIRECTLY POSITIONED ON METAL FLOOR OR PREMATURE DAMAGE WILL OCCUR.

AutoCAD SHX Text
4.  FIRE SHOULD ONLY BE PLACED IN DESIGNATED BURN/INSULATED AREAS.

AutoCAD SHX Text
5.  TEMPERATURE MONITORING DEVICE, FIRE CONDITIONS, AND TRAINEES SHALL BE CONSTANTLY

AutoCAD SHX Text
     MONITORED BY A TRAINING OR SAFETY OFFICER(S).

AutoCAD SHX Text
6.  THIS STRUCTURE TO BE USED IN STRICT CONFORMANCE WITH N.F.P.A. 1403.

AutoCAD SHX Text
F

AutoCAD SHX Text
IRE 

AutoCAD SHX Text
F

AutoCAD SHX Text
ACILITIES, INC.

AutoCAD SHX Text
350 Business Park Drive  Sun Prairie, WI 53590-9401

AutoCAD SHX Text
1-800-929-3726

AutoCAD SHX Text
Toll Free Fax  1-866-639-7012

AutoCAD SHX Text
608-327-4100

AutoCAD SHX Text
ROOF

AutoCAD SHX Text
TOP OF 6" CURB

AutoCAD SHX Text
2ND FLOOR

AutoCAD SHX Text
3RD FLOOR

AutoCAD SHX Text
4TH FLOOR

AutoCAD SHX Text
FRAMED OPENING TRIMS #381140 TYP.

AutoCAD SHX Text
SILL PANEL #380130  AROUND ENTIRE PERIMETER

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
04 of 25

AutoCAD SHX Text
END WALL PANELS #366030 TYP.

AutoCAD SHX Text
END WALL PANELS #366030 TYP.

AutoCAD SHX Text
RAKE TRIM #380830

AutoCAD SHX Text
TRANSITION TRIM #387130

AutoCAD SHX Text
IMPORTANT NOTE:

AutoCAD SHX Text
ALIGN THE TOP OF THE PIPE WITH PROJECTED ROOF LINE SO THAT LADDER HOOK WILL ENGAGE, ALLOWING THE LADDER TO LIE COMPLETELY FLAT ON THE ROOF PANELS FOR TRAINING.

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by
T COLUMN REACTIONS NOTE:
__X — — - - —
e 1. ALL COLUMNS, FIRE ESCAPE PADS AND STUD WALLS ARE SET AT TOP OF CURB .
v HORIZONTAL VERTICAL VERTICAL (FINISHED FLOOR IS 6” BELOW TOP OF CURB). I
COLUMN (ANY DIRECTION) (DOWNWARD) (UPLIFT) EXCLUDES ANY AND ALL PREPARATIONS i 3sg B
2. ALL PADS OUTSIDE OF EXTERIOR DOORS SHOULD BE SET AT INVOLVED IN PROVIDING SUITABLE CONCRETE < gfg "
A—1, A=2 15 KIPS 91 KIPS 63 KIPS FINISHED FLOOR (IF APPLICABLE). s =1 g
51 B2 5 KPS o1 KIPS S KIPS PADS AND/OR FOUNDATIONS
A-3, B-3 5 KIPS 66 KIPS 6 KIPS 3. ALL DOOR OPENINGS THAT ARE DIMENSIONED SHOULD BE HELD EXACT s§ 3
A—4, B—4 2 KIPS 29 KIPS 3 KIPS (DOOR LOCATIONS NOT DIMENSIONED CAN BE FIELD LOCATED). ALSO EXCLUDES ANY ANCHORS REQUIRED —
DESIGN REACTIONS SHOWN: 1. PER FBC 2020 AND LRFD LOAD COMBINATIONS
5 WIND ORITERIA: 128 MoH. EXp o RISK CAT | 10 SECURE THE BUILDING TO THE FOUNDATION.
3. SEISMIC CRITERIA: SDC A; SITE CLASS D
/) A
) 5
'-'J o
/ / 57'=8 3/4”7 OUT-TO—OUT OF CONCRETE % >
<<
North arrow for reference only — an 2 =
coordinate actual orientation on site ; % © &
9'-0 3/4” 8” 10'-8" 11'-4 1'-4” 14'-8" . B 3 4
v 5 = ® 2
0 . t gy 8-
ol |1'=4" 6'-3 3/4 1'-5" 3-8" | 3—4" | 3-8” 4’0" | 3—4" | 4’0" w . < 8
s | g £ ¢ 23
= = T | E 5 % o 8
© T T T © T | | : 2223 s
’ 2l B B - el B B B IS CEE B - a ol | | i - S R g
: X L B Z 38 a3
N o =
v H S Yy > ™ o &
— . = o = L
0 ~—— LIGHT DASHED LINES ARE NON ] S = -3¢ d
N LOAD BEARING STUD WALLS | | - S & sy =E
2 || “ S+ I 2 =
¥ N B EaE s S % =
1~ i ] ]
|
e | | |
N N | - o
| | : LL] o N
2 I
% 2 K78 PR S T0oT - i ' —=
Q _ B ; | | | oF O
S5 AREA ONLY 7 X | — 2By
% | i | —d 2] 58385
SR v & o L - SLOPE FLOORS FOR . | | P = %2
T & ] | WATER DRAINAGE ] BN | O= sy guu
Nl | = O o | Q | o= T
3 03 2 | S i | <L | 2z -
~a X
< - | i 1.25 KIP PER FOOT AT j LL. | f2&5¢
~ : ] LOAD BEARING STUD WALLS | - 5390%
2 | - O — ~
| © s LL] I5¥03
N | L o o)
LEVEL STAR PAD | . | | N Ry
) }) ) }) | 0 | | m o MW
15'—6" X 8'-5 . N | — ol Fz_2E
SET AT FINISHED FLOOR | . | L -1 38
. | : | by | » gvgﬁ
N | o | - R
. — 2 | MG
- | o) | L=
“ | 2'—5 3/4” 6'—4 1/2" 25 3/4” olo ] | =
fre | — | -
| | | | | =
o~ | 81 TYP. |8 TP, i : =
3 | 1 | 2 |
%r r — | T T T | ! |
@7 - \ o o] B N B i el B B a A EERE B B = old | o |
= I - 1 |
2 2 T ” ' ” d_
o] EXTERIOR STAIR PADA R S 3/4\\ ! 271 3/4 |
SET AT TOP OF CURB o 5 EXTRA 3'—2 3/4” OF DEADLEAF L
CURB IS RECOMMENDED FOR L
1y g g DOUBLE DOOR SUPPORT
ANCHOR BOLT PLAN 0
L
0 _ =
SCALE: 3/8" = 1'=0" ®) L <5
» » 31/4” 31/4" - Q-
2 3/4 2 3/4 / / ” ” » \/\ 2 ; |:
) ) ) ) ) 9" x 11 X 1/2 PLATE WALL STUDS . o = % 8
1”7 OR 3/4” DIA. ANCHORS N 9" x 117 x 1=1/4" PLATE : 4" x 2” 20 GA. "CEE” S O O ”
> > g 0N =w 8O
- o~ | | N e STUD WALL TRACK #330000 4” x 2" 20 GA. g L g & =35
| v =
= ® | @1—(4) 1" DIA Fi554 (GRADE 36) @ (4) 3/47 DIA. F1554 (GRADE 36) 2 e e e s Jg =2 © [EE
S 1 L _ ANCHOR BOLTS TYP. o _ G| — 2
1 - ANCHORBOLTS TvP. B - : SHEAR VALUE OF 1 KIP) AND POWDER ACTUATED  [Date
! e © © : o ot S LSS
TR N | | . COLUMN CENTER LINES N — COLUMN CENTER LINES “OR 105 L<B MINIMUM SHEAR VALUE) o
NOTE: EMBEDMENT DEPTH > ’// N » 2,,4‘1/2,, Checked by: o
. & DETERMINED BY ENGINEER ~| /2R /2 ~ /21 1/
- DESIGNING THE FOUNDATION 9" 9" Scale: SHOWN
> AN
NOTE: SEE ANCHOR BOLT PLAN FOR COLUMN ORIENTATION NOTE: SEE ANCHOR BOLT PLAN FOR COLUMN ORIENTATION N FOUNDATION > Order Ne. FTE—796 / #244368
AND CENTER LINE LOCATIONS (A1,A2,B1, & B2). AND CENTER LINE LOCATIONS (A3,A4,B3, & B4). J Sheet No.
ANCHOR BOLT PROJECTION DETAIL TOWER COLUMN ANCHOR BOLT DETAIL RESIDENCE COLUMN ANCHOR BOLT DETAIL TYPICAL STUD WALL BASE DETAIL 05 of 25

scale: 1 1/2" = 1'=-0" scale: 1 1/2” = 1'=0" scale: 1 1/2" = 1'=0"



AutoCAD SHX Text
B

AutoCAD SHX Text
ANCHOR BOLT PLAN

AutoCAD SHX Text
A

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
ANCHOR BOLT PLAN

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
29 KIPS

AutoCAD SHX Text
66 KIPS

AutoCAD SHX Text
91 KIPS

AutoCAD SHX Text
91 KIPS

AutoCAD SHX Text
%%UCOLUMN REACTIONS

AutoCAD SHX Text
(ANY DIRECTION)

AutoCAD SHX Text
2 KIPS

AutoCAD SHX Text
5 KIPS

AutoCAD SHX Text
8 KIPS

AutoCAD SHX Text
15 KIPS

AutoCAD SHX Text
HORIZONTAL

AutoCAD SHX Text
A-1, A-2

AutoCAD SHX Text
A-4, B-4

AutoCAD SHX Text
A-3, B-3

AutoCAD SHX Text
B-1, B-2

AutoCAD SHX Text
COLUMN

AutoCAD SHX Text
3 KIPS

AutoCAD SHX Text
6 KIPS

AutoCAD SHX Text
7 KIPS

AutoCAD SHX Text
63 KIPS

AutoCAD SHX Text
FOUNDATION

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
9" x 11" x 1/2" PLATE

AutoCAD SHX Text
%%URESIDENCE COLUMN ANCHOR BOLT DETAIL

AutoCAD SHX Text
COLUMN CENTER LINES

AutoCAD SHX Text
SLOPE FLOORS FOR WATER DRAINAGE

AutoCAD SHX Text
WALL STUDS  4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
1" OR 3/4" DIA. ANCHORS

AutoCAD SHX Text
%%UANCHOR BOLT PROJECTION DETAIL

AutoCAD SHX Text
SCALE:  3/8" = 1'-0"

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
%%UTYPICAL STUD WALL BASE DETAIL

AutoCAD SHX Text
NOTE:  SEE ANCHOR BOLT PLAN FOR COLUMN ORIENTATION AND CENTER LINE LOCATIONS (A3,A4,B3, & B4).

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
1.25 KIP PER FOOT AT LOAD BEARING STUD WALLS

AutoCAD SHX Text
LIGHT DASHED LINES ARE NON LOAD BEARING STUD WALLS

AutoCAD SHX Text
NOTE: EXCLUDES ANY AND ALL PREPARATIONS INVOLVED IN PROVIDING SUITABLE CONCRETE PADS AND/OR FOUNDATIONS    ALSO EXCLUDES ANY ANCHORS REQUIRED TO SECURE THE BUILDING TO THE FOUNDATION.

AutoCAD SHX Text
(FINISHED FLOOR IS 6" BELOW TOP OF CURB).

AutoCAD SHX Text
ALL COLUMNS, FIRE ESCAPE PADS AND STUD WALLS ARE SET AT TOP OF CURB 

AutoCAD SHX Text
ALL PADS OUTSIDE OF EXTERIOR DOORS SHOULD BE SET AT 

AutoCAD SHX Text
(DOOR LOCATIONS NOT DIMENSIONED CAN BE FIELD LOCATED).

AutoCAD SHX Text
ALL DOOR OPENINGS THAT ARE DIMENSIONED SHOULD BE HELD EXACT 

AutoCAD SHX Text
FINISHED FLOOR (IF APPLICABLE).

AutoCAD SHX Text
3.

AutoCAD SHX Text
2.

AutoCAD SHX Text
1.

AutoCAD SHX Text
STUD WALL TRACK #330000 4" x 2" 20 GA. CHANNEL. FASTEN TO FLOOR WITH EXPANSION ANCHORS AT 4'-0" O.C. (RATED FOR A MINIMUM SHEAR VALUE OF 1 KIP) AND POWDER ACTUATED FASTENERS AT MID POINT BETWEEN EXPANSION ANCHORS (POWDER ACTUATED FASTENERS RATED FOR 105 LB MINIMUM SHEAR VALUE)

AutoCAD SHX Text
NOTE:  EMBEDMENT DEPTH DETERMINED BY ENGINEER DESIGNING THE FOUNDATION

AutoCAD SHX Text
VERTICAL (DOWNWARD)

AutoCAD SHX Text
VERTICAL (UPLIFT)

AutoCAD SHX Text
DESIGN REACTIONS SHOWN: 1.  PER FBC 2020 AND LRFD LOAD COMBINATIONS 1.  PER FBC 2020 AND LRFD LOAD COMBINATIONS 2.  WIND CRITERIA: 128 MPH, EXP C; RISK CAT. I 3.  SEISMIC CRITERIA:  SDC A; SITE CLASS D

AutoCAD SHX Text
(4) 3/4" DIA. F1554 (GRADE 36) ANCHOR BOLTS TYP.

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
EXTRA 3'-2 3/4" OF DEADLEAF CURB IS RECOMMENDED FOR DOUBLE DOOR SUPPORT

AutoCAD SHX Text
X

AutoCAD SHX Text
Y

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
%%UTOWER COLUMN ANCHOR BOLT DETAIL

AutoCAD SHX Text
9" x 11" x 1-1/4" PLATE

AutoCAD SHX Text
COLUMN CENTER LINES

AutoCAD SHX Text
NOTE:  SEE ANCHOR BOLT PLAN FOR COLUMN ORIENTATION AND CENTER LINE LOCATIONS (A1,A2,B1, & B2).

AutoCAD SHX Text
(4) 1" DIA. F1554 (GRADE 36) ANCHOR BOLTS TYP.

AutoCAD SHX Text
LEVEL STAIR PAD 15'-6" X 8'-5" SET AT FINISHED FLOOR

AutoCAD SHX Text
2 KIPS PER SQUARE FOOT  THIS 3'-11" X 8'-5" AREA ONLY

AutoCAD SHX Text
EXTERIOR STAIR PAD SET AT TOP OF CURB

AutoCAD SHX Text
2 KIPS PER FOOT  AT LOCATIONS SHOWN

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
05 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by

Sun Prairie, WI 53590

800-929-3726

Florida Licence # PE 56328

°
(=}
o

(2
[=
S
3

2

=

<

h

)
(2]
(2]
o
fud

o

°

<

34'-8 34 -8
8 10 -8 11 -4 11 —4 3 8" 10-8 11 -4 11 -4 8
N N\
W W o S W W o S
N N O ) N N O )
T LAY L S D o T A Y EN oY o
0 9 2 0
X X2\, 570 X X? 70
P & & 0 & W & O
o - W8 x 10 BEAM} = W8 x 10 BEAM __ — W8 x 10 BEAM }_ W 0 - W8 x 10 BEAMY =~ W8 x 10 BEAMY = =+~ W8 x 10 BEAM} _ W%
#315125 #315123 #315123 #315125 #3515125 #3515125
. =
;I‘_ | | | | «J‘_ | | | |
W8 x 15 GEAM 4 | w8 x 13 BEAM
| #315129 | | | | #315129 | | -
= o
| | | | | | | | @ §
= = = = = = = = 5 2
S Ho H = & i S o 3= oS = T
K N N N s EJ N 0§ — o g o
o 0 o | <= NS o 0 ol = iy | <= ¥+ 10 %) 3 - °
J 3 o e %5 50 o9 RO 35 55 53 s #1w
Al Al A A T AN A AN r J W 3z
= =< =< =< < = = = = & ©
25 E x B
[ [ [ [ [ [ [ [ < = L 2
W= W= W N = o 5 ga8¢
‘7 | W8 x 15 BEAM & | & | & . . W8 x 13 BEAM | W . "N . N 2 E T
- - - - ~ - N - - - - [an] Ll N~ 9
” 4 \,\/5 #315129 @Q ’56 /50% “ o ,\,\/5 #315129 @O ’50 /56% z & é N 2
5 , e , X ,\\Ix . ) \\0 | ) o0 © | ) | X \,\[x I e \\Q ! e o2 S 5 = ® 5 =
) +h + .9 + .9 + .9 N +uH + .9 + .9 + .9 = 9 = W
~ 0k O N Q /N 0 A + o % 0 A S Q N = - 5 7 &
\&'\ \g’\ ;}gD \$’\ D ®\ ;}{;5 \g’\ *(\ ;}{;5 @\ 5 \g’\ ;}QD < ~ @m >
W8 x 10 BEAM W8 x 10 BEAM W8 x 10 BEAM W8 x 10 BEAM W8 x 10 BEAM W x 10 BEAM 5 & = = ﬁ
e 5157 27 R S 1 153 575 S R £ 1Y 57 S B P 5117027 A S Y75 A s oY 2% A B 0 & < B o E
- - - . = F o m» o < =
SECOND FLOOR STRUCTURAL FRAMING PLAN THIRD FLOOR/ATTIC STRUCTURAL FRAMING PLAN L =
LLl - ~
SCALE: 1/4"=1"-0" SCALE: 1/4°=1'-0" E— % - %g
(€0
I__ — 3 §@8
0 ou
= _ w2
T = .. O
—~ X <C
CQO=] .8:iE
< é 2%85%
x < X ®
— w0 o < LI_O
I-l— LLI E% = Z
12'-0 12'-0 o 338P%
.@ Ll | £g7¢5
8 108 8 8 10'—8 8 WORT2
e . N . 0C 5| 2878
o O N N Ve D LL. | =:22
SN a o G AN ¢ v e B
SN 5 N v X2 ) < YO~
R I o "
% + o O ST CEZ
W O A N g
S — ___ W8 x 10 BEAM| _ W % ] T T % -~ W8 x 10 BEAM| _ / / 3
#315125 | | #315159 B =
. North arrow for reference only
< Qe coordinate actual orientation on site
o | | - EI 5 | |
@7 W8 x 13 BEAM S| Y ?ﬁ@ .
! #315129 ! ><|§ 0@'5 ' ' <
o|D R Q W8 _x 10 BEAM |
= S S N - o X U DL/
i i S X @* <:> i 43157159 i L
= = < P = = NOTE: TEMPORARY SUPPORT OF THIS STRUCTURAL L =
N ! O 4 o N FRAME IS REQUIRED AND IS THE SOLE =
) @ © QI ) | | N ) s BN RESPONSIBILITY OF THE ERECTOR. THIS TEMPORARY — Q-
o % o 2 S =) | & N2 o 5 ol S SUPPORT SHOULD NOT BE REMOVED UNTIL ALL OF L o
| | ¥ | N\E! | =
1 | 05 0 x % ] R MO MO THE FLOOR AND WALL SYSTEMS ARE IN PLACE. () _| =
~ - SEW x M ~ | ~ ® i) X[ @) L =
Sk Sk | | Sk Sk NOTE: THIS STRUCTURAL FRAME IS DESIGNED WITH R =<
A Y . o A ALL SHEAR/BEARING CONNECTIONS (NOT = = [
= = L] = = SLIP—CRITICAL) AND ALL JOINTS ARE OF THE L _
! N W8 x 10 BEAM SNUG—TIGHTENED TYPE. COMPACTING THE JOINT TO x O == =
' ' S| R < - ~ 4515750 - THE SNUG—TIGHT CONDITION SHALL PROGRESS D QO O >
\® —IJ ESNL 7 @ SYSTEMATICALLY FROM THE MOST RIGID PART OF S N = u 55
, W8 x 13 BEAM | N <0 00,0 , | N THE JOINT. THE SNUG—TIGHTENED CONDITION IS 2 L £ w !
—- -— = - Qv o™ AR . 0% THE TIGHTNESS THAT IS ATTAINED BY A FEW Q 2 w &
4315129 G S S N € O = OO g
o WO 4 Y x | O AN 6 IMPACTS OF AN IMPACT WRENCH OR THE FULL q $
5 | XI\ | %\ o © , "0 | X\ K EFFORT OF AN IRONWORKER USING AN ORDINARY S 0
] +5 + 00 = QUQJ + SPUD WRENCH TO BRING THE CONNECTED PLIES Dote:
N ‘L *@0 % @0 %6\ . . ‘L@ @0 %6\ INTO FIRM CONTACT. DECEMBER 10, 2021
@7 : s @7 1 L @7 - S - orawn b WOW
oo} - ; R - = ’
= - Checked by:
— SPW
Scale:
SHOWN
FOURTH FLOOR STRUCTURAL FRAMING PLAN RESIDENCE ROOF STRUCTURAL FRAMING PLAN TOWER ROOF STRUCTURAL FRAMING PLAN .
SCALE: 1/4"=1"-0" SCALE: 1/4"=1-0" SCALE: 1/4"=1"-0" Sheet Ne.

06 of 25



AutoCAD SHX Text
THIRD FLOOR/ATTIC STRUCTURAL FRAMING PLAN

AutoCAD SHX Text
FOURTH FLOOR STRUCTURAL FRAMING PLAN

AutoCAD SHX Text
B

AutoCAD SHX Text
9

AutoCAD SHX Text
TOWER ROOF STRUCTURAL FRAMING PLAN

AutoCAD SHX Text
C

AutoCAD SHX Text
9

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
W10 x 45

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W12 x 30 BEAM

AutoCAD SHX Text
W12 x 30 BEAM

AutoCAD SHX Text
#315158

AutoCAD SHX Text
#315150

AutoCAD SHX Text
#315150

AutoCAD SHX Text
#315114

AutoCAD SHX Text
#315112

AutoCAD SHX Text
#315113

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
W10 x 45

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W12 x 30 BEAM

AutoCAD SHX Text
W12 x 30 BEAM

AutoCAD SHX Text
W8 x 13 BEAM

AutoCAD SHX Text
W8 x 13 BEAM

AutoCAD SHX Text
#315129

AutoCAD SHX Text
#315129

AutoCAD SHX Text
#315125

AutoCAD SHX Text
#315124

AutoCAD SHX Text
#315130

AutoCAD SHX Text
#315130

AutoCAD SHX Text
#315112

AutoCAD SHX Text
#315111

AutoCAD SHX Text
#315113

AutoCAD SHX Text
RESIDENCE ROOF STRUCTURAL FRAMING PLAN

AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
D

AutoCAD SHX Text
C1

AutoCAD SHX Text
B1

AutoCAD SHX Text
A

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
STRUCTURAL FRAMING PLAN

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
1

AutoCAD SHX Text
D

AutoCAD SHX Text
C

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315110

AutoCAD SHX Text
#315110

AutoCAD SHX Text
#315121

AutoCAD SHX Text
#315113

AutoCAD SHX Text
#315112

AutoCAD SHX Text
#315114

AutoCAD SHX Text
#315120

AutoCAD SHX Text
#315120

AutoCAD SHX Text
#315124

AutoCAD SHX Text
#315125

AutoCAD SHX Text
#315129

AutoCAD SHX Text
#315129

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
W10 X 33 COLUMN

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
W8 x 13 BEAM

AutoCAD SHX Text
W8 x 13 BEAM

AutoCAD SHX Text
W14 x 43 BEAM

AutoCAD SHX Text
W14 x 43 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
W10 x 45

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
9

AutoCAD SHX Text
A

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
#315111

AutoCAD SHX Text
#315111

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
C

AutoCAD SHX Text
D

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
W14 x 43 BEAM

AutoCAD SHX Text
W14 x 43 BEAM

AutoCAD SHX Text
SECOND FLOOR STRUCTURAL FRAMING PLAN

AutoCAD SHX Text
#315114

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
#315113

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
W10 x 45

AutoCAD SHX Text
#315124

AutoCAD SHX Text
#315129

AutoCAD SHX Text
W8 x 13 BEAM

AutoCAD SHX Text
#315110

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315112

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
#315111

AutoCAD SHX Text
W10 x 45 COLUMN

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315120

AutoCAD SHX Text
#315120

AutoCAD SHX Text
#315129

AutoCAD SHX Text
W8 x 13 BEAM

AutoCAD SHX Text
#315125

AutoCAD SHX Text
1

AutoCAD SHX Text
9

AutoCAD SHX Text
A

AutoCAD SHX Text
2

AutoCAD SHX Text
#315110

AutoCAD SHX Text
W10 X 33 COLUMN

AutoCAD SHX Text
#315121

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
#315121

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
3

AutoCAD SHX Text
10

AutoCAD SHX Text
D

AutoCAD SHX Text
4

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315159

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315159

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
#315159

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
SCALE:  1/4"=1'-0"

AutoCAD SHX Text
SCALE:  1/4"=1'-0"

AutoCAD SHX Text
SCALE:  1/4"=1'-0"

AutoCAD SHX Text
SCALE:  1/4"=1'-0"

AutoCAD SHX Text
SCALE:  1/4"=1'-0"

AutoCAD SHX Text
#315114

AutoCAD SHX Text
NOTE:  TEMPORARY SUPPORT OF THIS STRUCTURAL FRAME IS REQUIRED AND IS THE SOLE RESPONSIBILITY OF THE ERECTOR.  THIS TEMPORARY SUPPORT SHOULD NOT BE REMOVED UNTIL ALL OF THE FLOOR AND WALL SYSTEMS ARE IN PLACE.

AutoCAD SHX Text
NOTE:  THIS STRUCTURAL FRAME IS DESIGNED WITH ALL SHEAR/BEARING CONNECTIONS (NOT SLIP-CRITICAL) AND ALL JOINTS ARE OF THE JOINTS ARE OF THE SNUG-TIGHTENED TYPE.  COMPACTING THE JOINT TO .  COMPACTING THE JOINT TO THE SNUG-TIGHT CONDITION SHALL PROGRESS SYSTEMATICALLY FROM THE MOST RIGID PART OF THE JOINT.  THE SNUG-TIGHTENED CONDITION IS THE TIGHTNESS THAT IS ATTAINED BY A FEW IMPACTS OF AN IMPACT WRENCH OR THE FULL EFFORT OF AN IRONWORKER USING AN ORDINARY SPUD WRENCH TO BRING THE CONNECTED PLIES INTO FIRM CONTACT.

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
#315998

AutoCAD SHX Text
#315977

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
#315980

AutoCAD SHX Text
#315998

AutoCAD SHX Text
#315977

AutoCAD SHX Text
W10 x 33 COLUMN

AutoCAD SHX Text
F

AutoCAD SHX Text
10

AutoCAD SHX Text
10

AutoCAD SHX Text
E

AutoCAD SHX Text
2A

AutoCAD SHX Text
W8 x 18 RAFTER

AutoCAD SHX Text
W8 x 18 RAFTER

AutoCAD SHX Text
C10 x 15.3

AutoCAD SHX Text
C10 x 15.3

AutoCAD SHX Text
#315142

AutoCAD SHX Text
#315142

AutoCAD SHX Text
W8 x 10 COLUMN

AutoCAD SHX Text
#315143

AutoCAD SHX Text
#315144

AutoCAD SHX Text
#315117

AutoCAD SHX Text
3

AutoCAD SHX Text
D

AutoCAD SHX Text
A

AutoCAD SHX Text
2

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
06 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


40)_0”

"A” TYPICAL SIDE WALL BRACE CONNECTION

SIDE WALL BEAM #315124 OR #315158

CORNER COLUMN #315113 OR #315114

- SIDE WALL BRACE #315119

Y%

\(4) 5/8” X 2 1/4" A=325 BOLTS #390005

WITH 5/8” A—325 NUTS #390003 TYP. AT

BOTH ENDS OF BRACE

E

H

TAIL

< <
"t
<
scale: 1 1/2" = 1’=-0"
12'=0" ‘
L Wx10 BEAM 1
#315158
5
N
e
W6x12 BRACES
#315119 _—A TYP.
T N _—
E
Wx10 BEAM
#315124
g
N
©
i I
<A TYP. u
W6x12 BRACES >/_
#315119
I8 ] ] :
Wx10 BEAM W8x10 BEAM W8x10 BEAM X
v | 4315124 - #315123 S #315123 R
|2 = S R
ol R R R =
ol = = =
S S S S
D)
¥ W6x12 BRACES ¥ e e
3 #315119 S S =
E ] ] ]
Wx10 BEAM W8x10 BEAM W8x10 BEAM
#315124 #315123 #315123
%
R
o
W6x12 BRACES
#315119
10'-8” 11'=4" 11'-4" 14'—8”

48’—8”

EAST SIDE WALL STRUCTURAL FRAMING ELEVATION

SCALE:

1/4”:,]’_0”

REVISIONS by

‘ 12°—0
L WEx10 BEAM gl
#315159
g
R
=
; ]
WEx10 BEAM
#315125
g
R
©
T Z
7
: | E 1 } )
LS WEx10 BEAM WEx10 BEAM W8x10 BEAM
3 #315123 S #315123 o #315125 =
g;’l 0 h LQ:
- 2 2 R
S S S S
S S S s |
1 ] | 1 ]
W8x10 BEAM W8x10 BEAM W8x10 BEAM
#315123 #315123 #315125
.
|
o
14'-8” 11'—4" 114" 10'-8” 8"
48'—8"
WEST SIDE WALL STRUCTURAL FRAMING ELEVATION
SCALE: 1/4"=1-0"

Sun Prairie, WI 53590

800-929-3726

Florida Licence # PE 56328

Address: 314 Wilburn Road

SUN PRAIRIE, WI 53590
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

WRITTEN PERMISSION.

Ll
=
%
>
—
O
<
L
L
T
'_
%)
L
O
L
o
L
T
'_
%
'_
x
<C
o
—
—
<
o
=
<<
&)
=
=
<t
o
a
2,
T
'_

PROPERTY OF FIRE FACILITIES, INC.,
OFFICE: (608) 327-4100 FAX (608) 834—1843

314 WILBURN ROAD,

INFO@ FIREFACILITIES.COM

FIRE FACILITIES, INC.

STEEL FIRE TRAINING TOWERS
314 WILBURN ROAD, SUN PRAIRIE, WI 53590

FIRE FACILITIES

OFFICE: (608) 327—4100 FAX: (608) 834—1843
TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639—7012

WWW.FIREFACILITIES.COM;

WESCO MODEL FF—4

CUSTOM
STRUCTURAL ELEVATIONS

CRESTVIEW, FL

Sheet Title:

S| Job Description:
®

DECEMBER 10, 2021

Drawn by: WDM

Checked by: SPW

Scale:
SHOWN

Order No.
raer VO t1E_796 / #244368

Sheet No.

07 of 25



AutoCAD SHX Text
%%U"A" TYPICAL SIDE WALL BRACE CONNECTION DETAILS

AutoCAD SHX Text
SIDE WALL BRACE #315119

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
CORNER COLUMN #315113 OR #315114

AutoCAD SHX Text
SIDE WALL BEAM #315124 OR #315158 

AutoCAD SHX Text
STRUCTURAL ELEVATIONS

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
A TYP.

AutoCAD SHX Text
A TYP.

AutoCAD SHX Text
#315119

AutoCAD SHX Text
W6x12 BRACES

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315124

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W10x45 COLUMN #315114

AutoCAD SHX Text
#315119

AutoCAD SHX Text
W6x12 BRACES

AutoCAD SHX Text
W10x45 COLUMN #315113

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315124

AutoCAD SHX Text
#315119

AutoCAD SHX Text
W6x12 BRACES

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315124

AutoCAD SHX Text
#315119

AutoCAD SHX Text
W6x12 BRACES

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315158

AutoCAD SHX Text
EAST SIDE WALL STRUCTURAL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:  1/4"=1'-0"

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315125

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W10x45 COLUMN #315112

AutoCAD SHX Text
W10x45 COLUMN #315111

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315125

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315125

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315159

AutoCAD SHX Text
SCALE:  1/4"=1'-0"

AutoCAD SHX Text
WEST SIDE WALL STRUCTURAL FRAMING ELEVATION

AutoCAD SHX Text
(4) 5/8" X 2 1/4" A-325 BOLTS #390005 WITH 5/8" A-325 NUTS #390003 TYP. AT BOTH ENDS OF BRACE

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W10x33 COLUMN #315110

AutoCAD SHX Text
W10x33 COLUMN #315998

AutoCAD SHX Text
W10x33 COLUMN #315110

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
#315123

AutoCAD SHX Text
W8x10 BEAM

AutoCAD SHX Text
W10x33 COLUMN #315977

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
07 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


YA REVISIONS by

(8) 5/8” X 2" A—325 BOLTS #390002 CORNER COLUMN (2) 5/8" x 2.1/4" A-325 BOLTS
WITH 5/8” NUTS #390003 #315112 OR #315114 #390005 WITH 5/8” NUTS #390003
%
RAFTER PLATE #315135 H/ RAFTER SUPPORT COLUMN #315117 -
| | ° g2 «
ﬂ © i © © i ;’éug) %
| | < L
< ' ' <
RAFTER CHANNELS #315143 & #315144
y (4) 5/8” x 2" A—325 BOLTS #390002
RAFTER CHANNELS #315143 & #315144 WITH 5/8" NUTS #390003 ATTIC BEAM #315121
N~ N A" - N\
B~ RAFTER CHANNEL RIDGE CONNECTION _C” RAFTER CHANNEL EAVE CONNECTION D~ RAFTER SUPPORT COLUMN BASE

(4) 5/8” x 2 A—325 BOLTS #390002 (4) 5/8” x 2 A—325 BOLTS #390002
WITH 5/8” NUTS #390003 WITH 5/8” NUTS #390003
RAFTER SUPPORT COLUMN #315117
< /
4@/@/ RAFTER BEAMS #315142 / "
%/

RESIDENCE SIDE WALL COLUMN

/]

SUN PRAIRIE, WI 53590

OFFICE: (608) 327-4100 FAX (608) 834—1843

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

Ll
=
%
>
—
O
<
L
L
T
'_
%)
L
O
L
o
L
T
'_
%
'_
x
<C
o
—
—
<
o
=
<<
&)
=
=
<t
o
a
2,
T
'_

PROPERTY OF FIRE FACILITIES, INC.,

g 5
V > %
z i
VA 2 a
— =
RAFTER BEAMS #315142 = E
Y x
9 r—99 - 9 r— ) =
_E RAFTER EAVE CONNECTION F~ RAFTER RIDGE CONNECTION
D
Nl
LLl = )
W12x30 BEAM #315150 W12x30 BEAM #315150 _I p Q%g
° ° —Jdo] 8285
= — ~
O=| s
IE | — sa = = 9
] - m LL sz L
4 4T o JR307
LLI -] ©g7¢s
F w O N~ P) O.
W12x30 BEAM #315130 ' ' W12x30 BEAM #315130 0 - g287¢
— E LLE/\QE
o &l I
< < E I-l— cITD §\8/2%
| | =
: : - c < < BE
- RAF 70/\//5 = S T ;
:: C1O><15’3 43 B x5 - Ak >\> (/ S SwE
N 4315 ST2q TIER L/ — #1577 g o E=
T : \ = 5 -
5 — o —-C c—/ A SR =
4 T 4 T A
o o I 1 L__| -
L - TF B - N
Bl Wi4x43 BEAM #315120 h-_ T Wi4x43 BEAM #315120 N-_ Bl Wi4x34 BEAM #315121 1 ' W14x34 BEAM
= = = = = = 315980
o 2 2 5 2 2 o 2 = 7 | .
3 5 3 5 S S = 3
Q 24 19 Q 3 3 — Z
S HE S S : S S : L S
I s s I s s ey s s 9 ) - e
H b o . < T H - - H s O
_ | _ - || - - - = [
Wi14x43 BEAM #315120 | I W14x43 BEAM #315120 | [ Wi4dx34 BEAM #315121 %3 Wi14x354 BEAM 'g o Lol =
3 #315121 3 g > S =
2 2 . 2 | = S A =
o o > = < 5 a L £ w g S
. - - S S = S = R =
S S Q O O oW
© S S %
M D)
E ] 2 = vate DECEMBER 10, 2021
|| || H || = = Drawn by: WDM
Checked by: SPW
N0’ 20'—4" N0’ N0’ 20'—4" N0’ N0’ 20'—4" N0’ 0’ 20'—4" 0’ Scale: o
yam y o Aam v 22'-0"
22 -0 22 -0 22 -0
Order No- e1e_796 / 4244368

SOUTH END WALL STRUCTURAL FRAMING ELEVATION SECTION THRU STRUCTURAL FRAMING AT COMMON WALL INTERIOR RESIDENCE STRUCTURAL FRAMING ELEVATION NORTH END WALL STRUCTURAL FRAMING ELEVATION et

SCALE:1/4"=1"-0" SCALE:1/4"=1"-0" SCALE:1/4"=1"-Q" SCALE:1/4"=1"-0" 08 of 25


AutoCAD SHX Text
C

AutoCAD SHX Text
B

AutoCAD SHX Text
STRUCTURAL ELEVATIONS CONT.

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
C

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
(4) 5/8" x 2" A-325 BOLTS #390002 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(4) 5/8" x 2" A-325 BOLTS #390002 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(2)  5/8" x 2 1/4" A-325 BOLTS #390005 WITH 5/8" NUTS #390003

AutoCAD SHX Text
CORNER COLUMN #315112 OR #315114

AutoCAD SHX Text
(4) 5/8" x 2" A-325 BOLTS #390002 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(8)  5/8" X 2" A-325 BOLTS #390002 WITH 5/8" NUTS #390003

AutoCAD SHX Text
SECTION THRU STRUCTURAL FRAMING AT COMMON WALL

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
%%U"C" RAFTER CHANNEL EAVE CONNECTION

AutoCAD SHX Text
RAFTER CHANNELS #315143 & #315144

AutoCAD SHX Text
RAFTER CHANNELS #315143 & #315144

AutoCAD SHX Text
RAFTER PLATE #315135

AutoCAD SHX Text
%%U"B" RAFTER CHANNEL RIDGE CONNECTION

AutoCAD SHX Text
RAFTER SUPPORT COLUMN #315117

AutoCAD SHX Text
RAFTER BEAMS #315142

AutoCAD SHX Text
%%U"F" RAFTER RIDGE CONNECTION

AutoCAD SHX Text
RAFTER SUPPORT COLUMN #315117

AutoCAD SHX Text
ATTIC BEAM #315121

AutoCAD SHX Text
%%U"D" RAFTER SUPPORT COLUMN BASE

AutoCAD SHX Text
RESIDENCE SIDE WALL COLUMN

AutoCAD SHX Text
RAFTER BEAMS #315142

AutoCAD SHX Text
%%U"E" RAFTER EAVE CONNECTION

AutoCAD SHX Text
W10x45 COLUMN #315112

AutoCAD SHX Text
W10x45 COLUMN #315114

AutoCAD SHX Text
#315144

AutoCAD SHX Text
C10x15.3 RAFTER

AutoCAD SHX Text
C10x15.3 RAFTER

AutoCAD SHX Text
#315143

AutoCAD SHX Text
W14x43 BEAM #315120

AutoCAD SHX Text
W14x43 BEAM #315120

AutoCAD SHX Text
W12x30 BEAM #315130

AutoCAD SHX Text
W12x30 BEAM #315150

AutoCAD SHX Text
W12x30 BEAM #315150

AutoCAD SHX Text
W12x30 BEAM #315130

AutoCAD SHX Text
W14x43 BEAM #315120

AutoCAD SHX Text
W14x43 BEAM #315120

AutoCAD SHX Text
W10x45 COLUMN #315111

AutoCAD SHX Text
W10x45 COLUMN #315113

AutoCAD SHX Text
SOUTH END WALL STRUCTURAL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
E

AutoCAD SHX Text
D

AutoCAD SHX Text
F

AutoCAD SHX Text
E

AutoCAD SHX Text
W8x18 RAFTER

AutoCAD SHX Text
#315142

AutoCAD SHX Text
W8x10 COLUMN

AutoCAD SHX Text
#315117

AutoCAD SHX Text
W8x18 RAFTER

AutoCAD SHX Text
#315142

AutoCAD SHX Text
W10x33 COLUMN #315110

AutoCAD SHX Text
W10x33 COLUMN #315110

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
INTERIOR RESIDENCE STRUCTURAL FRAMING ELEVATION

AutoCAD SHX Text
W14x34 BEAM #315121

AutoCAD SHX Text
W14x34 BEAM #315121

AutoCAD SHX Text
NORTH END WALL STRUCTURAL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
W14x34 BEAM 

AutoCAD SHX Text
#315980

AutoCAD SHX Text
W14x34 BEAM 

AutoCAD SHX Text
#315121

AutoCAD SHX Text
W10x33 COLUMN #315998

AutoCAD SHX Text
W10x33 COLUMN #315977

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
08 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


TOWER CORNER COLUMN #315113

(10) 17 X 47 A—=325 BOLTS #390010

WITH 17 NUTS #390011

(2) 17 X 27 A=325 BOLTS #390025
WITH 17 NUTS #390011

(2) 17 X 27 A=325 BOLTS #390025
WITH 17 NUTS #390011

TOWER CORNER COLUMN #315111

(10) 17 X 4" A-=325 BOLTS
#390010 WITH 17 NUTS #390011

REVISIONS

by

oo [T1Oo OO

INTERIOR FLOOR BEAM #315129

INTERIOR FLOOR BEAM #315129

mn

Address: 314 Wilburn Road

1T

e ey == =

(2) 5/8" X 1 1/2” A-325 BOLTS
4390001 WITH 5/8” NUTS #390003

SIDE BEAM #315124

”A’

\— 2ND FLOOR END WALL BEAM

#315120

SECTION THRU SECOND/THIRD FLOOR TOWER FRAMING

(2) 5/8 X 1 1/2” A—325 BOLTS
4390001 WITH 5/8” NUTS #390003

— [ Tg v O¢

SIDE BEAM #315125

TOWER CORNER COLUMN #315113

(8) 17 X 3 1/2” A—325 BOLTS
#390013 WITH 17 NUTS #390011

TOWER CORNER COLUMN #315111

(8) 17 X 3 1/2” A=325 BOLTS
#390013 WITH 17 NUTS #390011

A
(2) 17 X 2" A—325 BOLTS #390025 (2) 17 X 2" A—325 BOLTS #390025
" WITH 1”7 NUTS #390011 WITH 1”7 NUTS #390011 o
| f S
¥ —/V
o b INTERIOR FLOOR BEAM #315129 INTERIOR FLOOR BEAM #315129 1

Sun Prairie, WI 53590

800-929-3726
Florida Licence # PE 56328

SUN PRAIRIE, WI 53590

Ll
=
D
>
—J
o
<
L
L
T
'_
v
L
S
e
o
L
T
'_
%
'_
x
<<
o
—
—
<
o
=
<
&)
=
=
<t
o
o
2,
T
'_

PROPERTY OF FIRE FACILITIES, INC.,

314 WILBURN ROAD,

OFFICE: (608) 327—4100 FAX (608) 834—1843

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

WRITTEN PERMISSION.

1T

(2) 5/8" X 1 1/2” A-325 BOLTS
4390001 WITH 5/8” NUTS #390003

SIDE BEAM #315124

”B”

\— SRD FLOOR END WALL BEAM

#315130

SECTION THRU FOURTH FLOOR TOWER FLOOR FRAMING

(nmmn]

(2) 5/8" x 1 1/2” A—325 BOLTS
4390001 WITH 5/8” NUTS #390003

SIDE BEAM #315125

(2) 5/8" X 1 1/2” A=325 BOLTS
4390001 WITH 5/8” NUTS #390003

(2) 5/8" X 1 1/2” A=325 BOLTS
4390001 WITH 5/8” NUTS #390003

(2) 5/8” X 1 1/2” A=325 BOLTS
4390001 WITH 5/8” NUTS #390003

ROOF BEAM #3515158

b

ROOF BEAM #315159

ROOF BEAM #315159

g |

e

(4) 17 X 3" A—325 BOLTS
#390012 WITH 17 NUTS #390011

TOWER CORNER COLUMN #315113

”C”

xROOF END WALL BEAM #315150

SECTION THRU TOWER ROOF FRAMING

(4) 17 X 3" A=325 BOLTS
#390012 WITH 17 NUTS #390011

_/ W
TOWER CORNER COLUMN #315111

o |

INFO@ FIREFACILITIES.COM

FIRE FACILITIES, INC.

STEEL FIRE TRAINING TOWERS
314 WILBURN ROAD, SUN PRAIRIE, WI 53590

FIRE FACILITIES

OFFICE: (608) 327—4100 FAX: (608) 834—1843
TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639—7012

WWW.FIREFACILITIES.COM;

WESCO MODEL FF—4

CUSTOM
TOWER STRUCTURAL SECTIONS

CRESTVIEW, FL

Sheet Title:

g Job Description:
@

DECEMBER 10, 2021

Drawn by: WDM

Checked by: SPW

Scale:
SHOWN

Order No- e1e_796 / y244368

Sheet No.

09 of 25



AutoCAD SHX Text
"C"  SECTION THRU TOWER ROOF FRAMING

AutoCAD SHX Text
ROOF END WALL BEAM #315150

AutoCAD SHX Text
ROOF BEAM #315158

AutoCAD SHX Text
ROOF BEAM #315159

AutoCAD SHX Text
TOWER CORNER COLUMN #315111

AutoCAD SHX Text
TOWER CORNER COLUMN #315113

AutoCAD SHX Text
INTERIOR FLOOR BEAM #315129

AutoCAD SHX Text
TOWER CORNER COLUMN #315111

AutoCAD SHX Text
INTERIOR FLOOR BEAM #315129

AutoCAD SHX Text
"B"  SECTION THRU FOURTH FLOOR TOWER FLOOR FRAMING

AutoCAD SHX Text
TOWER CORNER COLUMN #315113

AutoCAD SHX Text
(10) 1" X 4" A-325 BOLTS #390010

AutoCAD SHX Text
WITH 1" NUTS #390011

AutoCAD SHX Text
INTERIOR FLOOR BEAM #315129

AutoCAD SHX Text
TOWER CORNER COLUMN #315111

AutoCAD SHX Text
INTERIOR FLOOR BEAM #315129

AutoCAD SHX Text
"A"  SECTION THRU SECOND/THIRD FLOOR TOWER FRAMING

AutoCAD SHX Text
TOWER STRUCTURAL SECTIONS

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
ROOF BEAM #315159

AutoCAD SHX Text
TOWER CORNER COLUMN #315113

AutoCAD SHX Text
SIDE BEAM #315124

AutoCAD SHX Text
SIDE BEAM #315125

AutoCAD SHX Text
SIDE BEAM #315125

AutoCAD SHX Text
SIDE BEAM #315124

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(10) 1" X 4" A-325 BOLTS #390010 WITH 1" NUTS #390011

AutoCAD SHX Text
(8) 1" X 3 1/2" A-325 BOLTS #390013 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(2) 5/8" x 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(8) 1" X 3 1/2" A-325 BOLTS #390013 WITH 1" NUTS #390011

AutoCAD SHX Text
2ND FLOOR END WALL BEAM #315120

AutoCAD SHX Text
3RD FLOOR END WALL BEAM #315130

AutoCAD SHX Text
(4) 1" X 3" A-325 BOLTS #390012 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(4) 1" X 3" A-325 BOLTS #390012 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(2) 1" X 2" A-325 BOLTS #390025 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 1" X 2" A-325 BOLTS #390025 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 1" X 2" A-325 BOLTS #390025 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 1" X 2" A-325 BOLTS #390025 WITH 1" NUTS #390011

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
09 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by
/ RESIDENCE SIDE WALL COLUMN #315110 RESIDENCE SIDE WALL COLUMN #315110—\
% %
(8) 17 X 4” A—325 BOLTS #390010 (8) 17 X 4” A—325 BOLTS #390010 § ag &
WITH 17 NUTS #390011 WITH 17 NUTS #390011 o EST g
i ~ 5 45 .
: T 5238 ]
il e
(2) 5/8” X 1 1/2” BOLTS #390001 (2) 5/8” X 1 1/2” BOLTS #390001 e
WITH 5/8” NUTS #3900035 WITH 5/8” NUTS #390003
| B =N
| § \ ] |
2ND FLOOR TRANSVERSE BEAM #315121
Y Y
SIDE WALL BEAM #315123 SIDE WALL BEAM #315123

"D”" SECTION THRU SECOND FLOOR RESIDENCE FRAMING

(2) 5/8” X 2 1/4” A—325 BOLTS
4390005 WITH 5/8” NUTS #390003

/ RESIDENCE SIDE WALL COLUMN #315110 RESIDENCE SIDE WALL COLUMN #315110—\
% (8) 17 X 4” A—325 BOLTS #390010 Y (8) 17 X 4” A—325 BOLTS v
WITH 17 NUTS #390011 #390010 WITH 17 NUTS #390011

RAFTER SUPPORT COLUMN #315117/

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

WRITTEN PERMISSION.

Ll
=
D
>
—
O
<
L
L
T
'_
2,
L
S
o
o
L
T
'_
%
'_
x
<<
o
—
—
<
a
=
<
o
=
=
<
(%
a
2,
T
'_

314 WILBURN ROAD, SUN PRAIRIE, WI 53590
OFFICE: (608) 327—-4100 FAX (608) 834—1843

PROPERTY OF FIRE FACILITIES, INC.,

dhil
of
|| e

(2) 5/8” X 1 1/2” BOLTS #390001 (2) 5/8” X 1 1/2” BOLTS #390001 D
WITH 5/8” NUTS #390003 WI'TH 5/8” NUTS #390003 o g
LL] g T
Al b 1 [ —_—= -F
: , j—©° L2838
B N — 5% BE
TYP. FLOOR END WALL BEAM #315121 — ;wkg
V' SIDE WALL BEAM #315123 SIDE WALL BEAM #315123 a— - = REEe
< ; E%SH%
— 6 XEo
Ll b =2
= BEEEES
LL < | =578
o R
99 — 99 Ll Lz oF
E~ SECTION THRU ATTIC FLOOR RESIDENCE FRAMING m—Lu R
I-l— o ggfgé
L 00
Yo~
%Eg
-
o
(2) 5/8” X 1 1/2” A—325 BOLTS (2) 5/8” X 1 1/2” A—325 BOLTS .
/ 4390001 w/ 5/8” NUTS #390003 4390001 w/ 5/8” NUTS #390003 \ T Z
=
LI_ O
s [if i s ™ e
L3 &b _. 2
]
0y \ 0y o =
ROOF END WALL BEAM = E“ ;
#315980 o 7
S O = > <
(6) 17 X 47 A—325 BOLTS #390010 (6) 17 X 4”7 A—325 BOLTS #390010 s 0N 5y s
AN WITH 17 NUTS #390011 WITH 17 NUTS #390011 L) 3 W5y - D
/ S = OO0 g L
S %
RESIDENCE CORNER COLUMN #315977 RESIDENCE CORNER COLUMN #315998 Date:  [-orVBER 10, 2021
9 —99 Drawn by. WDM
F* SECTION THRU RESIDENCE ROOF FRAMING ST

SPW

Scale:
SHOWN

Order No- c1e_796 / #244368

Sheet No.

10 of 25



AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
RESIDENTIAL STRUCTURAL SECTIONS

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
TYP. FLOOR END WALL BEAM #315121

AutoCAD SHX Text
RESIDENCE SIDE WALL COLUMN #315110

AutoCAD SHX Text
RESIDENCE SIDE WALL COLUMN #315110

AutoCAD SHX Text
"E"  SECTION THRU ATTIC FLOOR RESIDENCE FRAMING

AutoCAD SHX Text
2ND FLOOR TRANSVERSE BEAM #315121

AutoCAD SHX Text
"D"  SECTION THRU SECOND FLOOR RESIDENCE FRAMING

AutoCAD SHX Text
RAFTER SUPPORT COLUMN #315117

AutoCAD SHX Text
SIDE WALL BEAM #315123

AutoCAD SHX Text
SIDE WALL BEAM #315123

AutoCAD SHX Text
SIDE WALL BEAM #315123

AutoCAD SHX Text
SIDE WALL BEAM #315123

AutoCAD SHX Text
(2) 5/8" X 1 1/2" BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(8) 1" X 4" A-325 BOLTS #390010 WITH 1" NUTS #390011

AutoCAD SHX Text
(8) 1" X 4" A-325 BOLTS #390010 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(8) 1" X 4" A-325 BOLTS #390010 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(8) 1" X 4" A-325 BOLTS #390010 WITH 1" NUTS #390011

AutoCAD SHX Text
(2) 5/8" X 1 1/2" BOLTS #390001 WITH 5/8" NUTS #390003

AutoCAD SHX Text
(2) 5/8" X 2 1/4" A-325 BOLTS #390005 WITH 5/8" NUTS #390003

AutoCAD SHX Text
RESIDENCE CORNER COLUMN #315998

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS  #390001 w/ 5/8" NUTS #390003

AutoCAD SHX Text
(2) 5/8" X 1 1/2" A-325 BOLTS  #390001 w/ 5/8" NUTS #390003

AutoCAD SHX Text
RESIDENCE CORNER COLUMN #315977

AutoCAD SHX Text
"F"  SECTION THRU RESIDENCE ROOF FRAMING

AutoCAD SHX Text
ROOF END WALL BEAM #315980 

AutoCAD SHX Text
(6) 1" X 4" A-325 BOLTS #390010  WITH 1" NUTS #390011

AutoCAD SHX Text
(6) 1" X 4" A-325 BOLTS #390010  WITH 1" NUTS #390011

AutoCAD SHX Text
RESIDENCE SIDE WALL COLUMN #315110

AutoCAD SHX Text
RESIDENCE SIDE WALL COLUMN #315110

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
10 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by

TOWER FLOOR JOIST #340050 FASTEN CLIP TO BEAM WITH

3/8” DIA. BOLTS #760100 &
NUTS #/60300

SPECIAL STAIR OPENING FLOOR JOIST #340061

TYP. ALONG SIDE OF STAIR OPENING WITH (8) #12 x 3/4” S.D.

SCREWS #/60600 PER CLIP

L 212"
48'—8” o
[
34)_41) 147_4» / '
23’_0” "‘ ::CD 0 g))) §
o7 34 ) SPECIAL FLOOR JOISTS #340049 6" X 3" 12 GA. N 8 3sg 8
T -1 AND #340130 6” X 3" 12 GA. FASTEN TO JOIST . gsp g
6" TRACKS WITH CLIPS #330054 AND SCREWS & §§§ .
L psizon o0 7o), \ T T A A, 00 s s ¥ P
' (4 SCREWS PER EACH LEG OF CLIP) / " 538 g
STAIR HEADER TRACK —FLOOR JOISTS #340158 SPECIAL JOIST END TRACK North arrow for reference only — £E s
i T TS e £ 7 e ot i oontaben it TYPICAL FLOOR &/or ROOF JOIST 118
AND BOTTOM OF STAIRS ) (THESE THREE LOCATIONS coordinate actual orientation on site
‘mL < ONLY)
B .,l H (]
<+ —|
N
» \
a T TGS I — [ || ||
N 1
> — - || - || I \ ) ) ) ” ) 3 ) 3
~ rE N //O‘ o / 2'—0 2'—0 6 2'—0 2'—0
5 - 1 . SIS
\ - < I — f\J i
=c|3 9, © // 9 I! @B T T T | T | |
N~ —
TYP. SPECIAL ROOF JOISTS #340084 ~ = I = ! _: - \ =
FASTEN TO JOISTS WITH CLIPS ~ —Ir =i — = it 5 j N FLOOR DECK =——FLOOR JOISTS
" | Q
B St vsoaon M OF Do) cal | “JOISTY BACK TO BACK ||/ a1 BURN ROOM ROOF JOISTS #340213 ' ' L ' ' ~
(4 PER LEG OF ANGLE) | = ° / /g\ (SEE BURN ROOM DETAIL PAGE 15 \ ~— BUILDING CENTER LINE W 2
(FIELD CUT JOIST TO LENGTH) L ] ~ T &Y FOR EXACT LOCATION OF JOISTS) STRAP BRACE #340002 AT LOCATIONS 2 =
[S — 8—3 1/4" — = ' m n o =
5 9 / T © I I | SHOWN. FASTEN TO UNDER SIDE OF o .
— o ¥ ” L
o - =4 = I ; JOISTS WITH (2) #12 x 3/4” S.D. " s
4 1[F8” T
| L | . SCREWS #760600 PER JOIST = S
- = — (Vp) n AN
o o~ d—( = e B
! I‘ ; A b w5 B
B JOISTS BARK TO BACK / SECTION THRU FLOOR SHOWING TYP. JOIST SPACING S = B 2
o =) L b - o
|| 2 g8 =
- FLOOR /ROOF JOISTS © 5 o x @
5 o x w o < S
< N STRAP BRACE UNDERSIDE OF ROOF /FLOOR ﬁ s 5z S8
- ” ” JOISTS AT LOCATIONS SHOWN WITH STRAP 42 0 2 f
] <C Ll .
4 i A A ol ” ” o BRACE #3400(02). FASTEN/ STRAPS TO 5 o JOIST CLIPS #340005 S s 1 & Z
N o JOISTS WITH (2) #12 x 3/4” SCREWS #760600 o o Z 2 3 3w o5
LA — a8 = L al : m PER JOIST al o T G
2 2 o §\ % Lol_ £ 8 S &5
¥ N —_— = > 3 & 7 &
STAIR LANDING JOISTS 4340062 FLOOR JOIST END TRACKS #340004 = E o g g =z
TYP. AROUND ENTIRE PERIMETER / o S e
TYP. AT STAIR LANDINGS FLOOR JOISTS #340159 FASTEN JOISTS TO JOIST CLIPS T 2T E 2 §
— (A N o <C

SECOND FLOOR JOIST FRAMING PLAN

FLOOR/ROOF SUPPORT BEAM

TYP. JOIST TO INTERIOR BEAM CONN.

SCALE:1/4"=1"-0"

NOTE: THERE ARE TWO TYPES OF JOIST END TRACK THAT

HAVE THE EXACT SAME PROFILE (#340004 IS 18 GAGE,

WHILE #340082 IS 12 GAGE). ONLY USE THE 12 GAGE TRACK

ON THE ROOF OF THE TOWER AND/OR WHERE SPECIFICALLY DETAILED.

34’—8”

6"W\ =17
" 12'-0" )\ 2'=0") L 230" 4"

SOME FIELD DRILLING OF HOLES IN THE STRUCT. BEAM
WILL BE REQUIRED FOR THE 3/8" BOLT
ATTACHMENT OF THE CLIP TO THE STRUCTURAL BEAM

NOTE: FIELD CUT JOISTS AND TRACK AROUND STAIR OPENINGS.

INFO@ FIREFACILITIES.COM

STAIR HEADER TRACK

FIRE FACILITIES, INC.
314 WILBURN ROAD, SUN PRAIRIE, WI 53590
OFFICE: (608) 327—4100 FAX: (608) 834—1843
TOLL FREE: (B00) 929-3726 TOLL FREE FAX: (866) 639—7012

o
o'
L
=
O
I_
(@D
=
=
<C
o'
I_
L
o
L
|
L
L
—
w

7
——
i
—
-
<
L
Lt
o
L

4340082 TYP. AT TOP FLOOR JOIST END TRACKS 2
AND BOTTOM OF STAIRS #340004 TYP. AROUND ?EE%L@L#;A%OSQ-Z QST END S
) ENTIRE PERIMETER PARAPET STUD ATTACHMENT ) ATTENTION CONTRACTORS: *
~ ~ METAL SHAVINGS SHALL BE FLOOR/ROOF JOISTS E
= ) / - COMPLETELY REMOVED FROM THE 5
” T L/ I T o ROOF, FLOORS, AND STUD TRACKS AT <
Q 7 = THE END OF EACH WORK DAY. I P — W
= 1 I : FAILURE TO DO SO MAY RESULT IN WALL TRACKS i JOIST CLIP #340001 -
D / ¢ PREMATURE RUST SPOTS. | J =
N , - JOIST END TRACK - ;t_j\ =
: 8" x 4" 18 GA. CHANNEL e
|
o~ ’

TYP. SPECIAL ROOF JOISTS #340084
FASTEN TO JOISTS WITH CLIPS .
#330054 (AT THE BOTTOM OF JOIST)
WITH SCREWS #760600
(4 PER LEG OF ANGLE)
(FIELD CUT JOIST TO LENGTH) . X T~

FASTEN CLIP TO JOIST &

TRACK WITH (8) #12 x 3/4”
S.D. SCREWS #760600 PER CLIP

FASTEN TRACK TO BEAM WITH
) 3/8” DIA. BOLTS #760100 &
R NUTS #760300 @ 2'—0" O.C.

3
\
\
17-8"[2'=0”|2’=0"| 2’-0

1

o,
|
W
=
ar
117
~]
H
1

FLOOR /ROOF SUPPORT BEAM

TYP. JOIST TO EXTERIOR BEAM CONN.
V'

‘ “ FASTEN ANGLE TO JOISTS
of . WITH #12 x 3/4” S.D. SCREWS
N T 4760600 AT 2'—0" O.C.
L pri= / H‘ ﬂ // ; 2” CONCRETE COVER BY OTHERS
A/ LT T < ;

= 7
- W
STAIR LANDING JOISTS #340062
FLOOR JOISTS #340159 TYP.

22’=0’
12 -1

1

310
~|

2=0"|
\

2-0"12-0"12-0"]1-8

£-71/2
\

1’—5

WESCO MODEL FF—4

CUSTOM
JOIST PLANS AND DETAILS

CRESTVIEW, FL

]

Sheet Title:

TYP. AT STAIR LANDINGS FLOOR PANELS

S| Job Description:
@

SPECIAL 12 GA. JOIST END

DECEMBER 10, 2021

SPECIAL STAIR OPENING FLOOR JOIST
#340061 TYP. ALONG SIDE OF

STAIR OPENING TOWER FLOOR JOISTS #340050

STRAP BRACE UNDERSIDE OF ROOF /FLOOR
JOISTS AT LOCATIONS SHOWN WITH STRAP
BRACE #340002. FASTEN STRAPS TO
JOISTS WITH (2) #12 x 3/4” SCREWS
4760600 PER JOIST

TRACK #340082 FOR
PARAPET STUD ATTACHMENT

TOWER THIRD FLOOR/ATTIC PLAN/FLAT RESIDENCE ROOF JOIST FRAMING PLAN

SCALE:1/4"=1"-0"

TYP. 2ND FLOOR BURN ROOM CONCRETE FLOOR EDGE TRIM DETAIL

| |
6" x
L | ]
POUR STOP ANGLE #380009

1" 18 GA.

SPECIAL FLOOR JOISTS

6”

x 37 12 GA. "CEE”

Drawn by: WDM

Checked by: SpW

Scale:
SHOWN

Order No.
raer N t1E_796 / #244368

scale: 1 1/2" = 1'-0"

Sheet No.

11 of 25



AutoCAD SHX Text
ATTENTION CONTRACTORS: METAL SHAVINGS SHALL BE COMPLETELY REMOVED FROM THE ROOF, FLOORS, AND STUD TRACKS AT THE END OF EACH WORK DAY.  FAILURE TO DO SO MAY RESULT IN PREMATURE RUST SPOTS.

AutoCAD SHX Text
WHILE #340082 IS 12 GAGE).  ONLY USE THE 12 GAGE TRACK

AutoCAD SHX Text
HAVE THE EXACT SAME PROFILE (#340004 IS 18 GAGE, 

AutoCAD SHX Text
ON THE ROOF OF THE TOWER AND/OR WHERE SPECIFICALLY DETAILED.

AutoCAD SHX Text
NOTE:  THERE ARE TWO TYPES OF JOIST END TRACK THAT

AutoCAD SHX Text
NOTE: FIELD CUT JOISTS AND TRACK AROUND STAIR OPENINGS.

AutoCAD SHX Text
FLOOR JOISTS #340159 TYP.

AutoCAD SHX Text
4"

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
SECOND FLOOR JOIST FRAMING PLAN

AutoCAD SHX Text
TYP. JOIST TO INTERIOR BEAM CONN.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
FASTEN CLIP TO JOIST & TRACK WITH (8) #12 x 3/4" S.D. SCREWS #760600 PER CLIP

AutoCAD SHX Text
POUR STOP ANGLE #380009

AutoCAD SHX Text
TYP. 2ND FLOOR BURN ROOM CONCRETE FLOOR EDGE TRIM DETAIL

AutoCAD SHX Text
TYP. JOIST TO EXTERIOR BEAM CONN.

AutoCAD SHX Text
FLOOR/ROOF JOISTS

AutoCAD SHX Text
FLOOR/ROOF SUPPORT BEAM

AutoCAD SHX Text
JOIST CLIP #340001

AutoCAD SHX Text
SOME FIELD DRILLING OF HOLES IN THE STRUCT. BEAM

AutoCAD SHX Text
ATTACHMENT OF THE CLIP TO THE STRUCTURAL BEAM

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
2" CONCRETE COVER BY OTHERS

AutoCAD SHX Text
6" x 3" 12 GA. "CEE"

AutoCAD SHX Text
SPECIAL FLOOR JOISTS

AutoCAD SHX Text
FASTEN TRACK TO BEAM WITH 3/8" DIA. BOLTS #760100 & NUTS #760300 @ 2'-0" O.C.

AutoCAD SHX Text
JOIST END TRACK

AutoCAD SHX Text
WALL TRACKS

AutoCAD SHX Text
8" x 4" 18 GA. CHANNEL

AutoCAD SHX Text
#760600 AT 2'-0" O.C.

AutoCAD SHX Text
WITH #12 x 3/4" S.D. SCREWS

AutoCAD SHX Text
FASTEN ANGLE TO JOISTS

AutoCAD SHX Text
WILL BE REQUIRED FOR THE 3/8" BOLT

AutoCAD SHX Text
JOIST PLANS AND DETAILS

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
6" x 1" 18 GA.

AutoCAD SHX Text
FLOOR PANELS

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
FASTEN JOISTS TO JOIST CLIPS WITH (8) #12 x 3/4" S.D. SCREWS #760600 PER CLIP

AutoCAD SHX Text
FLOOR/ROOF SUPPORT BEAM

AutoCAD SHX Text
FLOOR/ROOF JOISTS

AutoCAD SHX Text
JOIST CLIPS #340005

AutoCAD SHX Text
SECTION THRU FLOOR SHOWING TYP. JOIST SPACING

AutoCAD SHX Text
TYPICAL FLOOR &/or ROOF JOIST

AutoCAD SHX Text
FASTEN CLIP TO BEAM WITH 3/8" DIA. BOLTS #760100 & NUTS #760300

AutoCAD SHX Text
STRAP BRACE #340002 AT LOCATIONS

AutoCAD SHX Text
SHOWN.  FASTEN TO UNDER SIDE OF

AutoCAD SHX Text
JOISTS WITH (2) #12 x 3/4" S.D.

AutoCAD SHX Text
SCREWS #760600 PER JOIST

AutoCAD SHX Text
FLOOR DECK

AutoCAD SHX Text
FLOOR JOISTS

AutoCAD SHX Text
BUILDING CENTER LINE

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
TYP. SPECIAL ROOF JOISTS #340084 FASTEN TO JOISTS WITH CLIPS  #330054 (AT THE BOTTOM OF JOIST)  WITH SCREWS #760600  (4 PER LEG OF ANGLE) (FIELD CUT JOIST TO LENGTH)

AutoCAD SHX Text
STAIR HEADER TRACK #340082 TYP. AT TOP AND BOTTOM OF STAIRS

AutoCAD SHX Text
JOISTS BACK TO BACK

AutoCAD SHX Text
B

AutoCAD SHX Text
12

AutoCAD SHX Text
B

AutoCAD SHX Text
12

AutoCAD SHX Text
12

AutoCAD SHX Text
A

AutoCAD SHX Text
12

AutoCAD SHX Text
D

AutoCAD SHX Text
C

AutoCAD SHX Text
12

AutoCAD SHX Text
JOISTS BACK TO BACK

AutoCAD SHX Text
TYP. SPECIAL ROOF JOISTS #340084 FASTEN TO JOISTS WITH CLIPS  #330054 (AT THE BOTTOM OF JOIST)  WITH SCREWS #760600  (4 PER LEG OF ANGLE) (FIELD CUT JOIST TO LENGTH)

AutoCAD SHX Text
TOWER FLOOR JOIST #340050

AutoCAD SHX Text
STAIR HEADER TRACK #340082 TYP. AT TOP AND BOTTOM OF STAIRS

AutoCAD SHX Text
SPECIAL STAIR OPENING FLOOR JOIST #340061 TYP. ALONG SIDE OF STAIR OPENING

AutoCAD SHX Text
STAIR LANDING JOISTS #340062 TYP. AT STAIR LANDINGS

AutoCAD SHX Text
PER JOIST

AutoCAD SHX Text
STRAP BRACE UNDERSIDE OF ROOF/FLOOR

AutoCAD SHX Text
JOISTS AT LOCATIONS SHOWN WITH STRAP

AutoCAD SHX Text
BRACE #340002.  FASTEN STRAPS TO

AutoCAD SHX Text
JOISTS WITH (2) #12 x 3/4" SCREWS #760600

AutoCAD SHX Text
TYP. AROUND ENTIRE PERIMETER

AutoCAD SHX Text
FLOOR JOIST END TRACKS #340004

AutoCAD SHX Text
BURN ROOM ROOF JOISTS #340213

AutoCAD SHX Text
(SEE BURN ROOM DETAIL PAGE 15

AutoCAD SHX Text
FOR EXACT LOCATION OF JOISTS)

AutoCAD SHX Text
FLOOR JOISTS #340159

AutoCAD SHX Text
FLOOR JOISTS #340158

AutoCAD SHX Text
SPECIAL JOIST END TRACK #340007 6" X 4" 18 GA.  (THESE THREE LOCATIONS ONLY)

AutoCAD SHX Text
FLOOR JOIST END TRACKS #340004 TYP. AROUND ENTIRE PERIMETER

AutoCAD SHX Text
SPECIAL FLOOR JOISTS #340049 6" X 3" 12 GA. AND #340130 6" X 3" 12 GA. FASTEN TO JOIST TRACKS WITH CLIPS #330054 AND SCREWS #760600 (4 SCREWS PER EACH LEG OF CLIP)

AutoCAD SHX Text
TOWER FLOOR JOISTS #340050

AutoCAD SHX Text
STAIR LANDING JOISTS #340062 TYP. AT STAIR LANDINGS

AutoCAD SHX Text
SPECIAL STAIR OPENING FLOOR JOIST #340061 TYP. ALONG SIDE OF STAIR OPENING

AutoCAD SHX Text
STRAP BRACE UNDERSIDE OF ROOF/FLOOR JOISTS AT LOCATIONS SHOWN WITH STRAP BRACE #340002.  FASTEN STRAPS TO JOISTS WITH (2) #12 x 3/4" SCREWS #760600 PER JOIST

AutoCAD SHX Text
SPECIAL 12 GA. JOIST END TRACK #340082 FOR PARAPET STUD ATTACHMENT

AutoCAD SHX Text
SPECIAL 12 GA. JOIST END TRACK #340082 FOR PARAPET STUD ATTACHMENT

AutoCAD SHX Text
FLOOR JOIST END TRACKS #340004 TYP. AROUND ENTIRE PERIMETER

AutoCAD SHX Text
TOWER THIRD FLOOR/ATTIC PLAN/FLAT RESIDENCE ROOF JOIST FRAMING PLAN

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
11 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by

LINER PANEL #46631100

11’_0” g -OB §
STUDS #330209 STUDS #330209—\ . B Bsg f
/ FLOOR PANEL #352730 2” OF CONCRETE COVER - Tt ¢
) (BY OTHERS) ¢ 358 «
/ 2" OF CONCRETE COVER LINER PANEL #466309600 — § 559 3
/ (BY OTHERS) FLOOR PANEL #3527307 5 =58 &
T . JOIST #340158 —————— = = : :;
aN . 1 R
JOIST END TRACK #340007 JOIST END TRACKS 4340004 - JOIST #340049
JOIST #340159
# JOISTS #340130 e JOIST END TRACK #340007
JOISTS #340049
1” 12!_0”

%
2

DETAIL A FROM PAGE 11 (SECTION THROUGH) DETAIL B FROM PAGE 11 (SECTION THROUGH)
SCALE: 1,/4"=1"-0" SCALE: 1,/4"=1"-0"
/4

North arrow for reference only —

coordinate actual orientation on site 5
= =
N =
= =
2 —
5" OF CONCRETE COVER 2" OF CONCRETE COVER NOTE: THERE ARE TWO TYPES OF JOIST END TRACK THAT i %
(BY OTHERS) (BY OTHERS) HAVE THE EXACT SAME PROFILE (#340004 IS 18 GAGE, == o $ o
22'—4" WHILE #340082 IS 12 GAGE). ONLY USE THE 12 GAGE TRACK n 2 9% ©
STUDS #330209\ 4 ON THE ROOF OF THE TOWER AND/OR WHERE SPECIFICALLY DETAILED. u PR
11'=0" / 11'=0" 2" OF CONCRETE COVER o = > 2
(BY OTHERS) 2 4 g8 =
//—FLOOR PANEL #352730 e 1 /o o0 PANEL #350518 NOTE: FIELD CUT JOISTS AND TRACK F Z & © =
p— — S~~—~ D
JOIST #340050_'_:_,1_: \ = N i / — I # AROUND ROOF OPEN'NGS E LI(/)J" § é 8
— : : £ | — >
1 FLOOR PANEL #352318A J_ \ J_ L L ™ & S Z o 3
JOIST #340130 N NOTE: FIELD CUT JOISTS AND TRACK 4 O B © &
JOIST END ‘ JOIST END TRACK #340007 JOIST #340158 JOISTS #340130 JOIST END TRACK #340007 2 = T &
TRACKS #340004 11'—4” 11'—8” i 5—6 1/2" 4 AROUND STAIR OPENINGS. o S Rl E 5
| )
’ ” < . < M o 2
6'—11 1/2 o t 2 s 5 =
% © o 8 =Z W
= =3 = = =
@ x — .. <C =
[am)] Ll = Lol = [}
DETAIL C FROM PAGE 11 (SECTION THROUGH DETAIL D FROM PAGE 11 (SECTION THROUGH 0532 ok
L = [0
E & s & £ =
SCALE:1/4"=1"-0" SCALE:1/4"=1"-0"
- >
o S
LL] - 7
— Q=
H o o Q © 8
— — o 2 N
Bl oW
I (&b ] <+ o0 =
120" = _© 3
=7 3/4" v N = > %2
4 o = ~o <L
6” 4 1/4 1'-5 g o:.: OE\%;E
| p-512-0"2-0" \ 2=\ || 4" - < ~ zZ o
117—a” SPECIAL 12 GA. JOIST END TRACK — sEXFo
STAIR HEADER TRACK FLOOR JOIST END TRACKS #340004 #340082 FOR PARAPET STUD ATTACHMENT 8 12" I I w_ < 2
#340082 TYP. AT TOP TYP. AROUND ENTIRE PERIMETER AROUND ENTIRE PERIMETER OF ROOF 5o 1 1/2" L ES o322
AND BOTTOM OF STAIRS EAVE STRUTS #340060 TYP. , S s T \ — o= 5P0F .
AT RESIDENCE EAVES : ¢ (1-842-01-9 619 g4 LL] — Y93
: S O
» . L %D: ML
y T il il || || — i 2RSS
— (&)
S “ || || LL. | 3852
~ ol RESIDENCE ROOF JOISTS L D &
- L J //_(16 GA) #340158 RCIN
‘ _ : SWE
o ] STRAP BRACE UNDERSIDE OF ROOF /FLOOR JOISTS L
3 o AT LOCATIONS SHOWN WITH STRAP BRACE -
1 | o #340002. FASTEN STRAPS TO JOISTS WITH (2) o
: 2| L #12 x 3/4” SCREWS #760600 PER JOIST STRAP BRACE UNDERSIDE OF ROOF /FLOOR
= N : : JOISTS AT LOCATIONS SHOWN WITH STRAP
> - BRACE #340002. FASTEN STRAPS TO JOISTS
: - . — I I Ll WITH (2) #12 x 3/4" SCREWS #760600 PER
ol % - 8—3 1/4" = TYP. SPECIAL ROOF JOISTS #340084 3 ol * y JOIST
- N / | FASTEN TO JOISTS WITH CLIPS R S = = H
N - =i #330054 (AT THE BOTTOM OF JOIST) — NN
A WITH SCREWS #760600 T | I RESIDENCE 7.0, ROOF T -
— (4 PER LEG OF ANGLE) — i I — JOISTS (12 GA) #340099 TOWER FLOOR JOISTS =
Ry (FIELD CUT JOIST TO LENGTH) of < #340050 TYP. L S
i | 3'—4" 4'-0" 4'-0" L
=___ o ’N 2
T - —] <
- —
~ | 7 FLOOR JOIST END TRACKS Lol Ll
o #340004 TYP. ACROSS ENDS _ . o — o
N o ® 736 1 1/2 @) L A
- I = 7 = = =
" - I HEADER CHANNELS #340222 =
K Lo 2
] || || ) o %
= A 1 g = >
j P S /1 // / JE T I | I é O O i <
T Z : : S 2 E ﬂ =
TOWER FLOOR JOIST #340050 B o 2 w = 7 =W
Q e~ 6
STAIR LANDING JOISTS #340062 SPECIAL STAIR OPENING FLOOR JOIST #340061 Q = OO &S
TYP. AT STAIR LANDINGS TYP. ALONG SIDE OF STAIR OPENING S b
Date DECEMBER 10, 2021
Drawn by: WDM
FOURTH FLOOR JOIST FRAMING PLAN GABLED RESIDENCE ROOF JOIST FRAMING PLAN TOWER ROOF JOIST FRAMING PLAN Checked by: gy
” ’ ” 2 ’ ”» Scale:
SCALE:1/4"=1"-0" SCALE:1/4"=1"-0 SCALE:1/4"=1"-0 SHOWN

Order No.

FTE—796 / #244368

Sheet No.

12 of 25



AutoCAD SHX Text
NOTE:  THERE ARE TWO TYPES OF JOIST END TRACK THAT

AutoCAD SHX Text
ON THE ROOF OF THE TOWER AND/OR WHERE SPECIFICALLY DETAILED.

AutoCAD SHX Text
HAVE THE EXACT SAME PROFILE (#340004 IS 18 GAGE, 

AutoCAD SHX Text
WHILE #340082 IS 12 GAGE).  ONLY USE THE 12 GAGE TRACK

AutoCAD SHX Text
NOTE: FIELD CUT JOISTS AND TRACK

AutoCAD SHX Text
AROUND STAIR OPENINGS.

AutoCAD SHX Text
NOTE: FIELD CUT JOISTS AND TRACK

AutoCAD SHX Text
AROUND ROOF OPENINGS.

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
JOIST PLANS AND DETAILS CONT.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
SPECIAL 12 GA. JOIST END TRACK #340082 FOR PARAPET STUD ATTACHMENT AROUND ENTIRE PERIMETER OF ROOF

AutoCAD SHX Text
STRAP BRACE UNDERSIDE OF ROOF/FLOOR JOISTS AT LOCATIONS SHOWN WITH STRAP BRACE #340002.  FASTEN STRAPS TO JOISTS WITH (2) #12 x 3/4" SCREWS #760600 PER JOIST

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
TOWER ROOF JOIST FRAMING PLAN

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
TOWER FLOOR JOISTS #340050 TYP.

AutoCAD SHX Text
HEADER CHANNELS #340222

AutoCAD SHX Text
FOURTH FLOOR JOIST FRAMING PLAN

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
TOWER FLOOR JOIST #340050

AutoCAD SHX Text
TYP. SPECIAL ROOF JOISTS #340084 FASTEN TO JOISTS WITH CLIPS  #330054 (AT THE BOTTOM OF JOIST)  WITH SCREWS #760600  (4 PER LEG OF ANGLE) (FIELD CUT JOIST TO LENGTH)

AutoCAD SHX Text
STAIR HEADER TRACK #340082 TYP. AT TOP AND BOTTOM OF STAIRS

AutoCAD SHX Text
FLOOR JOIST END TRACKS #340004 TYP. AROUND ENTIRE PERIMETER

AutoCAD SHX Text
SPECIAL STAIR OPENING FLOOR JOIST #340061 TYP. ALONG SIDE OF STAIR OPENING

AutoCAD SHX Text
STAIR LANDING JOISTS #340062 TYP. AT STAIR LANDINGS

AutoCAD SHX Text
JOIST END TRACK #340007

AutoCAD SHX Text
FLOOR PANEL #352318

AutoCAD SHX Text
DETAIL D FROM PAGE 11 (SECTION THROUGH)

AutoCAD SHX Text
JOISTS #340130

AutoCAD SHX Text
(BY OTHERS)

AutoCAD SHX Text
2" OF CONCRETE COVER

AutoCAD SHX Text
JOIST #340158

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
DETAIL B FROM PAGE 11 (SECTION THROUGH)

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
LINER PANEL #466309600

AutoCAD SHX Text
JOIST #340158

AutoCAD SHX Text
JOIST END TRACKS #340004

AutoCAD SHX Text
JOIST END TRACK #340007

AutoCAD SHX Text
(BY OTHERS)

AutoCAD SHX Text
FLOOR PANEL #352730

AutoCAD SHX Text
2" OF CONCRETE COVER

AutoCAD SHX Text
STUDS #330209

AutoCAD SHX Text
JOIST #340049

AutoCAD SHX Text
DETAIL C FROM PAGE 11 (SECTION THROUGH)

AutoCAD SHX Text
JOIST #340050

AutoCAD SHX Text
FLOOR PANEL #352318 

AutoCAD SHX Text
STUDS #330209

AutoCAD SHX Text
2" OF CONCRETE COVER  (BY OTHERS)

AutoCAD SHX Text
JOIST #340130

AutoCAD SHX Text
JOIST END TRACK #340007

AutoCAD SHX Text
FLOOR PANEL #352730

AutoCAD SHX Text
2" OF CONCRETE COVER  (BY OTHERS)

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
DETAIL A FROM PAGE 11 (SECTION THROUGH)

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
JOIST #340159

AutoCAD SHX Text
JOISTS #340130

AutoCAD SHX Text
JOISTS #340049

AutoCAD SHX Text
(BY OTHERS)

AutoCAD SHX Text
STUDS #330209

AutoCAD SHX Text
2" OF CONCRETE COVER

AutoCAD SHX Text
LINER PANEL #46631100

AutoCAD SHX Text
FLOOR PANEL #352730

AutoCAD SHX Text
JOIST END TRACK #340007

AutoCAD SHX Text
JOIST END TRACKS #340004

AutoCAD SHX Text
GABLED RESIDENCE ROOF JOIST FRAMING PLAN

AutoCAD SHX Text
STRAP BRACE UNDERSIDE OF ROOF/FLOOR JOISTS JOISTS AT LOCATIONS SHOWN WITH STRAP BRACE #340002.  FASTEN STRAPS TO JOISTS WITH (2) #12 x 3/4" SCREWS #760600 PER JOIST

AutoCAD SHX Text
RESIDENCE ROOF JOISTS (16 GA) #340158

AutoCAD SHX Text
FLOOR JOIST END TRACKS #340004 TYP. ACROSS ENDS

AutoCAD SHX Text
EAVE STRUTS #340060 TYP. AT RESIDENCE EAVES

AutoCAD SHX Text
RESIDENCE F.O. ROOF JOISTS (12 GA) #340099

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
12 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by
| 12'=0" SPECIAL STUD WALL TRACK
BOTTOM DIVERTING #330305 TYP. AT TOP &
ANGLE #33503507/ T e BOTTOM OF PARAPET
STUDS ONLY
STEP 1 o T .
BEND UP FLAP 90 _ e » 8se 8
ANGLE 4”X4”X120” #380008, / €28 4
/ ATTACH TO STRUCTURAL BEAM - WALL STUDS #330300 -
W/ 3/8” DIA. BOLTS (2’ 0.C. FIELD DRILL), T TYP. AT PARAPET scg ¥
/ ATTACH TO STUDS W/ SCREWS #760600 ¥ ia8 §
STRAP BRACE INSIDE FLANGE OF STUDS , 8
. AT MID SPAN WITH STRAP #340002 ] 8 3
ISOMETRIC BACK VIEW FASTEN WITH (1) #12 x 3/f” SCREW _\ 3 2
. . #760600 PER STUD TYP.
. WALL STUD #330252 : 18 GA WALL STUDS
N 4330235
TOP DIVERTING \ -
(@]
o ANGLE 350308 TYP. CONNECTION DETAIL I3 |
. | 310 1/4” 5
s3] T - FOR RECESSED OPENING IN BUILDING >
APPRO% SEE DIVERTING ANGLE
DETAIL ABOVE F.O. STUDS #330302
22'-8" |
SILICONE CAULK _x 11'—4" / 11— 4"
FIELD CUT OFF BE[\ID FLAP #760800 WALL STUDS #330213 18 GA. WALL STUDS
90 WALL STUDS #330300 TYP AT ATTIC SIDEWALL o . 4330231 =
TAPE CAULK SOMETRIC FORNT VIEW TYP. AT PARAPET o o i > 2
#760703 AS SHOWN BOTTOM DIVERTING 3\ 8" 40" 3-8" 2-012-0,2-0 5 5 %) =
ANGLE #330307 TYP. | TYP. | TYP. | - - =
DIVERTING ANGLE DETAIL AT ATTIC & PARAPET WALL 4350305 TYP. AT ToP & B R T 5% 1741 5 =
4330305 TYP. AT TOP & BOTTOM A \ 3’10 1/4 " <
OF PARAPET STUDS ONLY : —
\ ﬁ . F.O. STUDS #330221 - = % %
i N\ @ ml
| - Lo Te! =
R < @) M @)
? = L = 0 T
2 o — =
\‘ (9 L s - 00
; - E S & 3 =
" 2 w . < -9
/ o z @&z 3
SEE 2nd FLOOR BURN ROOM FRAMING = L WALL STUDS #330211 o 5 z o5 S
o PLAN FOR EXACT F.0. STUD LOCATION ~ WALL STUDS #330252 4 S B S ¢
12'=0 (THIS SHUTTER ONLY) N 5 THIS AREA ONLY \ < v 5 B Z
~ | - O [ r~
4-0 40 4-0 - : : © I Z £ 3 948 2
cxID 340 1/4” y ) ° Z " & 2 0 =
(T AT B o ~ i 2 &z %8 2 &
SPECIAL STUD WALL TRACK #330305 WALL STUDS #330433 — <§( - S L& - o
TYP. AT TOP & BOTTOM OF F.0. STUDS #330221 ¥ £ 3 = =
pa PARAPET STUDS ONLY F.0. STUDS #330443 . S w E o4 =
- W o + T o =
WALL STUDS #330300 WINDOW/SHUTTER HEADER #330002 Er a5y 2
TYP. AT PARAPET .
R
! o
/ R WALL STUDS #330210 m . N
< . o— O
~ G )
- : , 3—4 34 L ~
——STRAP BRACE INSIDE FLANGE OF WALL STUDS #330216 5 6—0 1/4” : LLJ = il
STUDS AT MID SPAN WITH STRAP TYP. AT BURN ROOM | N | o L @ o M3
1%3%/;35\)NALL STUDS y #340002 FASTEN WITH (1) #12 x 3/4” (SEE BURN ROOM FRAMING PLAN _I| © S0 1/47 - N N > I— — o 520
# “ / SCREW #760600 PER STUD TYP. FOR EXACT STUD LOCATION) R S 2 2 — . o T 8£
: J
T F.0. STUDS #330226 I | — = 10 %85
@ TYP. AT BURN ROOM ™~ ™~ F.0. STUDS #330220 — =20
Z ‘/\
SEE DIVERTING ANGLE o = ui 8 i
DETAIL ABOVE < ; 2ESWLE
22'-8" A — seXEQ
— o o STUD WALL TRACK #330000 I | W &0
14 -4 34 —4 TYP. AT TOP & BOTTOM OF LU 520B8%
11'=4” 11'—4" o EACH FLOORS STUD WALL o= o 2F
48'—8 LIJ L <SY 03
WALL STUDS #330213 LSRG
18 GA. WALL STUDS TP AT ATTIC SOEWALL WALL STUDS #330300 m — | xxFTE
#330231 e " TYP. AT PARAPET7 SPECIAL STUD WALL TRACK Ll Ez,\g';
—0712'~ - 3-8" 4-0" 348" #330305 TYP. AT TOP & BOTTOM _— Qo=
[ TYP | TYP. | TYP. OF PARAPET STUDS ONLY — 23 02
7 e NV WEST SIDE STUD WALL FRAMING ELEVAIION LL. | 38g2
o ..
) | T A SCALE: 1/4"=1"-0" 2o
= | St o
N 3 © xr =
..l | L
: N N -
5 / 2
%
I ATTENTION CONTRACTORS:
N N WALL STUDS #330433 METAL SHAVINGS SHALL BE
s © © Q& COMPLETELY REMOVED FROM THE < %
| — ' - A pr—
° S0 14l s 510 1/47 o ROOF, FLOORS, AND STUD TRACKS AT I <
iy 2 L Lo
o > THE END OF EACH WORK DAY. ™ =
F.0. STUDS #330221 F0. STUDS #330443 FAILURE TO DO SO MAY RESULT IN . =
)
/7WINDOW/SHUTTER HEADER #330002 PREMATURE RUST SPOTS. g 5
_| -
|_
: o = <
/ oo} R =
WALL STUDS #330210 “ il = = -
j § F.0. STUDS #330226 NOTE: MAX’IMU,I}/I STUD SPACING FOR PARAPET .. O = = —
: 6'—4 1/2" 5 o TYP. AT BURN ROOM IS 1—=0", WHILE MAXIMUM STUD SPACING S QO O ,E =
2 = H < ) g ) to| | (SEE BURN ROOM FRAMING PLAN ANYWHERE ELSE IS 2°-0". T n — 0 § =
o >~ 310 1/4 3P 1/4 Il | FOR EXACT STUD LOCATION) 2 Ll g E =
o WALL STUDS #330216 N < OO0 T =
F.0. STUDS #330220 | : n
# ) VP AT BURM ROOM NOTE: FIELD LOCATE RESIDENCE AND TOWER FRAMED OPENINGS 5 2
UNLESS DIMENSIONED ON PLANS OR ELEVATIONS. Dote
DECEMBER 10, 2021
/ _______ | Drawn by: WDM
J NOTE: FIELD CUT FRAMING AROUND FRAMED OPENINGS
STUD WALL TRACK #330000 Checked by: SPW
TYP. AT TOP & BOTTOM OF 34'—4" 14'—4”
FEACH FLOORS STUD WALL Scale: SHOWN
48'—8"
No.
Order No. c1e_796 / 4244368

EAST SIDE STUD WALL FRAMING ELEVATION Sheet Mo
13 of 25

SCALE:1/4"=1"-0"


AutoCAD SHX Text
WEST SIDE STUD WALL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
EAST SIDE STUD WALL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
STUD WALL ELEVATIONS & DETAILS

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
NOTE:  FIELD CUT FRAMING AROUND FRAMED OPENINGS

AutoCAD SHX Text
NOTE:  FIELD LOCATE RESIDENCE AND TOWER FRAMED OPENINGS

AutoCAD SHX Text
       UNLESS DIMENSIONED ON PLANS OR ELEVATIONS.

AutoCAD SHX Text
NOTE:  MAXIMUM STUD SPACING FOR PARAPET

AutoCAD SHX Text
       IS 1'-0", WHILE MAXIMUM STUD SPACING

AutoCAD SHX Text
       ANYWHERE ELSE IS 2'-0".

AutoCAD SHX Text
ATTENTION CONTRACTORS: METAL SHAVINGS SHALL BE COMPLETELY REMOVED FROM THE ROOF, FLOORS, AND STUD TRACKS AT THE END OF EACH WORK DAY.  FAILURE TO DO SO MAY RESULT IN PREMATURE RUST SPOTS.

AutoCAD SHX Text
WALL STUDS #330210

AutoCAD SHX Text
(SEE BURN ROOM FRAMING PLAN

AutoCAD SHX Text
FOR EXACT STUD LOCATION)

AutoCAD SHX Text
WALL STUDS #330216

AutoCAD SHX Text
TYP. AT BURN ROOM

AutoCAD SHX Text
F.O. STUDS #330226

AutoCAD SHX Text
TYP. AT BURN ROOM

AutoCAD SHX Text
F.O. STUDS #330220

AutoCAD SHX Text
WALL STUDS #330211

AutoCAD SHX Text
F.O. STUDS #330221

AutoCAD SHX Text
WALL STUDS #330300 TYP. AT PARAPET

AutoCAD SHX Text
STRAP BRACE INSIDE FLANGE OF STUDS AT MID SPAN WITH STRAP #340002 FASTEN WITH (1) #12 x 3/4" SCREW #760600 PER STUD TYP.

AutoCAD SHX Text
STUD WALL TRACK #330000 TYP. AT TOP & BOTTOM OF EACH FLOORS STUD WALL

AutoCAD SHX Text
SPECIAL STUD WALL TRACK #330305 TYP. AT TOP & BOTTOM OF PARAPET STUDS ONLY

AutoCAD SHX Text
WINDOW/SHUTTER HEADER #330002

AutoCAD SHX Text
WALL STUDS #330213 TYP. AT ATTIC SIDEWALL

AutoCAD SHX Text
WALL STUDS #330300 TYP. AT PARAPET

AutoCAD SHX Text
WALL STUDS #330433

AutoCAD SHX Text
F.O. STUDS #330443

AutoCAD SHX Text
SPECIAL STUD WALL TRACK #330305 TYP. AT TOP & BOTTOM OF PARAPET STUDS ONLY

AutoCAD SHX Text
STRAP BRACE INSIDE FLANGE OF STUDS AT MID SPAN WITH STRAP #340002 FASTEN WITH (1) #12 x 3/4" SCREW #760600 PER STUD TYP.

AutoCAD SHX Text
SEE 2nd FLOOR BURN ROOM FRAMING PLAN FOR EXACT F.O. STUD LOCATION (THIS SHUTTER ONLY)

AutoCAD SHX Text
WALL STUDS #330210

AutoCAD SHX Text
FOR EXACT STUD LOCATION)

AutoCAD SHX Text
(SEE BURN ROOM FRAMING PLAN

AutoCAD SHX Text
WALL STUDS #330216 TYP. AT BURN ROOM

AutoCAD SHX Text
F.O. STUDS #330226 TYP. AT BURN ROOM

AutoCAD SHX Text
STUD WALL TRACK #330000 TYP. AT TOP & BOTTOM OF EACH FLOORS STUD WALL

AutoCAD SHX Text
SPECIAL STUD WALL TRACK #330305 TYP. AT TOP & BOTTOM OF PARAPET STUDS ONLY

AutoCAD SHX Text
WALL STUDS #330300 TYP. AT PARAPET

AutoCAD SHX Text
F.O. STUDS #330220

AutoCAD SHX Text
WALL STUDS #330211

AutoCAD SHX Text
F.O. STUDS #330221

AutoCAD SHX Text
F.O. STUDS #330221

AutoCAD SHX Text
F.O. STUDS #330302

AutoCAD SHX Text
WINDOW/SHUTTER HEADER #330002

AutoCAD SHX Text
WALL STUDS #330213 TYP. AT ATTIC SIDEWALL

AutoCAD SHX Text
WALL STUDS #330300 TYP. AT PARAPET

AutoCAD SHX Text
WALL STUDS #330433

AutoCAD SHX Text
F.O. STUDS #330443

AutoCAD SHX Text
SPECIAL STUD WALL TRACK #330305 TYP. AT TOP & BOTTOM OF PARAPET STUDS ONLY

AutoCAD SHX Text
WALL STUDS #330252 THIS AREA ONLY

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
13 of 25

AutoCAD SHX Text
SEE DIVERTING ANGLE DETAIL ABOVE

AutoCAD SHX Text
SEE DIVERTING ANGLE DETAIL ABOVE

AutoCAD SHX Text
BEND UP FLAP 90%%D

AutoCAD SHX Text
DIVERTING ANGLE DETAIL AT ATTIC & PARAPET WALL

AutoCAD SHX Text
FIELD CUT OFF

AutoCAD SHX Text
TAPE CAULK #760703 AS SHOWN

AutoCAD SHX Text
APPROX.

AutoCAD SHX Text
BEND FLAP 90°

AutoCAD SHX Text
APPROX.

AutoCAD SHX Text
STEP 2

AutoCAD SHX Text
STEP 1

AutoCAD SHX Text
6"

AutoCAD SHX Text
FIELD CUT

AutoCAD SHX Text
BOTTOM DIVERTING ANGLE #330307

AutoCAD SHX Text
BOTTOM DIVERTING ANGLE #330307

AutoCAD SHX Text
ISOMETRIC FORNT VIEW

AutoCAD SHX Text
TOP DIVERTING ANGLE #330308

AutoCAD SHX Text
ISOMETRIC BACK VIEW

AutoCAD SHX Text
SILICONE CAULK #760800

AutoCAD SHX Text
18 GA. WALL STUDS #330235

AutoCAD SHX Text
18 GA. WALL STUDS #330231

AutoCAD SHX Text
18 GA. WALL STUDS #330235

AutoCAD SHX Text
18 GA. WALL STUDS #330231

AutoCAD SHX Text
TYP. CONNECTION DETAIL

AutoCAD SHX Text
FOR RECESSED OPENING IN BUILDING

AutoCAD SHX Text
WALL STUD #330252

AutoCAD SHX Text
W/ 3/8" DIA. BOLTS (2' 0.C. FIELD DRILL),

AutoCAD SHX Text
ATTACH TO STUDS W/ SCREWS #760600

AutoCAD SHX Text
ANGLE 4"X4"X120" #380008,

AutoCAD SHX Text
ATTACH TO STRUCTURAL BEAM

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by

O’—Z”

5/8

FLOOR JOISTS
ALIGN WITH TOP OF JOIST TRACK / 8" x 2 1/2” 16 GA. "CEE”

FASTEN WALL TRACKS TO JOIST TRACK
WITH #12 x 3/47 S.D. SCREWS #760600

STUD WALL TRACK #330000 AT 1'=0" O.C.
47 x 27 20 GA. CHANNEL L

JOIST END TRACK #340004 PHOOR SUPPORT BEAN TYP. WALL STUD

8" x 4" 18 GA. CHANNEL

O’ _ 4”
PE 56328

Steven P. Westra

Sun Prairie, WI 53590

800-929-3726

Address: 314 Wilburn Road
Florida Licence #:

Engineer:

22'=0
2-0" 2°-0" 2’0" 2’-0” 2-0"  2'-0” 2'-0” 2'-0" 2'-0”" 2'-0”
STUD WALL TRACK #330000
scale: = EACH FLOORS STUD WALL “ F.0. STUDS 4330221
N % _ (FIELD CUT TO PROPER LENGTH)
— WINDOW /SHUTTER HEADER #330002 7
. = — |
WALL STUDS #330216 > 3—ol1/4” T < T 11
-——WALL STUDS TYP. AT BURN ROOM o > > WALL STUDS #330211
X . ] T ? ] N e . - - - -
FASTEN STUDS TO TRACK | FOR EXACT STUD LOCATION) g 3’0 1/4 : 5 — | o + s i . 'é
- //\l\’ F.O. STUDS #330226 | ] = > 2
WITH (2) #12 x 3/47 S.D. I S TYP. AT BURN ROOM ~ —Y7171 T T T.I1TL.T T [ T[T I+ g =
SCREWS #/60600 AT EACH T] ¥ g —
o
END OF EACH STUD STUD WALL TRACK #330000 " -
e 4" x 2”7 20 GA. CHANNEL 6 _2" 3-0 1/4” 3-0 1/4" 6 —2" = S & X
— ” s 2
ooy Lt
220" S © 22
r = _ =
TYPICAL TOWER STUD CONNECTION £ ey gz
— NORTH END ANNEX WALL FRAMING ” . = 2 S .
scale: 1 1/2" = 1"-0 & e b & 2 S
: =
SCALE:1/4"=1"-0" : o >~ 23 g%
i SR -
'y A @ o w <QE N w o
22'-0 T E g mad
. . 22'-0" 25 z T o &
21/2 9 1/2 s J £ g = U
< ~ >
67 | 4-0" [ U 6” 6” VU U U U U 6” x o g g = B
SPECIAL STUD WALL TRACK SPECIAL STUD WALL T ¥ 55 Z &
— #330305 TYP. AT TOP & BOTTOM TRACK #330305 TYP.
OF PARAPET STUDS ONLY AT TOP & BOTTOM OF
= = PARAPET STUDS ONLY
! : W N
WALL STUDS #330300 WALL STUDS #330300 o- S
TYP. AT PARAPET ——— ) TYP. AT PARAPET ) | | LL] g ~
— Swn 2
R R RESIDENCE & FLAT ROOF TRANSITION STUD WALL FRAMING —-| i
. ’ » ’ » . n —_
#330235 510 1=5 #330235 — — = S B3
. = .
g 3 > = | ¢e8.¢
= L
< F.0. STUDS #330302 < ,D_: K
N Ll o= 2
w | E3 DdZ
a ' 5 RS
LLI | =57¢3
w O NS
o | k58
WALL STUDS #330211 o ZzQF
F.0. STUDS — Ll w5
4330221 e ype (FIELD CUT TO PROPER LENGTH) 50’0 I L. 938%
- . = ..0u
[ || | © 6" NN NN N R R 6” + B2k
- | - ] N SPECIAL STUD WALL AT
- J @ TRACK #330305 TYP. AT SWZ
" = TOP & BOTTOM OF -
Wasons o oTUS 3 FRAMED OPENING STUDS #330221 WALL STUDS #330300—— PARAPET STUDS ONLY -
™ (FIELD CUT TO PROPER LENGTH) TYP. AT PARAPET T =
2 WALL STUDS #330211 ¥
| (FIELD CUT TO PROPER LENGTH)
’ =
STRAP BRACE INSIDE FLANGE S
e T L s o sTos g 3 3 BT, ¥ .
: T - . S S (1) #12 x 3/4” SCREW | =
2 N - - Q N X | #760600 PER STUD TYP. L —
N < — | | 1 < |4 L|_ Lol
= - < 30 1/4|] il i[3'—0|1/4 o
|
< F.0. STUDS #330221 © — =3
~ SEE 2ND FLOOR BURN ROOM L %)
WALL STUDS #330275 FRAMING PLAN FOR EXACT F.O. STUD 0 ] %
s LOCATION (THIS SHUTTER ONLY) e L =
- <
| > - >
I I a R =
| - == L
g O = > |
DOOR HEADER #330003 S O O & =
WALL STUDS 3 h = v g <
#330210 . WALL STUDS #330216 S L] 9w =
E TYP. AT BURN ROOM 3-0|1/4" Q D =
o) (SEE BURN ROOM FRAMING PLAN o LT | L 3 = OO 3=
STUD WALL TRACK 4330000 FOR EXACT STUD LOCATION) 0 NN c|> | | > B
TYP. AT TOP & BOTTOM OF F.0. STUDS #350226 ™ , e T #3200 Date DECEMBER 10, 2021
EACH FLOORS STUD WALL TP AT BURN ROOM EACH FLOORS STUD WALL Drawn by
Y / WDM
[ Checked by: SPW
Scale: SHOWN
SOUTH END STUD WALL FRAMING ELEVATION COMMON STUD WALL FRAMING ELEVATION NORTH END & ANNEX TRANSITION WALL FRAMING T ey / e

Sheet No.

SCALE:1/4"=1"-0" SCALE:1/4"=1"-0" SCALE:1/4"=1"-0" 14 of 25



AutoCAD SHX Text
SOUTH END STUD WALL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
COMMON STUD WALL FRAMING ELEVATION

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
STUD WALL ELEVATIONS & DETAILS CONT.

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
NORTH END & ANNEX TRANSITION WALL FRAMING

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
NORTH END ANNEX WALL FRAMING

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
DOOR HEADER #330003

AutoCAD SHX Text
WINDOW/SHUTTER HEADER #330002

AutoCAD SHX Text
STUD WALL TRACK #330000 TYP. AT TOP & BOTTOM OF EACH FLOORS STUD WALL

AutoCAD SHX Text
FOR EXACT STUD LOCATION)

AutoCAD SHX Text
(SEE BURN ROOM FRAMING PLAN

AutoCAD SHX Text
WALL STUDS #330216 TYP. AT BURN ROOM

AutoCAD SHX Text
F.O. STUDS #330226 TYP. AT BURN ROOM

AutoCAD SHX Text
WALL STUDS #330211

AutoCAD SHX Text
(FIELD CUT TO PROPER LENGTH)

AutoCAD SHX Text
FRAMED OPENING STUDS #330221

AutoCAD SHX Text
(FIELD CUT TO PROPER LENGTH)

AutoCAD SHX Text
WALL STUDS #330211

AutoCAD SHX Text
(FIELD CUT TO PROPER LENGTH)

AutoCAD SHX Text
SPECIAL STUD WALL TRACK #330305 TYP. AT TOP & BOTTOM OF PARAPET STUDS ONLY

AutoCAD SHX Text
WALL STUDS #330300 TYP. AT PARAPET

AutoCAD SHX Text
WALL STUDS #330300 TYP. AT PARAPET

AutoCAD SHX Text
SPECIAL STUD WALL TRACK #330305 TYP. AT TOP & BOTTOM OF PARAPET STUDS ONLY

AutoCAD SHX Text
STUD WALL TRACK #330000 TYP. AT TOP & BOTTOM OF EACH FLOORS STUD WALL

AutoCAD SHX Text
DOOR HEADER #330003

AutoCAD SHX Text
F.O. STUDS #330313

AutoCAD SHX Text
FOR EXACT STUD LOCATION)

AutoCAD SHX Text
(SEE BURN ROOM FRAMING PLAN

AutoCAD SHX Text
WALL STUDS #330216 TYP. AT BURN ROOM

AutoCAD SHX Text
F.O. STUDS #330226 TYP. AT BURN ROOM

AutoCAD SHX Text
WALL STUDS #330275

AutoCAD SHX Text
STUD WALL TRACK #330000 TYP. AT TOP & BOTTOM OF EACH FLOORS STUD WALL

AutoCAD SHX Text
SEE 2ND FLOOR BURN ROOM FRAMING PLAN FOR EXACT F.O. STUD  LOCATION (THIS SHUTTER ONLY)

AutoCAD SHX Text
SPECIAL STUD WALL TRACK #330305 TYP. AT TOP & BOTTOM OF PARAPET STUDS ONLY

AutoCAD SHX Text
WALL STUDS #330300 TYP. AT PARAPET

AutoCAD SHX Text
STRAP BRACE INSIDE FLANGE OF STUDS AT MID SPAN WITH STRAP #340002 FASTEN WITH (1) #12 x 3/4" SCREW #760600 PER STUD TYP.

AutoCAD SHX Text
F.O. STUDS #330302

AutoCAD SHX Text
F.O. STUDS #330221

AutoCAD SHX Text
F.O. STUDS #330221

AutoCAD SHX Text
WALL STUDS #330211

AutoCAD SHX Text
WALL STUDS #330210

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
14 of 25

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
STUD WALL TRACK #330000

AutoCAD SHX Text
4" x 2" 20 GA. CHANNEL

AutoCAD SHX Text
FASTEN STUDS TO TRACK

AutoCAD SHX Text
WITH (2) #12 x 3/4" S.D.

AutoCAD SHX Text
SCREWS #760600 AT EACH

AutoCAD SHX Text
END OF EACH STUD

AutoCAD SHX Text
TYPICAL TOWER STUD CONNECTION

AutoCAD SHX Text
TYPICAL TOWER STUD TRACK CONNECTION

AutoCAD SHX Text
JOIST END TRACK #340004

AutoCAD SHX Text
8" x 4" 18 GA. CHANNEL

AutoCAD SHX Text
FLOOR JOISTS

AutoCAD SHX Text
8" x 2 1/2" 16 GA. "CEE"

AutoCAD SHX Text
STUD WALL TRACK #330000

AutoCAD SHX Text
4" x 2" 20 GA. CHANNEL

AutoCAD SHX Text
FASTEN WALL TRACKS TO JOIST TRACK

AutoCAD SHX Text
WITH #12 x 3/4" S.D. SCREWS #760600

AutoCAD SHX Text
AT 1'-0" O.C.

AutoCAD SHX Text
ALIGN WITH TOP OF JOIST TRACK

AutoCAD SHX Text
FLOOR SUPPORT BEAM

AutoCAD SHX Text
TYP. WALL STUD

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
RESIDENCE & FLAT ROOF TRANSITION STUD WALL FRAMING

AutoCAD SHX Text
SCALE:1/4"=1'-0"

AutoCAD SHX Text
F.O. STUDS #330221 (FIELD CUT TO PROPER LENGTH)

AutoCAD SHX Text
WALL STUDS #330211  (FIELD CUT TO LENGTH)

AutoCAD SHX Text
18 GA. WALL STUDS #330235

AutoCAD SHX Text
18 GA. WALL STUDS #330231

AutoCAD SHX Text
18 GA. WALL STUDS #330235

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


) REVISIONS by
) 6 1/4" ) 51/4" 1'-0 7/8"
61/2"  ,, 2-0" _y  2-0" __ -8 _/y 3014 _\  2-0" |  2-0" _ 7, 57/8 10" (=7 1/8 1’7 1/8", 1'-9 7/8" 2'—0" -6 3/4", [, 27— 2'—Q" -8 7/8" |\ 1'-71/8"  1"-71/8, [ &,
Nor’gh arrow for referenqe only - ‘ § %i% ;
, | | | - | | — ‘ coordndie dofud orlentdfion on site —JOIST END TRACK #340004 JOIST END TRACK #340004— s 255 «
© . - :go‘ % iggl §
\ === = ' w] BURN ROOM ROOF JOISTS #340215 ; ';mm S
© { R - 21—4" _ -
" o |
T > TYP. S.S. INSIDE CORNER TRIM #397020
Tl %
i | > ©
! BURN ROOM F.0. STUDS ° ®
- TYP. #3350226 [
R
£ ) /[ I S |
g TYP. 5.5 OUTSIDE CORNER TRIM #397030 S The airborne particulate generated by handling Westec insulation blanket
© . requires the use of appropriate respiratory protection, pursuant to the
X PLACE CEILING PROBES DIRECTLY ABOVE | requirements of OSHA standards 29 CFR 1910-134 and 29 CFF
il | INTENDED SEAT OF THE FIRE. SEE PAGE 17 | T 1926—10{5, is recommended. ‘Pleose review the l\_/loteri.ol Safety Data
| (OR TYPICAL CEILING PROBE DETAL (00 NOT a | mstotion for & compiete deseription of al requred "protection _
o o) | L )
N A > o
h TYP. S.S. WALL PANELS #397201 “ The airborne particulate generated by cutting or trimming Westemp panels %] §
1 \ requires the use of dust masks such as the 3M 8511 N—95 or / \ S —
] equivalent. Please review the Material Safety Data Sheet prior ><
‘ NOTE: EXACT LOCATION OF BURN ROOM STUDS MUST - ! (located in erection manual) to working with Westemp for a complete E %
o BE MAINTAINED TO SUPPORT BURN ROOM ROOF JOISTS ° description of dll required protection. = o3
™~ ~ %2} Yo R
22'-0" N RN < 4
y PLACE WALL PROBE DIRECTLY NEXT TO SEAT H ‘ B l S ; 0 ;
. OF FIRE (APPRX 5—=0" ABOVE FLOOR LEVEL), i ° 9 a9 b0 : . o
¥ SEE PAGE 17 FOR TYPICAL WALL PROBE ] NN A" SECTION THRU BURN ROOM =2z 8 =
ol ® ' DETAIL (DO NOT INSTALL IN CEILING) = - — 0 s T < 8
o o © SCALE: 1/2" = 1'-0 T2 E 3
F{ BURN ROOM STUDS #330216 m F} FASTEN SUPPORTS TO ROOF JOISTS - § 7 é g
: : WITH (2) #12 x 3/4” SCREWS L sl ®Z
4 . Tl 4760600 AT EACH JOIST 2 £3 9483
| | STUDS #330214 o, Jo L Jo L y—0” - % sz 8 o &
99 D) ” 2] © a
I ] ] 47 x 2" 20 GA. "CEE / ROOF PANEL SUPPORT #340072 = E8 Tz 2
w0 ce) » 3 » ) o w = W = W
N N ROOF PANEL SUPPORT #340073 4" x 2.1/2" 16 GA. "ZEE o & i =
T LINER PANEL #466309600 T 6" x 2 1/2" 16 GA. "ZEE” ROOF PANEL SUPPORT #340071 - e nm e ==
' ‘ ” » b »
‘ itk | gy [ | l 2" x 4" 16 GA. "HAT
ROOF PANEL SUPPORT #340074 - __ I ! ___——— EAVE ANGLE #340070 w o ~
- R ” 1 b2l b2l T T T T i ") 99 m -~
X PLACE CEILING PROBES DIRECTLY ABOVE ¥ ;ASXT;N ;g \(/BviLL CSETEUDS 47 x 4016 GA. LL] N
o INTENDED SEAT OF THE FIRE. SEE PAGE 17/ o ) \ - - FASTEN TO JOIST TRACK — = m%g
“m FOR TYPICAL CEILING PROBE DETAIL (DO NOT “m WITH (2) #12 x 3/4" SCREWS WITH #12 x 3/4” SCREWS —_c 0%©0o
INSTALL ON WALL) #/60600 AT EACH STUD 4760600 AT 1'—0" O.C. — - %ng
| —_ \ 4 0 N oE
k y ] ] - | —_— — = ® .5
: \QL FINISH TRIM - #358140 . JOIST END TRACKS #340004 BURN ROOM DOOR - O = WEEh
T oxr © o
, T _ ~ Al , s, gasoa ~ e | <CEL L
1 : : =] E : 2] 4" x 3" 20 GA. "CEE” y TYP. S.S. CEILING PANELS #397256 LL. .. §%;g§
x 1 X o R =1=
© — T S
. ] . Ll | =97¢5
~ ~ . m — W™
. : i w | E2P4E
FASTEN TO DOOR WITH—— — - heo R — L gggz
#12 X %" HEX HEAD ‘ﬁ‘ LL. Do <
4760600 12” 0.C. - = .S
” ’ ” — 13'-8" - 3 i 9 VE
61/2" 20" | 2-00 | r-8 | | 2 3¥-01/4 | o2-0" | 2-0" |7 77 BRUSH SEAL—— | | ' M b L'J§
\6 1/4 | #392022 — y C&s
g L 4
14'—4” OUT TO OUT OF STUDS FINISHED FLOOR\ % é'
BURN ROOM PLAN & STUD LOCATIONS 4 N\ '
SCALE: 1/2" = 1'=0” TYPICAL BURN ROOM DOOR DETAIL
FRAMED OPENING SILL & HEAD CHANNELS _ 14'=4" _ scale: 1 1/2" = 1'=0”
DOOR STOP ANGLE #381000 9 3 <
FASTEN TO JAMBS, SILL & HEADER B® SECTION THRU BURN ROOM ROOF |
WITH #12 x 3/47 SCREWS #760600 SCALE: 1/2" = 10" t n
| (ALSO USE DOOR STOP ' N <
#381000 ON THE INTERIOR — BURN ROOM DOOR HINGE d =
_ IMPORTANT NOTE: PLACE PIVOT POINT
ATTIC NON-BURN SHUTTER ) ONLY INSTALL TWO MACHINE RIGHT NEXT TO F.0. TRIM TO ENSURE Q ™ =
T FRAMED OPENING TRIM #381140 SCREWS IN THE OUTER HOLES.—, | PROPER SCREW ATTACHMENT TO JAMB. O S
5 5/8n_l;lﬂ AND FASTEN WITH POP RIVETS #762011 o AMED OPENING = = o
TYP. ” Lol <
@ 18" ON CENTER EACH FLANGE OF TRIM SSHUTTER ! lfTRIM STUD WALL TRACK #330000 . O == &
SECTION THRU HEAD ] ~_ 2 S ® _ . 4”7 x 2" 20 GA. CHANNEL % O 8 — s
e WALL PANEL 2 5/ - = AR e
MITER TOP CORNERS ! h | @ Ll = o k=
OF THE FRAMED I FRAMED OPENING STUD S/E z YO0R STOP ~—WALL STUDS #330216 FASTEN HEADER TO F.0. STUDS WiITH (4) JS = 3 5 52
OPENING TRIM 1 SECTION THRU JAMB i 331000 4" x 3" 20 GA. "CEE” JOIST CLIPS #340001 PER HEADER AND (8) §3 5
381140 INSTALL 1,/4”—=20 x 1" COUNTERSUNK— | 2 # »
# 0 M2 x 3/4” SCREWS #760600 PER CLIP —
MACHINE SCREWS #392001 AND WHIZ _ | ~ FASTEN STUDS TO TRACK RIS ate: DECEMBER 10, 2021
| FRAVED OPENNG SLL TRI/CHAFE RAIL 0TS gsoae Ol o ces ey | (0 12 % 5/ 8D\ ST UL ks
INSTALL END CAP (3040 SHUTTER) #381660 e ] STRUCTURAL HEADER (2) 10 3/4 ' WDM
4380260 #392002 IN PLACE OF WHIZ NUTS. , SCREWS #760600 AT EACH x 27 "CEE’s” #330002 or (2) Thecked By
AND FASTEN WITH ONLY FASTEN ONE LEG OF | END OF EACH STUD 3 16 3/4” x 27 "CEE's” #330003 SPW
— ANGLE #397030 TO STUD AS TN N\ — . Scale:
POP RIVETS #/6207/1 WALL PANEL SHOWN WITH %"—14 x 2” SUPPORT ANGLE #397015 ——— STUD WALL TRACK #330000 STUD WALL TRACK #330000 SHOWN
SCREWS #397005 @ 9” 0.C. MAX. 3, » » Order No.
SECTION THRU SLL ' SCREW 4760800 4 x 2° 20 GA. CHANNEL 0220 CA CHANNEL __ Fret79e / 24438
Sheet No.
BURN RM. SHUTTER/SWING DOOR TRIM DETAILS SECTION THRU. JAMB (BURN ROOM ONLY) TYPICAL BURN ROOM STUD CONNECTION TYPICAL BURN ROOM HEADER

SCALE: 3/4” = 1'=0” ccale: 3 = 1'—0" scale:  11/2" = 1'-0" scale: 1.1/2" = 1'-0" 15 of 25



AutoCAD SHX Text
ANNEX BURN ROOM DETAILS

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
LINER PANEL #466309600

AutoCAD SHX Text
BURN ROOM STUDS #330216

AutoCAD SHX Text
BURN ROOM PLAN & STUD LOCATIONS

AutoCAD SHX Text
SCALE:  1/2" = 1'-0"

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
EAVE ANGLE #340070

AutoCAD SHX Text
"B" SECTION THRU BURN ROOM ROOF

AutoCAD SHX Text
STUDS #330214

AutoCAD SHX Text
4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
JOIST END TRACKS #340004

AutoCAD SHX Text
ROOF PANEL SUPPORT #340072

AutoCAD SHX Text
4" x 2 1/2" 16 GA. "ZEE"

AutoCAD SHX Text
ROOF PANEL SUPPORT #340071

AutoCAD SHX Text
2" x 4" 16 GA. "HAT"

AutoCAD SHX Text
ROOF PANEL SUPPORT #340073

AutoCAD SHX Text
6" x 2 1/2" 16 GA. "ZEE"

AutoCAD SHX Text
ROOF PANEL SUPPORT #340074

AutoCAD SHX Text
7" x 3" 16 GA. "CEE"

AutoCAD SHX Text
FASTEN TO WALL STUDS

AutoCAD SHX Text
WITH (2) #12 x 3/4" SCREWS

AutoCAD SHX Text
#760600 AT EACH STUD

AutoCAD SHX Text
FASTEN SUPPORTS TO ROOF JOISTS

AutoCAD SHX Text
WITH (2) #12 x 3/4" SCREWS

AutoCAD SHX Text
#760600 AT EACH JOIST

AutoCAD SHX Text
STUDS #330216

AutoCAD SHX Text
4" x 3" 20 GA. "CEE"

AutoCAD SHX Text
FASTEN TO JOIST TRACK

AutoCAD SHX Text
WITH #12 x 3/4" SCREWS

AutoCAD SHX Text
#760600 AT 1'-0" O.C.

AutoCAD SHX Text
BURN ROOM F.O. STUDS

AutoCAD SHX Text
TYP. #330226

AutoCAD SHX Text
"A" SECTION THRU BURN ROOM

AutoCAD SHX Text
SCALE:  1/2" = 1'-0"

AutoCAD SHX Text
4" x 4" 16 GA. 

AutoCAD SHX Text
SCALE:  1/2" = 1'-0"

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
FINISHED FLOOR 

AutoCAD SHX Text
7" BRUSH SEAL #392022

AutoCAD SHX Text
BURN ROOM DOOR 

AutoCAD SHX Text
6  " DOOR PULL 12" DOOR PULL #392020

AutoCAD SHX Text
FASTEN TO DOOR WITH #12 X  " HEX HEAD 34" HEX HEAD #760600 12" O.C. 

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
TYPICAL BURN ROOM DOOR DETAIL

AutoCAD SHX Text
3'-0"

AutoCAD SHX Text
TYP. S.S. WALL PANELS #397201

AutoCAD SHX Text
TYP. S.S. CEILING PANELS #397256

AutoCAD SHX Text
BURN ROOM ROOF JOISTS #340213

AutoCAD SHX Text
JOIST END TRACK #340004

AutoCAD SHX Text
FINISH TRIM #358140

AutoCAD SHX Text
TYP. S.S. INSIDE CORNER TRIM #397020

AutoCAD SHX Text
TYP. S.S. OUTSIDE CORNER TRIM #397030

AutoCAD SHX Text
PLACE WALL PROBE DIRECTLY NEXT TO SEAT OF FIRE (APPRX 5'-0" ABOVE FLOOR LEVEL), SEE PAGE 17 FOR TYPICAL WALL PROBE DETAIL (DO NOT INSTALL IN CEILING)

AutoCAD SHX Text
PLACE CEILING PROBES DIRECTLY ABOVE INTENDED SEAT OF THE FIRE. SEE PAGE 17 FOR TYPICAL CEILING PROBE DETAIL (DO NOT INSTALL ON WALL)

AutoCAD SHX Text
PLACE CEILING PROBES DIRECTLY ABOVE INTENDED SEAT OF THE FIRE. SEE PAGE 17 FOR TYPICAL CEILING PROBE DETAIL (DO NOT INSTALL ON WALL)

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
NOTE:  EXACT LOCATION OF BURN ROOM STUDS MUST BE MAINTAINED TO SUPPORT BURN ROOM ROOF JOISTS

AutoCAD SHX Text
JOIST END TRACK #340004

AutoCAD SHX Text
BURN RM. SHUTTER/SWING DOOR TRIM DETAILS

AutoCAD SHX Text
(3040 SHUTTER) #381660

AutoCAD SHX Text
INSTALL END CAP

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
SECTION THRU SILL

AutoCAD SHX Text
FRAMED OPENING SILL TRIM/CHAFE RAIL

AutoCAD SHX Text
SECTION THRU JAMB

AutoCAD SHX Text
FRAMED OPENING STUD

AutoCAD SHX Text
FRAMED OPENING SILL & HEAD CHANNELS

AutoCAD SHX Text
SECTION THRU HEAD

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
2 5/8"

AutoCAD SHX Text
FRAMED OPENING TRIM #381140

AutoCAD SHX Text
@ 18" ON CENTER EACH FLANGE OF TRIM

AutoCAD SHX Text
AND FASTEN WITH POP RIVETS #762011

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
AND FASTEN WITH

AutoCAD SHX Text
POP RIVETS #762071

AutoCAD SHX Text
#380260

AutoCAD SHX Text
SCALE:  3/4" = 1'-0"

AutoCAD SHX Text
DOOR STOP ANGLE #381000 FASTEN TO JAMBS, SILL & HEADER WITH #12 x 3/4" SCREWS #760600

AutoCAD SHX Text
(ALSO USE DOOR STOP #381000 ON THE INTERIOR ATTIC NON-BURN SHUTTER )

AutoCAD SHX Text
MITER TOP CORNERS OF THE FRAMED OPENING TRIM #381140

AutoCAD SHX Text
STUD WALL TRACK #330000

AutoCAD SHX Text
4" x 2" 20 GA. CHANNEL

AutoCAD SHX Text
WALL STUDS #330216

AutoCAD SHX Text
4" x 3" 20 GA. "CEE"

AutoCAD SHX Text
END OF EACH STUD

AutoCAD SHX Text
WITH (4) #12 x 3/4" S.D.

AutoCAD SHX Text
FASTEN STUDS TO TRACK

AutoCAD SHX Text
TYPICAL BURN ROOM STUD CONNECTION

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
SCREWS #760600 AT EACH

AutoCAD SHX Text
4" x 2" 20 GA. CHANNEL

AutoCAD SHX Text
scale:  1 1/2" = 1'-0"

AutoCAD SHX Text
FASTEN HEADER TO F.O. STUDS WITH (4) JOIST CLIPS #340001 PER HEADER AND (8) #12 x 3/4" SCREWS #760600 PER CLIP

AutoCAD SHX Text
TYPICAL BURN ROOM HEADER

AutoCAD SHX Text
STUD WALL TRACK #330000 4" x 2" 20 GA. CHANNEL

AutoCAD SHX Text
STUD WALL TRACK #330000

AutoCAD SHX Text
STRUCTURAL HEADER (2) 10 3/4" 

AutoCAD SHX Text
x 2" "CEE's" #330002 or (2)

AutoCAD SHX Text
16 3/4" x 2" "CEE's" #330003

AutoCAD SHX Text
SHUTTER

AutoCAD SHX Text
BURN ROOM DOOR HINGE  IMPORTANT NOTE: PLACE PIVOT POINT  PLACE PIVOT POINT RIGHT NEXT TO F.O. TRIM TO ENSURE PROPER SCREW ATTACHMENT TO JAMB. 

AutoCAD SHX Text
SECTION THRU. JAMB (BURN ROOM ONLY)

AutoCAD SHX Text
scale:  3" = 1'-0"

AutoCAD SHX Text
INSTALL 1/4"-20 x 1" COUNTERSUNK MACHINE SCREWS #392001 AND WHIZ NUTS #502910 (ONLY TWO PER HINGE). OBSTRUCTED AREAS USE TOGGLE WINGS #392002 IN PLACE OF WHIZ NUTS.

AutoCAD SHX Text
DOOR STOP #381000

AutoCAD SHX Text
FRAMED OPENING TRIM

AutoCAD SHX Text
ONLY INSTALL TWO MACHINE SCREWS IN THE OUTER HOLES.

AutoCAD SHX Text
SUPPORT ANGLE #397015 FASTEN W/#12 X  " SD 34" SD SCREW #760600

AutoCAD SHX Text
ONLY FASTEN ONE LEG OF  ANGLE #397030 TO STUD AS SHOWN WITH  "-14 x 2"  14"-14 x 2"   2"  SCREWS #397005 @ 9" O.C. MAX.

AutoCAD SHX Text
The airborne particulate generated by handling Westec insulation blanket

AutoCAD SHX Text
requires the use of appropriate respiratory protection, pursuant to the 

AutoCAD SHX Text
requirements of OSHA standards 29 CFR 1910-134 and 29 CFF 

AutoCAD SHX Text
1926-103, is recommended. Please review the  Material Safety Data 

AutoCAD SHX Text
Sheet prior (located in erection manual) to working with  Westec 

AutoCAD SHX Text
insulation for a complete description of all required  protection.

AutoCAD SHX Text
The airborne particulate generated by cutting or trimming Westemp panels

AutoCAD SHX Text
requires the use of dust masks such as the 3M 8511 N-95 or 

AutoCAD SHX Text
equivalent. Please review the Material Safety Data Sheet prior 

AutoCAD SHX Text
(located in erection manual) to working with Westemp for a complete 

AutoCAD SHX Text
description of all required protection.

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
15 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


WALL BATTEN NOTE: STUFF ——WALL STUDS

STRAP BRACING

FIRE FACILITIES, INC.
314 WILBURN ROAD, SUN PRAIRIE, WI 53590
OFFICE: (608) 327—4100 FAX: (608) 834—1843

REVISIONS by
8" 2'—11 7/8" 3-0 1/4" 4-11 7/8" FASTEN SUPPORT ANGLE” #397015 L 41/2" min
FASTEN WITH #12 x 3/4" SD
SCREW #760600 (9” 0.C) SOOF JOISTS
G 1-9” / ' 2”7 WESTEC INSULATION #397010 /// § NOTE: o
STUDS #330209 1'—5” "‘ (PUSH/EXTEND CEH_'NG |NSULAT|ON TO FACE OF WAI_I_ STUDS)/ >/STUFF 2” X 24” WlDE |NSULAT|ON E §§ %
) NOTE: / BETWEEN CEILING & ZEE BEFORE o §g i
—T B :"|| | : STUFF 2” WIDE x (CONTINUOUS LENGTH INSULATION\/\ _ I INSTALLING CEILING INSULATION & PANELS é E% :
- - T ' = I (AFTER WALL & CEILING PANELS ARE IN PLACE) | = ” & 3
(1) #x4 WESTEMP PANEL AT CEILING N \ 1T 7 \ 3” MIN SPACING FROM ¢ 3
OUTSIDE OF THIS BURN ROOM DOOR = S.S. WALL PANELS #397196 | w o) EDGE OF S.S. PANELS TO ° 2
] S.S. CORNER TRIM #397030 — - North arrow for reference only — UNDERSIDE OF JOIST
e S.S. WALL PANELS #397211 ﬂ ) coordinate actual orientation on site
il S.S. WALL PANELS #397196 il - FASTEN 16 GA. CORNER TRIM #397020 WITH %gEGéHgN—,JE/E #§9176862
: 1/4"—14 x 3/4”7 S.S. HEX HEAD SELF DRILLING SCREW
PLACE CEILING PROBES DIRECTLY ABOVE . 4 /o »
INTENDED SEAT OF THE FIRE. SEE PAGE 18 = 5, #397008 @ 6—1/2" 0.C. (ONLY FASTEN TO CEILING PANELS) 2”7 INSULATION #397010
FOR TYPICAL CEILING PROBE DETAIL > > (USE TRIM #397025 WHEN CEILING PANEL RUNS IN THE )
(DO NOT INSTALL ON WALL) o : © OPPOSITE DIRECTION SHOWN) S BATTEN #329/03
W 5 F.0. STUDS #330219 " N
: / TYP. S.S. OQUTSIDE CORNER TRIM #397030 \\ 5 24 GA. CORRUGATED STAINLESS STEEL PANEL
— |
........... =i BURN ROOM 2 E F R
| INTERIOR OF ROOM IS LINED PLACE CEILING PROBES DIRECTLY ABOVE SUPPORT ANGLE #397015 . .
WITH WESTEC INSULATION INTENDED SEAT OF THE FIRE. SEE PAGE 17 "y =
| FOR TYPICAL CEILING PROBE DETAIL (DO >
FINISHING TRIM #358140 STAINLESS STEEL PANELS g NOT INSTALL ON WALL) - —SUPPORT ANGLE #397015 = §
. )<—— S.S. WALL PANELS #397211 ] > //’/ = &
N 1 bR
N ) STUDS #350209 i FASTEN STAINLESS STEEL PANELS WITH /4'—14 x 2 S , == ?
o ; S.S. WALL PANELS #397196 — = 0 STAINLESS STEEL HEX HEAD SELF DRILLING SCREWS ﬁ\IS>L<JL2AT|>E)I\112#3v€;|—:780I%C - S 2 &
o TYP. S.S. INSIDE CORNER TRIM #397020 #59/005 @ EVERY ZEE CHANNEL @ 6° 0.C. MAX. SPACING ’ \\\ // N e % g
L P = I
LINER PANEL #466309600 S.S. WALL PANELS #397211 FASTEN 16 GA. STAINLESS STEEL CORNER TRIM \ FASTEN 1-1/2" x 1-1/2" o g = = =
(TSHJFLSJDS‘;SlD;:‘)ggZéVQ)LL ONLY I M:AM N #397030 WITH 1/4"—14 x 3/4” S.S. HEX HEAD SELF , \ 20 GA. ZEE 'CHANNEL ‘#397000 -2 E 3 i
(F.0. STUDS #330219) : =] E : : e — 1 DRILLING SCREWS #39/008 @ EVERY 6—1/2” 0.C. // : v WITH #12 x 3/4” HEX HEAD 2" « 4”7 STUD 4330312 WITH E %l § = b
(STUDS SIT ON JOISTS) ti I N (ONLY FASTEN ONE LEG TO WALL PANEL) : = \ SELF DRILLING SCREWS STUD WALL TRACK #330000 T E =z = §
- ’ | #760600 @ EVERY STUD "X 2”30 GA. CHANNEL 533 8 ¢
= LINER PANEL #466311000 [ 1”7 MIN SPACING FROM EDGE STUD\ e | | TOP AND BOTTOM OF STUD =4 7 e Z
THIS SIDE OF WALL ONLY TO OF EDGE S.S. PANELS CHANNEL ! FASTEN STUDS TO TRACK Z € 39 90
(STUDS #530209) ——FINISHING TRIM #358140 : WITH (2) #12 x 3/4" S.D. oo - =
TYPICAL AT PANEL CORNERS (F0. STUDS #330219) ’ SCREWS' #760600 AT EACH 285 z82¢E
’ ) ’ ] (STUDS SIT ON JOISTS) FASTEN BATTEN STRIPS #329703 (FIELD CUT AS NEEDED) 1-1/2" MIN SPACING FROM END OF EACH STUD = BN
g" | 1'-9 3/4 3-01/4 6'-2" —%AgEAVTV%F IEIRRCE)B(EAIE’)IL’RREXCEI—’YO,\’I’EXT WITH #8-18 x 1-5/8" PHILIPS WAFER HEAD S.D. SCREW \\ / EDSGEPSA[T\]UE[ESTgHaFNNEEDLGE 5y IE
— m Phd .S. (a O
ABOVE FLOOR LEVEL), SEE PAGE 17 #/60613 @ MAX. 24" O.C. DR 22 E 2 &
o FOR TYPICAL WALL PROBE DETAIL = e ™o < =
1-8 (DO NOT INSTALL IN CEILING)
- 3
9 9 5
SECOND FLOOR BURN ROOM DETAIL "C" SECTION THROUGH BULK HEAD LL] - i
— o=
scale:  1/2" = 1'-0" scale: 1" = 1'=0" —c 88_
jo =
FASTEN STUD TRACK @ EACH JOIST WITH — 5
3" MIN SPACING FROM FASTEN CORNER TRIM ™ (2) #12 x 3/4” S.D. SCREWS #760600 QOQO= n
EDGE OF S.S. PANELS TO #397015 W/ #12 X 3/4 = 5
UNDERSIDE OF JOIST (#760600) @ EVERY . < = g
JOIST — o)
9” WIDE INSULATION WRAP BEHIND — l-l— LI 2
o
LLl —
iy
Ll
]
L.~
w

5
<
L
m
i
-
o
4" x 27 20 GA. "CEE” ©Z
BEFORE INSTALLING BATTEN #éég\?vgéNlNJ%Té% CASTEN STUDS TO TRACK /\]¥—/ QS.
WITH (2) #12 x 3/4” S.D. /ﬂl“/ EQ
I SCREWS #/60600 AT EACH ] NS
N o — T END OF EACH STUD SIUD V’V’ALL TRACK #330000 22
\; . TS 47 x 27 20 GA. CHANNEL o ”C” S
\ / T~ -+ —+4-—= 8%
N B // L
— WALL STUD . Y, WE:
- BULK HEAD STUD CONNECTION - =
/ S.S. WALL PANELS #397113 | S.S. WALL PANELS #397113 — ™ K -
6—1/4" MIN SPACING FROM / ' ' ' ' ' ' A ' A ]
FACE OF STUD TO EDGE OF / i _ L L L L '>\ -
CEILING S.S. PANELS 9'—11" 9'—11" ol | \ ; W8X10 BEAM
T~—W14X34 BEAM =+ \
FASTEN 57 x 57 BOX CORNER TRIM #397025 | \ T
FASTEN WITH 1/4"—14 x 3/4” S.S HEX HEAD S.D. TYP. S.S. CEILING PANELS #397210 ¥”c” TYP. S.S. CEILING PANELS #397210 <
(#397008) @ 6—1/2" 0.C. ON_BOTH LEGS |
(THIS BOX TRIM ONLY) TYP. S.S. CEILING PANELS #397210 WALL STUDS (TYP. SPACED @ 2') t g
”» L 4" x 27 20 GA. "CEE” #330312
2" INSULATION #397010 —— WALL STUDS (TYP. SPACED @ 2°) | %
. 4”7 x 2" 20 GA. "CEE” #330312 - L ©
"l’ (SEE BULK HEAD STUD CONNECTION DETAIL ABOVE) NI) =) ) 9
> o © = O - =
The airborne particulate generated by handling Westec insulation blanket © @ > ;‘ g
requ'!res the use of appropriate respiratory protection, pursuant to the INTERIOR STUD WALL #330209 L
requirements of OSHA standards 29 CFR 1910-134 and 29 CFF . O = = %
1926—-103, is recommended. Please review the Material Safety Data 'N3T§§2'%g STUD WALL ” EXTERIOR STUD WALL EXTERIOR STUD WALL .§ O O F~ @)
Sheet prior (located in erection manual) to working with Westec # -% ¥ = 8 o=
insulation for a complete description of all required protection. 11'—4” § Ll L = QZ:
110" 2 = 8 % =
S %
S . e | | L Date: DECEMBER 10, 2021
J L L. L. L. L L Drawn by: WDM
I Checked by: SPW
The airborne particulate generated by cutting or trimming Westemp panels . . - Scale:
requires the use of dust masks such as the 3M 8511 N—95 or ' SHOWN
equivalent. Please review the Material Safety Data Sheet prior 1 12°-0" Srder No
(located in erection manual) to working with Westemp for a complete " FTE-796 / #244368
aailaldbb Sk "A” SECTION THRU 2ND FLOOR BURN ROOM "B” SECTION THRU 2ND FLOOR BURN ROOM sheet e

scale: 1/2" = 1'-0" scale:  1/2" = 1'=0" 16 Of 25



AutoCAD SHX Text
BURN ROOM DETAILS CONT.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
SECOND FLOOR BURN ROOM

AutoCAD SHX Text
scale:  1/2" = 1'-0"

AutoCAD SHX Text
"A" SECTION THRU 2ND FLOOR BURN ROOM

AutoCAD SHX Text
scale:  1/2" = 1'-0"

AutoCAD SHX Text
W14X34 BEAM

AutoCAD SHX Text
INTERIOR STUD WALL

AutoCAD SHX Text
#330209

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
TYP. S.S. CEILING PANELS #397210

AutoCAD SHX Text
scale:  1" = 1'-0"

AutoCAD SHX Text
DETAIL "C" SECTION THROUGH BULK HEAD

AutoCAD SHX Text
2" x 4" STUD #330312 WITH

AutoCAD SHX Text
EXTERIOR STUD WALL

AutoCAD SHX Text
TYP. S.S. CEILING PANELS #397210

AutoCAD SHX Text
S.S. WALL PANELS #397113

AutoCAD SHX Text
insulation for a complete description of all required  protection.

AutoCAD SHX Text
Sheet prior (located in erection manual) to working with  Westec 

AutoCAD SHX Text
1926-103, is recommended. Please review the  Material Safety Data 

AutoCAD SHX Text
requirements of OSHA standards 29 CFR 1910-134 and 29 CFF 

AutoCAD SHX Text
requires the use of appropriate respiratory protection, pursuant to the 

AutoCAD SHX Text
The airborne particulate generated by handling Westec insulation blanket

AutoCAD SHX Text
The airborne particulate generated by cutting or trimming Westemp panels

AutoCAD SHX Text
requires the use of dust masks such as the 3M 8511 N-95 or 

AutoCAD SHX Text
(located in erection manual) to working with Westemp for a complete 

AutoCAD SHX Text
equivalent. Please review the Material Safety Data Sheet prior 

AutoCAD SHX Text
description of all required protection.

AutoCAD SHX Text
1" MIN SPACING FROM EDGE STUD 

AutoCAD SHX Text
TO OF EDGE S.S. PANELS CHANNEL

AutoCAD SHX Text
FASTEN BATTEN STRIPS #329703 (FIELD CUT AS NEEDED) 

AutoCAD SHX Text
WITH #8-18 x 1-5/8" PHILIPS WAFER HEAD S.D. SCREW 

AutoCAD SHX Text
#760613 @ MAX. 24" O.C.

AutoCAD SHX Text
FASTEN 1-1/2" x 1-1/2" x 10'

AutoCAD SHX Text
20 GA. ZEE CHANNEL #397000  

AutoCAD SHX Text
WITH #12 x 3/4" HEX HEAD 

AutoCAD SHX Text
SELF DRILLING SCREWS 

AutoCAD SHX Text
#760600 @ EVERY STUD

AutoCAD SHX Text
2' x 2' x 12' WESTEC 

AutoCAD SHX Text
INSULATION #397010

AutoCAD SHX Text
1-1/2" MIN SPACING FROM  EDGE STUD TO OF EDGE  S.S. PANELS CHANNEL

AutoCAD SHX Text
24 GA. CORRUGATED STAINLESS STEEL PANEL 

AutoCAD SHX Text
3" BATTEN #329703

AutoCAD SHX Text
2" INSULATION #397010

AutoCAD SHX Text
20 GA. 1-1/2" x 1-1/2"

AutoCAD SHX Text
ZEE CHANNEL #397000

AutoCAD SHX Text
3" MIN SPACING FROM  EDGE OF S.S. PANELS TO  UNDERSIDE OF JOIST

AutoCAD SHX Text
ROOF JOISTS

AutoCAD SHX Text
SUPPORT ANGLE #397015 

AutoCAD SHX Text
SUPPORT ANGLE #397015 

AutoCAD SHX Text
FASTEN STUDS TO TRACK

AutoCAD SHX Text
WITH (2) #12 x 3/4" S.D.

AutoCAD SHX Text
SCREWS #760600 AT EACH

AutoCAD SHX Text
4" x 2" 20 GA. CHANNEL

AutoCAD SHX Text
STUD WALL TRACK #330000

AutoCAD SHX Text
END OF EACH STUD

AutoCAD SHX Text
TOP AND BOTTOM OF STUD

AutoCAD SHX Text
2" INSULATION #397010

AutoCAD SHX Text
9" WIDE INSULATION WRAP BEHIND WALL BATTEN NOTE: STUFF NOTE: STUFF BEFORE INSTALLING BATTEN

AutoCAD SHX Text
WALL STUD

AutoCAD SHX Text
JOIST

AutoCAD SHX Text
"C"

AutoCAD SHX Text
S.S. WALL PANELS #397113

AutoCAD SHX Text
INTERIOR STUD WALL #330209

AutoCAD SHX Text
EXTERIOR STUD WALL

AutoCAD SHX Text
TYP. S.S. CEILING PANELS #397210

AutoCAD SHX Text
W8X10 BEAM

AutoCAD SHX Text
"C"

AutoCAD SHX Text
"B" SECTION THRU 2ND FLOOR BURN ROOM

AutoCAD SHX Text
scale:  1/2" = 1'-0"

AutoCAD SHX Text
STRAP BRACING #340002 INSTALL BETWEEN JOISTS

AutoCAD SHX Text
FASTEN CORNER TRIM #397015 W/ #12 X 3/4" (#760600) @ EVERY JOIST

AutoCAD SHX Text
NORTH

AutoCAD SHX Text
North arrow for reference only - coordinate actual orientation on site

AutoCAD SHX Text
WALL STUDS (TYP. SPACED @ 2') 4" x 2" 20 GA. "CEE" #330312

AutoCAD SHX Text
FASTEN 5" x 5" BOX CORNER TRIM #397025  FASTEN WITH 1/4"-14 x 3/4" S.S HEX HEAD S.D. (#397008) @ 6-1/2" O.C. ON BOTH LEGS  ON BOTH LEGS  (THIS BOX TRIM ONLY) 

AutoCAD SHX Text
FASTEN 16 GA. STAINLESS STEEL CORNER TRIM  #397030 WITH 1/4"-14 x 3/4" S.S. HEX HEAD SELF 1/4"-14 x 3/4" S.S. HEX HEAD SELF  S.S. HEX HEAD SELF DRILLING SCREWS #397008 @ EVERY 6-1/2" O.C.  (ONLY FASTEN ONE LEG TO WALL PANEL)ONLY FASTEN ONE LEG TO WALL PANEL))

AutoCAD SHX Text
FASTEN 16 GA. CORNER TRIM #397020 WITH   1/4"-14 x 3/4" S.S. HEX HEAD SELF DRILLING SCREW  S.S. HEX HEAD SELF DRILLING SCREW #397008 @ 6-1/2" O.C. (ONLY FASTEN TO CEILING PANELS) (ONLY FASTEN TO CEILING PANELS) (USE TRIM #397025 WHEN CEILING PANEL RUNS IN THE OPPOSITE DIRECTION SHOWN)

AutoCAD SHX Text
2" WESTEC INSULATION #397010  (PUSH/EXTEND CEILING INSULATION TO FACE OF WALL STUDS)

AutoCAD SHX Text
FASTEN SUPPORT ANGLE #397015  FASTEN WITH #12 x 3/4" SD SCREW #760600 (9" O.C)

AutoCAD SHX Text
NOTE:  STUFF 2" WIDE x (CONTINUOUS LENGTH INSULATION) (AFTER WALL & CEILING PANELS ARE IN PLACE)

AutoCAD SHX Text
NOTE:  STUFF 2" x 24" WIDE INSULATION BETWEEN CEILING & ZEE BEFORE INSTALLING CEILING INSULATION & PANELS

AutoCAD SHX Text
FASTEN STAINLESS STEEL PANELS WITH  "-14 x 2"  14"-14 x 2"  STAINLESS STEEL HEX HEAD SELF DRILLING SCREWS  #397005 @ EVERY ZEE CHANNEL @ 6" 0.C. MAX. SPACING 

AutoCAD SHX Text
FASTEN STUD TRACK @ EACH JOIST WITH (2) #12 x 3/4" S.D. SCREWS #760600

AutoCAD SHX Text
STUD WALL TRACK #330000 4" x 2" 20 GA. CHANNEL

AutoCAD SHX Text
BULK HEAD STUD CONNECTION

AutoCAD SHX Text
WALL STUDS  4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
FASTEN STUDS TO TRACK WITH (2) #12 x 3/4" S.D. SCREWS #760600 AT EACH END OF EACH STUD

AutoCAD SHX Text
WALL STUDS (TYP. SPACED @ 2')  4" x 2" 20 GA. "CEE" #330312  (SEE BULK HEAD STUD CONNECTION DETAIL ABOVE) 

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
16 of 25

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
BURN ROOM 2

AutoCAD SHX Text
STAINLESS STEEL PANELS

AutoCAD SHX Text
WITH WESTEC INSULATION

AutoCAD SHX Text
INTERIOR OF ROOM IS LINED

AutoCAD SHX Text
S.S. WALL PANELS #397196

AutoCAD SHX Text
S.S. WALL PANELS #397211

AutoCAD SHX Text
S.S. WALL PANELS #397196

AutoCAD SHX Text
S.S. WALL PANELS #397211

AutoCAD SHX Text
S.S. WALL PANELS #397211

AutoCAD SHX Text
S.S. WALL PANELS #397196

AutoCAD SHX Text
S.S. CORNER TRIM #397030 

AutoCAD SHX Text
TYP. S.S. INSIDE CORNER TRIM #397020

AutoCAD SHX Text
TYP. S.S. OUTSIDE CORNER TRIM #397030

AutoCAD SHX Text
PLACE WALL PROBE DIRECTLY NEXT TO SEAT OF FIRE (APPRX 5'-0" ABOVE FLOOR LEVEL), SEE PAGE 17 FOR TYPICAL WALL PROBE DETAIL (DO NOT INSTALL IN CEILING)

AutoCAD SHX Text
PLACE CEILING PROBES DIRECTLY ABOVE INTENDED SEAT OF THE FIRE. SEE PAGE 17 FOR TYPICAL CEILING PROBE DETAIL (DO NOT INSTALL ON WALL)

AutoCAD SHX Text
FINISHING TRIM #358140

AutoCAD SHX Text
CORNER TRIM #358340 TYPICAL AT PANEL CORNERS

AutoCAD SHX Text
LINER PANEL #466311000 THIS SIDE OF WALL ONLY  (STUDS #330209) (F.O. STUDS #330219) (STUDS SIT ON JOISTS)

AutoCAD SHX Text
STUDS #330209

AutoCAD SHX Text
PLACE CEILING PROBES DIRECTLY ABOVE INTENDED SEAT OF THE FIRE. SEE PAGE 18 FOR TYPICAL CEILING PROBE DETAIL  (DO NOT INSTALL ON WALL)

AutoCAD SHX Text
(1) 4'x4' WESTEMP PANEL AT CEILING OUTSIDE OF THIS BURN ROOM DOOR

AutoCAD SHX Text
F.O. STUDS #330219

AutoCAD SHX Text
FINISHING TRIM #358140

AutoCAD SHX Text
LINER PANEL #466309600  THIS SIDE OF WALL ONLY  (STUDS #330209) (F.O. STUDS #330219) (STUDS SIT ON JOISTS)

AutoCAD SHX Text
STUDS #330209

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


IMPORTANT: ONLY OVERLAP PANELS WITH —7//
RECESS TOWARDS BATTENS/ZEES AND /
FASTEN THROUGH THIS RECESS [

REVISIONS by

2”7 WESTEC INSULATION #397010
(PUSH/EXTEND CEILING INSULATION TO FACE OF WALL STUDS)

ROOF JOISTS

NOTE: STUFF 2" x 24" WIDE o
INSULATION BETWEEN CEILING N
& /ZEE BEFORE INSTALLING 4

24 GA. CORRUGATED
STAINLESS STEEL PANEL

IMPORTANT NOTES:
1. CEILING PANELS FASTEN EXACTLY THE SAME AS WALL PANELS.
2. ALL MIN GAPS SHOWN ON THIS PAGE MUST BE HELD TO ENSURE

NOTE:

FASTEN 16GA. STRAP BRACING (#340002)

; — STUFF 2” WIDE x (CONTINUOUS LENGTH INSULATION) .
BETWEEN STUDS WITH #12—3%" HEX HEAD PANELS CAN EXPAND & CONTRACT TO PREVENT PREMATURE DAMAGE. CEILING INSULATION & PANELS / -
, o (AFTER WALL & CEILING PANELS ARE IN PLACE) 5 g
S.D. SCREW (#760600) @ 2' O.C. 3. Zee CHANNEL AND STRAP BRACING SHOULD ONLY BE FASTENED WITH NON I Beq &
STAINLESS STEEL SCREWS (#760600). ONLY SCREWS DIRECTLY EXPOSED TO o 3" BATTEN #329703 Toh
DIRECT FLAMES SHOULD BE STAINLESS STEEL (#397008 OR 397005) I £28 «
WALL STUD - , , \ 238 3
20 GA. 1-)" x 1=} —— oor &
_\ f A . ///—FASTEN 16 GA. STAINLESS STEEL CORNER TRIM 7EE CHANNEL #397000 FASTEN 16 GA. CORNER TRIM #397020 WITH £ 3
1 | IHHHAS 4397020 WITH 1/4"=14 x 3/47 S.S. HEX HEAD 5 1/4"=14 x 3/4” S.S. HEX HEAD SELF -
| LT \ SELF DRILLING SCREWS #397008 @ EVERY 9” i 27 INSULATION #597010 DRILLING SCREW #397008 @ 6—1/2" 0O.C.
4 . : ' N o¢ (ONLY FASTEN ONE LEG TO WALL PANEL)  >'UD WALL — - ; (ONLY FASTEN TO CEILING PANELS)
A e 7\ I S di e T N
|| A A 1|/ . 7 2” INSULATION #397010 : 24 GA. CORRUGATED STAINLESS STEEL PANEL
» ) , ] / # Ve e 1
2 x 2 x 12 WESTEC — o ° o 41/2" MIN J —
INSULATION #397010 1 _———FASTEN STAINLESS STEEL PANELS WITH E’\ I: I: I: r
= . 1/4”—14 x 2" STAINLESS STEEL HEX HEAD T : e . : =
¥ L] ” | ~ |5
p—_— . Il N SELF DRILLING SCREWS #397005 @ EVERY 2 N e o STNID B
] — ' | I e il ZEE CHANNEL @ 10" 0.C. MAX. SPACING UNDERSIDE OF JOIST S N A
o L -, M <>(
I I ‘ S L , | DIRECTLY ABOVE INTENDED .
Al 1 . ' i | SEAT OF THE FIRE.
I 1 /// WESTEC INSULATION: #597010 FASTEN 16 GA. S.S CORNER TRIM #397020 S PLACE WALL PROBE DIRECTLY -
L 'E . X 1 . %! WITH 1/4"—14 x 3/4” S.S HEX HEAD S.D. J ' B’/— NEXT TO ’SEA”T OF FIRE = §
= = N . SCREWS #397008 @ EVERY 9” 0.C. " | ' (APPRX 5'=0" ABOVE FLOOR LEVEL) = =
. = l | (11111 + I \ (ONLY FASTEN ONE LEG TO WALL PANEL) g H H £ B
. 1 o ° ‘ ‘:\\ > ) " . E
: PLAN VIEW OF TYPICAL WALL CORNER o & N I
I {11 - FASTEN 20 GA STAINLESS STEEL - — ~ R 3 % 3 T o
i ‘ ] BOTTOM PANEL TRIM #397040 WITH SCALE: 57 = 170 — OVERLAP ALL TOP CORNER TRIMS | ; i} 5 s 2303
® o _ i | =
1 A : E)QLUN% gc:;gvs S’§§7HOEOX8 HchEDVESREYLFsa” 0.C (#397020 OR #397025) AS SHOWN | | 9 g i g
' | | # L MAKE SURE SCREWS ARE 1" MIN. AWAY 5 n = S g
/7 16GA. S.S. CORNER FROM ENDS OF TRIMS AS SHOWN. ~ @ '2(—: g E &
z S 2
juss @ S, I \ << <+ .
AT ALL PANELS SEAMS FASTEN STAINLESS STEEL STRAP BRACING 7 s () -7 8 oz
| 3 /////// \ . < I l 7 I o w29~ S
. PANELS WITH 1/4"-14 x 3/4” S.S HEX HEAD SELF (#340002) /////////// , - Q Z £33 9 8 3
” ///// // 7 = - x . v
‘yl‘/ 2” « 2' x 12 WESTEC E)RILLING SCREWS #397008 \/ERTICALLY AT 8” 0.C. 20 GA. BOTTOM TRIM //4/////////%///%//%////////// o~ / \ 2 5 =z 3 g =
— INSULATION #397010 ONLY IN BETWEEN THE ZEES (#397040) —Zy 2 o = - > e [ &
S — — — ..
i CORNER TRIM #397025 1’ / 4 é % =0 f E
FASTEN BATTEN STRIPS #329703 (FIELD CUT AS NEEDED) — WALL PANELS (SIMILAR FOR #397ozo> "A” SECTION THRU BURN ROOM I ER 5 ZC
WITH #8-18 x 1 5/8” PHILIPS WAFER HEAD S.D. SCREW WESTEMP BATTEN CWESTEC INSULATION # 2 Lp,
#760615 @ MAX. 247 O.C. (#329703) BN (#397010) TYPICAL TRIM OVERLAP DETAIL SCALE:  1/2" = 1'-0
FASTEN 12" x 1% x 10" 20 GA. ZEE CHANNEL SCALE: 1 1/2" = 1'=0" INSTALLATION PROCEDURE
4397000 WITH #12 x 3/4” HEX HEAD SELF

1. INSTALL BURN SUPPORT ANGLE (#397015) AT THE CEILING/WALL CORNER BUT
ONLY IN CORNERS WHERE A BOX TRIM WILL BE LOCATED
(SEE SECTION "B” UPPER DETAILS)

2. INSTALL ALL (ZEE) CHANNELS FACING IN THE SAME DIRECTION. EXCEPT THE (ZEE)
CHANNELS RIGHT NEXT TO THE WALLS. TOP LEG NEEDS TO FACE THE WALL

3" MIN SPACING FROM
EDGE OF S.S. PANELS TO
UNDERSIDE OF JOIST

DRILLING SCREWS #/60600 @ EVERY STUD

ISOMERIC VIEW OF TYPICAL WALL & CORNER DETAIL

TOP LEG ALWAYS
FACES THE WALL AT
THE SIDES OF A ROOM

(SEE DETAILS)

9” WIDE INSULATION WRAP 3. INSTALL ALL STRAP BRACING @ 2'—0” 0.C. MAX. TO SUPPORT INSULATION ON
BEHIND WALL BATTEN NOTE: WALLS & CEILING

INSTALL/RUN ALL THERMOCOUPLE WIRES.
SI\L-JFI:}ENBEFORE INSTALLING INSTALL/ALL INSULATION WALLS & CEILINGS.

INSTALL ALL 3" WESTEMP BATTENS.
6—1/4" MIN SPACING FROM

INSTALL ALL WALL & CEILING PANELS.
INSTALL ALL 16 GA. VERTICAL INSIDE CORNER TRIMS.
FACE OF STUD TO EDGE OF
CEILING S.S. PANELS

FASTEN CORNER TRIM
4397015 W/ #12 x 3/4”

(#760600) @ EVERY
JOIST

<—FASTEN 20 GA S.S. BTM. PNL TRIM #397040 WITH
1/4"=14 x 3/4” S.S HEX HEAD S.D. SCREWS #397008
@ EVERY 9” 0.C. (DO NOT FASTEN ON CORNER TRIM)

MEORTANT NOTE: TYPICAL WALL BOTTOM CORNER DETAILS

SANDWICH PROBE WITH 17 WESTEC INSULATION (PEEL 2" INSULATION #397010 IN HALF) SCALE: 3" = 1'=0"
HALF OF INSULATION ON BOTTOM OF PAN, PLACE WIRE AND COVER EXPOSED WIRE TOP
WITH REMAINING HALF OF INSULATION THEN PLACE COVER.

DRILL %g” DIA. HOLE FOR crer IV
FASTEN PROBE TO WALL WITH THE PROBE & WIRE

SCALE: 3/4" = 1'=0"

STRAP BRACING
#340002 INSTALL
BETWEEN JOISTS

INFO@ FIREFACILITIES.COM

©CooNO O~

INSTALL ALL BOTTOM TRIM. (SEE DETAILS)
10. INSTALL ALL 16 GA. HORIZONTAL INSIDE CORNER TRIMS. (SEE DETAILS)

11. INSTALL ALL 20 GA. HORIZONTAL INSIDE BOX CORNER TRIM. (SEE DETAILS)
12. INSTALL ALL 16 GA. OUTSIDE CORNER TRIM AROUND DOOR & WINDOWS.

TRIMS AT THE TOP OF WALL PANELS ARE
EITHER BOX OR 90 DEGREES AS SHOWN

BELOW — RULES OF THUMB: 1) ENDS OF

FIRE FACILITIES, INC.
314 WILBURN ROAD, SUN PRAIRIE, WI 53590

DAMAGE TO THE WESTEC SYSTEM CAUSED BY: THE MOUNTING OR PENETRATION OF

(Jp]
(a'
Ll
=
o
|_
(@)
=
=
<
-
|_
Ll
('
L
p— |
Ll
Ll
|_
D

7
—
o
—
O
<
L
L
o
L

OFFICE: (608) 327—4100 FAX: (608) 834—1843
TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639—7012

WWW.FIREFACILITIES.COM;

6) 1/4°—14 3/4” S.S S.D. . ,/ EQUIPMENT (NOT SUPPLIED BY FFI) WHICH IMPEDES THE MOVEMENT OF THE LINER
( ) / ’ / COVER <#329819) / + ‘ ! SYSTEM, OR(THE FAILURE TO MONI)TOR TEMPERATURES AT THE BURN ROOM CEILING, IS
SCREW (#397008) </’(’_'/2 > FASTEN 5° x 5° BOX CORNER TRIM #397025 , NOT COVERED BY THE LIMITED WARRANTY — SEE GUIDELINES IN ERECTION MANUAL.
B — WESTEC INSULATION WITH 1/4"=14 x 3/4” (#397008) @ 6—1/2" ;\ 2T’;P0f
PROBE W/PRE CONNECTED WIRE 7 (#397010) BOTH LEGS (THIS BOX TRIM ONLY) {__ :
(50" #329801) OR (75" #329804) B L FASTEN 16 GA. STRAP BRACING WALL STUD—" N\ .
PAN (#329820) L (#340002) IN BETWEEN JOIST WITH ) b = — = o = e gl
DRILL 13" #12-3/4" S.D. SCREW (#760600) o INSULATION/ A b=t (' 4
- DIA. HOLE LD et N & 4397010 Y PLACE CEILING PROBES
\l P CASTENING CEILING PANEL DIRECTLY ABOVE INTENDED
, Hl _—WALL STUD SEAT OF THE FIRE. i
~—2 / 7 s P WESTEC INSULATION SEE WALL & CORNER A N \ L <
A X S S (#397010) DETAILS FOR PATTERNS ol & i A CORRUGATED I
) 7 WESTEMP BATTEN / ROOF JOIST / 3" BATTEN | I : L %
) // / | L \ CEILING PANELS ™ 9
— . 329703 . ! ] Ly \ =
DRILL (2) %s” DIA. WEEP HOLES (2) LOCKING NUT (#329822) (# 7> ,_\\\\ %%/ 20 GA. 1-3" x 135" C'JF | #329703 < (. H . =
(ON THE UNDER SIDE OF PAN) PROBE COMPRESSION FITTING (#329802) ROOF JOIST —% L S ,,/// NTGCIRARCI ot T 24 GA. CORRUGATED _ &
TYPICAL WALL PROBE DETAIL (DO NOT INSTALL IN CEILING = == P | e P e WALL PANELS 8 | =
S g #397000 \ : ; R= =
e B — FF \ o 3
SCALE: 3" = 1’-0” DS OF —— “* (I ~=soes oF "~ / = 3 >
DRILL %" DIA. HOLE IN /\CEILING PANELS\ \\\\\ ///// . AN / = =
; Y oz \CEILING PANELS ,
THE CEILING PANEL. WESTEC - ) \\\\\ -7 / \\ - : L o
INSULATION \ / AN 24 GA. CORRUGATED B 5 8 = > 2
; Gl T I i - STAINLESS STEEL PANEL =il e Ry I a = o O
FASTEN %" x 3”7 DIA.—— S| #,f/—/ = K 5 0N o, 2
FLOOR FLANGE (#329807) ' - N - N ‘ ‘ 3 g S o %
WITH (2) #12 x %> S.D. < LU \ - | RIS x N 3 O O 3=
SCREWS (#760600) \>T\\~ B U AT e AL OE > ;ate 5
PROBE COMPRESSION ‘m 57 x ? BOX C)ORNER u [ / 58 \\ o DECEMBER 10, 2021
Z TRIM (#397025) FASTEN i RS \ Drawn by
FITTING (#329802) _‘j WITH 1/4”—14 x 3/4” S.S HEX FASTEN 16 GA. STAINLESS STEEL 90 DEGREE | 25 ; VARIES WOM
PROBE WITH CONNECTED WIRE HEAD S.D. (#397008) @ CORNER TRIM (#397020) WITH 1/4"=14 x 3/4 ' z8 | Checked by SPW
(75" #329804) (#397008) @ EVERY 6—1/2" 0.C. 21 2 B SECTION THRU BURN ROOM ROOF Scale SHOWN
: FASTENING WALL PANEL SEE (ONLY FASTEN ONE LEG TO PANEL AS SHOWN) \ : "= 1'—0" Order No.
NOTE: INSTALL PROBE ON THE HIGH RIB ONLY N SCALE: 1/2" = 1"-0 _
WALL & CORNER DETAILS ) / FTE—796 / #244368
['YPICAL CEILING PROBE DETAIL TOP OF CURB Sheet No.

(DO NOT INSTALL ON WALL) TYPICAL WALL TOP CORNER DETAILS

SCALE: 3" = 1’=0" SCALE: 3" = 1'=0"

17 of 25



AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Date

AutoCAD SHX Text
WESTEC BURN ROOM DETAILS

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
 TYPICAL WALL PROBE DETAIL (DO NOT INSTALL IN CEILING)

AutoCAD SHX Text
DRILL (2)  " DIA. WEEP HOLES 116" DIA. WEEP HOLES (ON THE UNDER SIDE OF PAN)

AutoCAD SHX Text
SCALE:  3" = 1'-0"

AutoCAD SHX Text
FASTEN 16 GA. STAINLESS STEEL 90 DEGREE CORNER TRIM (#397020) WITH 1/4"-14 x 3/4" 1/4"-14 x 3/4" S.S HEX HEAD SELF DRILLING SCREWS (#397008) @ EVERY 6-1/2" O.C.  (ONLY FASTEN ONE LEG TO PANEL AS SHOWN)

AutoCAD SHX Text
FASTEN 5" x 5" BOX CORNER TRIM #397025 WITH 1/4"-14 x 3/4" (#397008) @ 6-1/2" O.C.  BOTH LEGS (THIS BOX TRIM ONLY) (THIS BOX TRIM ONLY)

AutoCAD SHX Text
SIDES OF CEILING PANELS

AutoCAD SHX Text
TRIMS AT THE TOP OF WALL PANELS ARE EITHER BOX OR 90 DEGREES AS SHOWN BELOW - RULES OF THUMB: 1) ENDS OF RULES OF THUMB: 1) ENDS OF CEILING PANELS ONLY USE BOX CORNER TRIMS 2) SIDES OF CEILING PANELS ONLY USE 90 CORNER TRIMS

AutoCAD SHX Text
WESTEC INSULATION (#397010)

AutoCAD SHX Text
   DIRECT FLAMES SHOULD BE STAINLESS STEEL (#397008 OR 397005)

AutoCAD SHX Text
   STAINLESS STEEL SCREWS (#760600). ONLY SCREWS DIRECTLY EXPOSED TO

AutoCAD SHX Text
 3. Zee CHANNEL AND STRAP BRACING SHOULD ONLY BE FASTENED WITH 

AutoCAD SHX Text
    PANELS CAN EXPAND & CONTRACT TO PREVENT PREMATURE DAMAGE.

AutoCAD SHX Text
ROOF JOIST

AutoCAD SHX Text
STRAP BRACING (#340002)

AutoCAD SHX Text
PLAN VIEW OF TYPICAL WALL CORNER

AutoCAD SHX Text
FASTEN 16 GA. S.S CORNER TRIM #397020 WITH 1/4"-14 x 3/4" S.S HEX HEAD S.D. 1/4"-14 x 3/4" S.S HEX HEAD S.D.  S.S HEX HEAD S.D. SCREWS #397008 @ EVERY 9" O.C.  (ONLY FASTEN ONE LEG TO WALL PANEL)

AutoCAD SHX Text
FASTENING CEILING PANEL SEE WALL & CORNER   DETAILS FOR PATTERNS

AutoCAD SHX Text
WALL PANELS 

AutoCAD SHX Text
20 GA. BOTTOM TRIM (#397040)

AutoCAD SHX Text
FASTEN 16 GA. STRAP BRACING (#340002) IN BETWEEN JOIST WITH #12-3/4" S.D. SCREW (#760600) @ 2' O.C. TO TOP CORNER ANGLES AND ZEE CHANNELS

AutoCAD SHX Text
FASTEN CORNER TRIM #397015 W/ #12 x 3/4" (#760600) @ EVERY JOIST

AutoCAD SHX Text
FASTEN  " x 3" DIA.  12" x 3" DIA.  FLOOR FLANGE (#329807)  WITH (2) #12 x  " S.D.  34" S.D.  SCREWS (#760600) 

AutoCAD SHX Text
PROBE COMPRESSION FITTING (#329802)

AutoCAD SHX Text
(2) LOCKING NUT (#329822)

AutoCAD SHX Text
PAN (#329820)

AutoCAD SHX Text
PROBE W/PRE CONNECTED WIRE (50' #329801) OR (75' #329804)

AutoCAD SHX Text
DRILL  " DIA. HOLE FOR 516" DIA. HOLE FOR THE PROBE & WIRE 

AutoCAD SHX Text
IMPORTANT NOTE:  SANDWICH PROBE WITH 1" WESTEC INSULATION (PEEL 2" INSULATION #397010 IN HALF) HALF OF INSULATION ON BOTTOM OF PAN, PLACE WIRE AND COVER EXPOSED WIRE TOP WITH REMAINING HALF OF INSULATION THEN PLACE COVER.

AutoCAD SHX Text
24 GA. CORRUGATED STAINLESS STEEL PANEL 

AutoCAD SHX Text
 ISOMERIC VIEW OF TYPICAL WALL & CORNER DETAIL

AutoCAD SHX Text
FASTEN BATTEN STRIPS #329703 (FIELD CUT AS NEEDED) WITH #8-18 x 1 5/8" PHILIPS WAFER HEAD S.D. SCREW #760613 @ MAX. 24" O.C.

AutoCAD SHX Text
FASTEN 1 " x 1 " x 10' 20 GA. ZEE CHANNEL 12" x 1 " x 10' 20 GA. ZEE CHANNEL 12" x 10' 20 GA. ZEE CHANNEL #397000  WITH #12 x 3/4" HEX HEAD SELF DRILLING SCREWS #760600 @ EVERY STUD

AutoCAD SHX Text
FASTEN PROBE TO WALL WITH (6) 1/4"-14 x 3/4" S.S S.D. SCREW (#397008)

AutoCAD SHX Text
1"

AutoCAD SHX Text
DRILL  " 1316" DIA. HOLE 

AutoCAD SHX Text
FASTEN 16GA. STRAP BRACING (#340002) BETWEEN STUDS WITH #12- " HEX HEAD 34" HEX HEAD S.D. SCREW (#760600) @ 2' O.C. 

AutoCAD SHX Text
2" x 2' x 12' WESTEC INSULATION #397010

AutoCAD SHX Text
SCALE:  3/4" = 1'-0"

AutoCAD SHX Text
2" x 2' x 12' WESTEC INSULATION #397010

AutoCAD SHX Text
WALL STUD

AutoCAD SHX Text
5" x 5" BOX CORNER  TRIM (#397025) FASTEN WITH 1/4"-14 x 3/4" S.S HEX  HEAD S.D. (#397008) @  6-1/2" O.C. ON BOTH LEGS ON BOTH LEGS 

AutoCAD SHX Text
WESTEC INSULATION (#397010)

AutoCAD SHX Text
FASTENING WALL PANEL SEE WALL & CORNER DETAILS

AutoCAD SHX Text
WESTEMP BATTEN (#329703)

AutoCAD SHX Text
ENDS OF CEILING PANELS

AutoCAD SHX Text
NOTE: INSTALL PROBE ON THE HIGH RIB ONLY 

AutoCAD SHX Text
  (DO NOT INSTALL ON WALL)

AutoCAD SHX Text
 TYPICAL CEILING PROBE DETAIL

AutoCAD SHX Text
SCALE:  3" = 1'-0"

AutoCAD SHX Text
PROBE COMPRESSION FITTING (#329802)

AutoCAD SHX Text
PROBE WITH CONNECTED WIRE (50' #329801) (75' #329804)

AutoCAD SHX Text
DRILL  " DIA. HOLE IN 516" DIA. HOLE IN THE CEILING PANEL.

AutoCAD SHX Text
COVER (#329819)

AutoCAD SHX Text
WESTEC INSULATION

AutoCAD SHX Text
ROOF JOIST

AutoCAD SHX Text
CENTER LINE 

AutoCAD SHX Text
1- "14"

AutoCAD SHX Text
 TYPICAL WALL TOP CORNER DETAILS

AutoCAD SHX Text
WESTEC INSULATION (#397010)

AutoCAD SHX Text
 ALL MIN GAPS SHOWN ON THIS PAGE MUST BE HELD TO ENSURE

AutoCAD SHX Text
 1. CEILING PANELS FASTEN EXACTLY THE SAME AS WALL PANELS.

AutoCAD SHX Text
IMPORTANT NOTES:

AutoCAD SHX Text
FASTEN 20 GA STAINLESS STEEL BOTTOM PANEL TRIM #397040 WITH 1/4"-14 x 3/4" S.S. HEX HEAD SELF  S.S. HEX HEAD SELF DRILLING SCREWS #397008 @ EVERY 9" O.C.

AutoCAD SHX Text
FASTEN STAINLESS STEEL PANELS WITH 1/4"-14 x 2" STAINLESS STEEL HEX HEAD  STAINLESS STEEL HEX HEAD SELF DRILLING SCREWS #397005 @ EVERY ZEE CHANNEL @ 10" 0.C. MAX. SPACING 

AutoCAD SHX Text
WESTEC INSULATION #397010

AutoCAD SHX Text
SCALE:  3" = 1'-0"

AutoCAD SHX Text
 TYPICAL WALL BOTTOM CORNER DETAILS

AutoCAD SHX Text
FASTEN 16 GA. STAINLESS STEEL CORNER TRIM #397020 WITH 1/4"-14 x 3/4" S.S. HEX HEAD SELF DRILLING SCREWS #397008 @ EVERY 9" O.C. (ONLY FASTEN ONE LEG TO WALL PANEL)(ONLY FASTEN ONE LEG TO WALL PANEL)

AutoCAD SHX Text
AT ALL PANELS SEAMS FASTEN STAINLESS STEEL PANELS WITH 1/4"-14 x 3/4" S.S HEX HEAD SELF 1/4"-14 x 3/4" S.S HEX HEAD SELF  S.S HEX HEAD SELF DRILLING SCREWS #397008 VERTICALLY AT 8" O.C. (ONLY IN BETWEEN THE ZEES) 

AutoCAD SHX Text
WESTEMP BATTEN (#329703)

AutoCAD SHX Text
2.

AutoCAD SHX Text
FASTEN 20 GA S.S. BTM. PNL TRIM #397040 WITH 1/4"-14 x 3/4" S.S HEX HEAD S.D. SCREWS #397008  S.S HEX HEAD S.D. SCREWS #397008 @ EVERY 9" O.C. (DO NOT FASTEN ON CORNER TRIM)

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
SCALE:  3" = 1'-0"

AutoCAD SHX Text
16GA. S.S. CORNER TRIM (#397020)

AutoCAD SHX Text
STUD WALL

AutoCAD SHX Text
FASTEN 16 GA. CORNER TRIM #397020 WITH 1/4"-14 x 3/4" S.S. HEX HEAD SELF DRILLING SCREW #397008 @ 6-1/2" O.C. (ONLY FASTEN TO CEILING PANELS)

AutoCAD SHX Text
24 GA. CORRUGATED CEILING PANELS

AutoCAD SHX Text
PLACE CEILING PROBES DIRECTLY ABOVE INTENDED SEAT OF THE FIRE.

AutoCAD SHX Text
NOTE:  STUFF 2" WIDE x (CONTINUOUS LENGTH INSULATION) (AFTER WALL & CEILING PANELS ARE IN PLACE)

AutoCAD SHX Text
24 GA. CORRUGATED STAINLESS STEEL PANEL 

AutoCAD SHX Text
VARIES

AutoCAD SHX Text
PLACE WALL PROBE DIRECTLY NEXT TO SEAT OF FIRE  (APPRX 5'-0" ABOVE FLOOR LEVEL)

AutoCAD SHX Text
24 GA. CORRUGATED WALL PANELS

AutoCAD SHX Text
"A" SECTION THRU BURN ROOM

AutoCAD SHX Text
"B" SECTION THRU BURN ROOM ROOF

AutoCAD SHX Text
 1. INSTALL BURN SUPPORT ANGLE (#397015) AT THE CEILING/WALL CORNER BUT 1. INSTALL BURN SUPPORT ANGLE (#397015) AT THE CEILING/WALL CORNER BUT ONLY IN CORNERS WHERE A BOX TRIM WILL BE LOCATED     (SEE SECTION "B" UPPER DETAILS)  2. INSTALL ALL (ZEE) CHANNELS FACING IN THE SAME DIRECTION. EXCEPT THE (ZEE) FACING IN THE SAME DIRECTION. EXCEPT THE (ZEE) . EXCEPT THE (ZEE) EXCEPT THE (ZEE) CHANNELS RIGHT NEXT TO THE WALLS. TOP LEG NEEDS TO FACE THE WALL   RIGHT NEXT TO THE WALLS. TOP LEG NEEDS TO FACE THE WALL  RIGHT NEXT TO THE WALLS. TOP LEG NEEDS TO FACE THE WALL     (SEE DETAILS) (SEE DETAILS)  3. INSTALL ALL STRAP BRACING @ 2'-0" O.C. MAX. TO SUPPORT INSULATION ON WALLS & CEILING  4. INSTALL/RUN ALL THERMOCOUPLE WIRES.  5. INSTALL ALL INSULATION WALLS & CEILINGS.   6. INSTALL ALL 3" WESTEMP BATTENS.  7. INSTALL ALL WALL & CEILING PANELS.  8. INSTALL ALL 16 GA. VERTICAL INSIDE CORNER TRIMS.   9. INSTALL ALL BOTTOM TRIM. (SEE DETAILS) 10. INSTALL ALL 16 GA. HORIZONTAL INSIDE CORNER TRIMS. (SEE DETAILS) 11. INSTALL ALL 20 GA. HORIZONTAL INSIDE BOX CORNER TRIM. (SEE DETAILS) 12. INSTALL ALL 16 GA. OUTSIDE CORNER TRIM AROUND DOOR & WINDOWS.  DAMAGE TO THE WESTEC SYSTEM CAUSED BY: THE MOUNTING OR PENETRATION OF      EQUIPMENT (NOT SUPPLIED BY FFI) WHICH IMPEDES THE MOVEMENT OF THE LINER SYSTEM, OR THE FAILURE TO MONITOR TEMPERATURES AT THE BURN ROOM CEILING, IS NOT COVERED BY THE LIMITED WARRANTY - SEE GUIDELINES IN ERECTION MANUAL.  

AutoCAD SHX Text
STRAP BRACING #340002 INSTALL BETWEEN JOISTS

AutoCAD SHX Text
TOP OF CURB

AutoCAD SHX Text
24 GA. CORRUGATED STAINLESS STEEL PANEL 

AutoCAD SHX Text
20 GA. 1- " x 1- " 12" x 1- " 12" ZEE CHANNEL #397000

AutoCAD SHX Text
2" INSULATION #397010

AutoCAD SHX Text
WALL STUD

AutoCAD SHX Text
3" BATTEN  #329703

AutoCAD SHX Text
SCALE:  1/2" = 1'-0"

AutoCAD SHX Text
WALL STUD

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
OVERLAP ALL TOP CORNER TRIMS (#397020 OR #397025) AS SHOWN MAKE SURE SCREWS ARE 1" MIN. AWAY FROM ENDS OF TRIMS AS SHOWN. 

AutoCAD SHX Text
 TYPICAL TRIM OVERLAP DETAIL

AutoCAD SHX Text
9" WIDE INSULATION WRAP BEHIND WALL BATTEN NOTE: NOTE: STUFF BEFORE INSTALLING BATTEN

AutoCAD SHX Text
(SIMILAR FOR #397020)

AutoCAD SHX Text
CORNER TRIM #397025

AutoCAD SHX Text
SCALE:  1 1/2" = 1'-0"

AutoCAD SHX Text
JOIST

AutoCAD SHX Text
2" INSULATION #397010

AutoCAD SHX Text
20 GA. 1- " x 1- " 12" x 1- " 12" ZEE CHANNEL #397000

AutoCAD SHX Text
NOTE: STUFF 2" x 24" WIDE INSULATION BETWEEN CEILING  & ZEE BEFORE INSTALLING  CEILING INSULATION & PANELS

AutoCAD SHX Text
%%uNON

AutoCAD SHX Text
2" INSULATION #397010

AutoCAD SHX Text
SCALE:  1/2" = 1'-0"

AutoCAD SHX Text
TOP LEG ALWAYS FACES THE WALL AT THE SIDES OF A ROOM

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
TYP.

AutoCAD SHX Text
3" BATTEN #329703

AutoCAD SHX Text
PLACE CEILING PROBES DIRECTLY ABOVE INTENDED SEAT OF THE FIRE.

AutoCAD SHX Text
ROOF JOISTS

AutoCAD SHX Text
2" WESTEC INSULATION #397010  (PUSH/EXTEND CEILING INSULATION TO FACE OF WALL STUDS)

AutoCAD SHX Text
SCALE:  3" = 1'-0"

AutoCAD SHX Text
IMPORTANT: ONLY OVERLAP PANELS WITH : ONLY OVERLAP PANELS WITH RECESS TOWARDS BATTENS/ZEES AND FASTEN THROUGH THIS RECESS

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
17 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


NOTE: WHEN FASTENING THE WESTEMP
INSULATION PANEL, DO NOT OVER TIGHTEN THE |

@ REVISIONS by

SCREWS. A SLIGHT MOVEMENT OF THE PLATE @ ® @
WASHER UNDER THE SCREW HEAD IS DESIRABLE. I

36x36 WESTEMP PANEL #329702 -
FIELD CUT PANEL IF NECESSARY g 50 B
( ) 9 o ,\ o o EBsg s
$ ® a EEZ *
-® § 2528 =
WASHER PLATE #329812 — | | 5 oash ¢
PREDRILL 1/2” DIA. HOLES (9 PLACES) . R . ¢ o3
FASTEN WESTEMP & PLATES WITH #8—18 x 1-5/8" o . - £E
| i < e

PRHILLIPS HEAD SELF DRILLING SCREW #/60613

SHUTTER |WESTEMP DOOR 'WESTEMP
FASTEN WESTEMP & PLATES WITH #3—18 x @ ® + e C\:

1—-5/8" PHILLIPS HEAD SELF DRILLING
SCREW #/60613

|
|
2" DIA. WESTEMP PLATE ‘ @ ®- + _ o (E
WASHER #329812
o ; \o\ | NOTE: INSTALL PROBE WIRES BEHIND WESTEC INSULATION
NSTALL WASHER WITH SMOOTH EDGE DOWN | / | (DO NOT EXPOSE WIRE TO OPEN HEAT AND FLAMES) ALSO
NOTE: A SUPPLY OF WESEAL 1S PROVIDED. 0 . DO NOT INSTALL PYROMETER INSIDE OF BURN ROOM
THIS NEEDS TO BE APPLIED TO ANY RAW 48x36 WESTEMP PANEL #329701 — (@ ® ®
OR TRIMMING THE WESTEMP PANELS. (FIELD CUT PANEL IF NECESSARY) CE y
: TROUBLE SHOOTING GUIDE — WHEN TESTING /HEATING THERMOCOUPLES B
WESTEMP INSTALLATION ON SHUTTERS AND DOORS (AFTER INSTALLATION; TEST INDIVIDUAL THERMOCOUPLES BY HEATING EACH > S
ONE WITH A LIGHTER OR HEAT GUN & OBSERVING EACH READING ON THE 2 =
) , ’ PYROMETER) o -
L
A, - 27 X 2 X 12" WESTEC INSULATION #397010 CASTEN AND CAULK STEEL BOX TO p———— — - _F
§ —— STAINLESS STEEL PANELS EXISTING WALL VIA 3 HOLES = o H x
FHIERIOR WAL PANEL = DO OIS AL S O RN KOO e IPERATURE. READING 1S 1. ENSURE RED & YELLOW WIRES ARE . 3 4 .
| 2 2 . . L o M 6|
] SRn §eon1s 6 Ak 34" 00 (HELD T To LenaTk) (ampty | | 2 =2
. .C. Y 4 b 8 =
WESEAL #329707 TO SURFACE OF ALL FRESH CUTS) - 5 2. TEMPERATURE READING DOES| 2. ENSURE THAT RED & YELLOW WIRES -2z 8 =
, , : | +—PLEASE DO NOT REMOVE FACE NOT INCREASE OR INCREASES ARE NOT CROSSED AND/OR NOT 2 s E ox 9
§ FASTEN 15" X 15" X 10/ 20 GA. ZEE CHANNEL % G PLATE TO ENSURE THAT NO VERY SLOWLY TOUCHING EACH OTHER < E _ Lc; §
#397000 WITH #12 X 3/4” HEX HEAD SELF MOISTURE ENTERS UNIT OR . 3 3 8 &
DRILLING SCREWS #760600 @ EVERY STUD SATE P YROMETER PREMATURE DAMAGE WILL RESULT 3. TEMPERATURE READINGS 3. ENSURE THAT NO STAINLESS STEEL 2 =7 Lo
FRAMED OPENING TRIM—= APPEAR & DISAPPEAR SHEATHING IS VISIBLE IN THE o w2 R u 2
bR bR [ o m
DOOR STOP #381000 L — 47 BATTEN STRIPS #329704 FASTEN W/ #8 X 1 %’ PHILIPS HEAD 5 o INTERMITTENTLY ENCLOSURE WHICH MAY SHORT OUT o v o= =
2 5/ S.D. SCREW #760613 @ MAX. 24” O.C.(FIELD CUT TO LENGTH) O O FASTEN AND CAULK STEEL BOX TO s ° &3 z &
- (APPLY WESEAL #329707 TO SURFACE OF ALL FRESH CUTS) OO0 EXISTING WALL VIA 4 HOLES £ b 3 L%z
DOOR /SHUTTER SUPPORT ANGLE #397015 O O DO NOT INSTALL INSIDE OF BURN ROOM v« 5282 =
o =
WESTEMP PANEL ———— ONLY FASTEN ONE LEG OF PROTECTION ANGLE TO A . b= < FACTORY INSTALLED WIRES IMPORTANT: e r e s
SUPPORT ANGLE AS SHOWN W/#12 X 2” SCREWS o [ ] %BFNLDE%'; VTV'*HEEE“éoggELJPPLREOéV'ERlES
#397005 @ 6 1/2" O.C. MAX. S—— LOCATED IN THE BUILDING (Jp) < o
(@]
ngs%gg PROTECTION ANGLE WIRES FOR OPTIONAL (LABELS BY OTHER) TH 3
# ] ; (e}
SECTION THRU. HEADER B =2 .3
o%wo_
: PLUG FOR OPTIONAL — 2250
(DOOR & WINDOWS) RIGHT SIDE MOUNTING OF j © D38E
) RED & YELLOW FIBERGLASS SCOUT/PYROMETER — — S® 5
4 BATTEN” STRIPS #329704 FASTEN W/ INSULATION SHOULD BE SHRINK %: RECAULK IF MOVED o = oy
#8 X 1 9% PHILIPS HEAD S.D. SCREW WRAPPED INDIVIDUALLY TO ENSURE = cze &
4760613 @ MAX. 24" 0.C. (FIELD CUT TO WIRES DO NOT TOUCH ONE ANOTHER. — ——— MATCH YELLOW & RED WIRES FROM < o £< Tk
LENGTH)(APPLY WESEAL #329707 TO 0 BURN ROOM DOOR HINGE (SHRINK WRAP TUBING BY OTHERS) THERMOCOUPLES TO YELLOW & RED — ;o 3E8
SURFACE OF ALL FRESH CUTS) © FACTORY INSTALLED WIRES I.E.(YELLOW l-l— Ll EgLLjLZL
~ / FRAMED OPENING TRIM TO YELLOW) o S0 32
DOOR /SHUTTER |G Ll | S97s3
~ | \ m 1 W Q 5) r'?)luuj
WESTEMP PANEL | \ WALL PANELS BROWN FIBERGLASS INSULATION SHOULD Ny — -z QF
BE SHRINK WRAPPED TO ENSURE THE - — S8o3
ONLY FASTEN ONE LEG OF PROTECTION ANGLE DOOR STOP #381000 FIBERGLASS INSULATION DOES NOT FRAY. — < LL. o BEoZ
;gREL\fVFS’PiEgEé&GLé g? OS%OVKANAY/#Q X 2 (SHRINK WRAP TUBING BY OTHERS) IMPORTANT: fg@i
.C. . \__ ANGLE CONDUIT DOWN TO KEEP T O~L
GROUNDING LUG K WATER FROM RUNNING INTO TUBE "’Em%
FASTEN 1%” X 1%” X 10" 20 GA. ZEE (GROUNDING ROD & WIRE BY OTHERS) x=
CHANNEL #397000 WITH #12 X 3/4° HEX CUT THERMOCOUPLE WIRES TO PROPER LENGTH WITH \ 3
HEAD SELF DRILLING SCREWS #760600 @ N RUN UP TO 8 THERMOCOUPLE S

DIAGONAL CUTTING PLIERS. WIRES INTO ENCLOSURE AND

e IZI\]’SSLE’TIéNgé’BgN;O%TOEC IMPORTANT: SLIDE THE STAINLESS STEEL SHEATHING S e e N o s
IMPORTANT: — SEAL UP THIS END OF TUBE
WESTEMP PROTECTION ANGLE #397050 STAINLESS STEEL PANELS DOWN THE WIRE SO THAT NO SHEATHING IS VISIBLE IN WITH CAULK #760800
SUPPORT ANGLE #397015 THE ENCLOSURE (VISIBLE STAINLESS STEEL SHEATHING RUN TUBE INTO WALL —
SECTION THRU. JAMB WILL SHORT OUT THE SYSTEM). <
(DOOR & WINDOWS) SCOUT/PYROMETER INSTALL S
. 9]
WESTEMP PROTECTION ANGLE #397030 SCALE: 8x L =
ONLY FASTEN ONE LEG OF PROTECTION ANGLE TO SUPPORT 1 L
/ ANGLE AS SHOWN W/#12 X 2” SCREWS #397005 @ 9” O.C. L -
A MAX. Q _J =
O = S
WESTEMP PANEL —— SUPPORT ANGLE #397015 = . %
SHUTTER 47 BATTEN STRIPS #329704 FASTEN W/ #8 X 1 %" PHILIPS E Z
2 5/8" HEAD S.D. SCREW #760613 @ MAX. 24" O.C. s O == 2
DOOR STOP = (FIELD CUT TO LENGTH)(APPLY WESEAL #329707 TO s OO = o
4381000 SURFACE OF ALL FRESH CUTS) s 0N LA 3 W
¢ W 5 5 %
Q ]
EXTERIOR WALL ——__ FASTEN 1%” X 1%” X 100 20 GA. ZEE CHANNEL #397000 3 = 00O 3=
PANEL T WITH #12 X 3/4” HEX HEAD SELF DRILLING SCREWS E &
D OPENING 4760600 @ EVERY STUD Date DECEMBER 10, 2021
SILL TRIM Drawn by WOM

— — 37 BATTEN STRIPS #329703 FASTEN W/ #8 X 1 %~ PHILIPS HEAD S.D.
SCREW #760613 @ MAX. 24" O.C. (FIELD CUT TO LENGTH)(APPLY Checked by SPW

WESEAL #329707 TO SURFACE OF ALL FRESH CUTS)

Scale
SHOWN

WALL STUD STAINLESS STEEL PANELS Order No.

FTE—796 / #244368

27 X 2" X 12" WESTEC Sheet No.
INSULATION #397010

SECTION THRU. SILL 18 of 25



AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Date

AutoCAD SHX Text
WESTEC BURN ROOM DETAILS

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
3" BATTEN STRIPS #329703 FASTEN W/ #8 X 1  " PHILIPS HEAD S.D. 58" PHILIPS HEAD S.D. SCREW #760613 @ MAX. 24" O.C. (FIELD CUT TO LENGTH)(APPLY WESEAL #329707 TO SURFACE OF ALL FRESH CUTS) 

AutoCAD SHX Text
WESTEMP PROTECTION ANGLE #397030

AutoCAD SHX Text
CLIP 

AutoCAD SHX Text
2" X 2' X 12' WESTEC INSULATION #397010

AutoCAD SHX Text
FASTEN 1 " X 1 " X 10'  20 GA. ZEE CHANNEL #397000 12" X 1 " X 10'  20 GA. ZEE CHANNEL #397000 12" X 10'  20 GA. ZEE CHANNEL #397000 WITH #12 X 3/4" HEX HEAD SELF DRILLING SCREWS #760600 @ EVERY STUD

AutoCAD SHX Text
SECTION THRU. JAMB

AutoCAD SHX Text
(DOOR & WINDOWS)

AutoCAD SHX Text
DOOR/SHUTTER

AutoCAD SHX Text
BURN ROOM DOOR HINGE

AutoCAD SHX Text
DOOR STOP #381000

AutoCAD SHX Text
WALL PANELS

AutoCAD SHX Text
ONLY FASTEN ONE LEG OF PROTECTION ANGLE TO SUPPORT ANGLE AS SHOWN W/#12 X 2" SCREWS #397005 @ 9" O.C. MAX.

AutoCAD SHX Text
WESTEMP PROTECTION ANGLE #397030

AutoCAD SHX Text
STAINLESS STEEL PANELS  

AutoCAD SHX Text
4" BATTEN STRIPS #329704 FASTEN W/ #8 X 1  " PHILIPS 58" PHILIPS HEAD S.D. SCREW #760613 @ MAX. 24" O.C.  (FIELD CUT TO LENGTH)(APPLY WESEAL #329707 TO SURFACE OF ALL FRESH CUTS) 

AutoCAD SHX Text
SUPPORT ANGLE #397015 

AutoCAD SHX Text
ONLY FASTEN ONE LEG OF PROTECTION ANGLE TO SUPPORT ANGLE AS SHOWN W/#12 X 2" SCREWS #397005 @ 9" O.C. MAX.

AutoCAD SHX Text
WALL STUD

AutoCAD SHX Text
SHUTTER

AutoCAD SHX Text
FRAMED OPENING SILL TRIM

AutoCAD SHX Text
EXTERIOR WALL PANEL 

AutoCAD SHX Text
DOOR STOP #381000

AutoCAD SHX Text
WESTEMP PANEL

AutoCAD SHX Text
2" X 2' X 12' WESTEC INSULATION #397010

AutoCAD SHX Text
STAINLESS STEEL PANELS 

AutoCAD SHX Text
FRAMED OPENING TRIM 

AutoCAD SHX Text
SUPPORT ANGLE #397015 

AutoCAD SHX Text
FASTEN 1 " X 1 " X 10'  20 GA. ZEE 12" X 1 " X 10'  20 GA. ZEE 12" X 10'  20 GA. ZEE CHANNEL #397000 WITH #12 X 3/4" HEX HEAD SELF DRILLING SCREWS #760600 @ EVERY STUD

AutoCAD SHX Text
WESTEMP PANEL

AutoCAD SHX Text
4" BATTEN STRIPS #329704 FASTEN W/ #8 X 1  " PHILIPS HEAD S.D. SCREW 58" PHILIPS HEAD S.D. SCREW #760613 @ MAX. 24" O.C. (FIELD CUT TO LENGTH)(APPLY WESEAL #329707 TO SURFACE OF ALL FRESH CUTS) 

AutoCAD SHX Text
SECTION THRU. SILL

AutoCAD SHX Text
WESTEMP INSTALLATION ON SHUTTERS AND DOORS

AutoCAD SHX Text
NOTE:  INSTALL WASHER WITH SMOOTH EDGE DOWN

AutoCAD SHX Text
2" DIA. WESTEMP PLATE WASHER #329812

AutoCAD SHX Text
FASTEN WESTEMP & PLATES WITH #8-18 x 1-5/8" PHILLIPS HEAD SELF DRILLING SCREW #760613

AutoCAD SHX Text
NOTE: WHEN FASTENING THE WESTEMP  WHEN FASTENING THE WESTEMP INSULATION PANEL, DO NOT OVER TIGHTEN THE  A SLIGHT MOVEMENT OF THE PLATE A SLIGHT MOVEMENT OF THE PLATE WASHER UNDER THE SCREW HEAD IS DESIRABLE.

AutoCAD SHX Text
NOTE: A SUPPLY OF WESEAL IS PROVIDED.   A SUPPLY OF WESEAL IS PROVIDED.  THIS NEEDS TO BE APPLIED TO ANY RAW EDGES EXPOSED AS THE RESULT OF CUTTING OR TRIMMING THE WESTEMP PANELS.

AutoCAD SHX Text
WASHER PLATE #329812 PREDRILL 1/2" DIA. HOLES (9 PLACES) FASTEN WESTEMP & PLATES WITH #8-18 x 1-5/8" PHILLIPS HEAD SELF DRILLING SCREW #760613

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
C

AutoCAD SHX Text
48x36 WESTEMP PANEL #329701 (FIELD CUT PANEL IF NECESSARY)

AutoCAD SHX Text
SHUTTER WESTEMP

AutoCAD SHX Text
DOOR WESTEMP

AutoCAD SHX Text
L

AutoCAD SHX Text
36x36 WESTEMP PANEL #329702 (FIELD CUT PANEL IF NECESSARY)

AutoCAD SHX Text
SECTION THRU. HEADER

AutoCAD SHX Text
(DOOR & WINDOWS)

AutoCAD SHX Text
2" X 2' X 12' WESTEC INSULATION #397010

AutoCAD SHX Text
ONLY FASTEN ONE LEG OF PROTECTION ANGLE TO SUPPORT ANGLE AS SHOWN W/#12 X 2" SCREWS #397005 @ 6 1/2" O.C. MAX.

AutoCAD SHX Text
WESTEMP PANEL

AutoCAD SHX Text
DOOR STOP #381000

AutoCAD SHX Text
FRAMED OPENING TRIM 

AutoCAD SHX Text
EXTERIOR WALL PANEL 

AutoCAD SHX Text
DOOR/SHUTTER

AutoCAD SHX Text
3" BATTEN STRIPS #329703 FASTEN W/ #8 X 1  " PHILIPS HEAD S.D. 58" PHILIPS HEAD S.D. SCREW #760613 @ MAX. 24" O.C. (FIELD CUT TO LENGTH) (APPLY WESEAL #329707 TO SURFACE OF ALL FRESH CUTS) 

AutoCAD SHX Text
WESTEMP PROTECTION ANGLE #397030

AutoCAD SHX Text
SUPPORT ANGLE #397015 

AutoCAD SHX Text
FASTEN 1 " X 1 " X 10'  20 GA. ZEE CHANNEL 12" X 1 " X 10'  20 GA. ZEE CHANNEL 12" X 10'  20 GA. ZEE CHANNEL #397000 WITH #12 X 3/4" HEX HEAD SELF DRILLING SCREWS #760600 @ EVERY STUD

AutoCAD SHX Text
4" BATTEN STRIPS #329704 FASTEN W/ #8 X 1  " PHILIPS HEAD 58" PHILIPS HEAD S.D. SCREW #760613 @ MAX. 24" O.C.(FIELD CUT TO LENGTH) (APPLY WESEAL #329707 TO SURFACE OF ALL FRESH CUTS) 

AutoCAD SHX Text
STAINLESS STEEL PANELS  

AutoCAD SHX Text
PYROMETER

AutoCAD SHX Text
BATT.

AutoCAD SHX Text
FASTEN AND CAULK STEEL BOX TO EXISTING WALL VIA 3 HOLES  DO NOT INSTALL INSIDE OF BURN ROOM

AutoCAD SHX Text
WIRES FOR OPTIONAL EXTERNAL ALARM

AutoCAD SHX Text
FASTEN AND CAULK STEEL BOX TO EXISTING WALL VIA 4 HOLES  DO NOT INSTALL INSIDE OF BURN ROOM

AutoCAD SHX Text
WALL

AutoCAD SHX Text
RUN UP TO 9 THERMOCOUPLE WIRES INTO ENCLOSURE AND CONNECT TO TERMINAL BLOCK - SEAL UP THIS END OF TUBE SEAL UP THIS END OF TUBE WITH CAULK #760800

AutoCAD SHX Text
IMPORTANT: : LABEL EACH THERMOCOUPLE WIRE TO INDICATE WHERE THE PROBE IS LOCATED IN THE BUILDING (LABELS BY OTHER) 

AutoCAD SHX Text
PLEASE DO NOT REMOVE FACE PLATE TO ENSURE THAT NO NO MOISTURE ENTERS UNIT OR PREMATURE DAMAGE WILL RESULT

AutoCAD SHX Text
SCOUT/PYROMETER INSTALL

AutoCAD SHX Text
SCALE: 8x

AutoCAD SHX Text
BROWN FIBERGLASS INSULATION SHOULD BE SHRINK WRAPPED TO ENSURE THE FIBERGLASS INSULATION DOES NOT FRAY.  (SHRINK WRAP TUBING BY OTHERS)

AutoCAD SHX Text
GROUNDING LUG (GROUNDING ROD & WIRE BY OTHERS)

AutoCAD SHX Text
RED & YELLOW FIBERGLASS INSULATION SHOULD BE SHRINK WRAPPED INDIVIDUALLY TO ENSURE WIRES DO NOT TOUCH ONE ANOTHER. (SHRINK WRAP TUBING BY OTHERS)

AutoCAD SHX Text
FACTORY INSTALLED WIRES

AutoCAD SHX Text
IMPORTANT: : ANGLE CONDUIT DOWN TO KEEP WATER FROM RUNNING INTO TUBE

AutoCAD SHX Text
RUN TUBE INTO WALL

AutoCAD SHX Text
CUT THERMOCOUPLE WIRES TO PROPER LENGTH WITH DIAGONAL CUTTING PLIERS.  IMPORTANT: SLIDE THE STAINLESS STEEL SHEATHING IMPORTANT: SLIDE THE STAINLESS STEEL SHEATHING : SLIDE THE STAINLESS STEEL SHEATHING DOWN THE WIRE SO THAT NO SHEATHING IS VISIBLE IN THE ENCLOSURE (VISIBLE STAINLESS STEEL SHEATHING WILL SHORT OUT THE SYSTEM).     

AutoCAD SHX Text
TROUBLE SHOOTING GUIDE - WHEN TESTING/HEATING THERMOCOUPLES (AFTER INSTALLATION; TEST INDIVIDUAL THERMOCOUPLES BY HEATING EACH ONE WITH A LIGHTER OR HEAT GUN & OBSERVING EACH READING ON THE PYROMETER)

AutoCAD SHX Text
POTENTIAL PROBLEM 1. TEMPERATURE READING IS  NEGATIVE VALUE 2. TEMPERATURE READING DOES NOT INCREASE OR INCREASES VERY SLOWLY 3. TEMPERATURE READINGS APPEAR & DISAPPEAR INTERMITTENTLY 

AutoCAD SHX Text
SOLUTION 1. ENSURE RED & YELLOW WIRES ARE NOT REVERSED 2. ENSURE THAT RED & YELLOW WIRES ARE NOT CROSSED  AND/OR NOT TOUCHING EACH OTHER 3. ENSURE THAT NO STAINLESS STEEL SHEATHING IS VISIBLE IN THE ENCLOSURE WHICH MAY SHORT OUT THE SYSTEM  

AutoCAD SHX Text
PLUG FOR OPTIONAL RIGHT SIDE MOUNTING OF SCOUT/PYROMETER - RECAULK IF MOVED

AutoCAD SHX Text
MATCH YELLOW & RED WIRES FROM THERMOCOUPLES TO YELLOW & RED FACTORY INSTALLED WIRES I.E.(YELLOW TO YELLOW)

AutoCAD SHX Text
NOTE: INSTALL PROBE WIRES BEHIND WESTEC INSULATION  ALSO DO NOT INSTALL PYROMETER INSIDE OF BURN ROOM

file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
file:///I:/BURN/JOBS/FTE-222%20(WS-4)/01-WS4A.DWG
AutoCAD SHX Text
C

AutoCAD SHX Text
L

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
18 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


WING WALL TRIM #387030 — REVISIONS by
SELF—DRILLING SCREW SELF—DRILLING SCREW INSTALL WALL PANEL INSIDE CORNER TRIM #380430
#104170 @ 1’0" O.C. #104170 @ 1'=0” O.C. VERTICAL ON BOTH SIDES ! /
NOTE: \{
MITER ALL PARAPET RAKE TRIMS TRIMS AT EXTERIOR > : /
18 GA. PARAPET RAKE TRIM #388630 PARAPET CORNERS ONLY (NOT AT PARAPET OPENINGS) 18 GA. PARAPET RAKE TRIM #388630 < g rY / p < 3.
< < 58 §
] v I/ ] y g
INSIDE CLOSURE #351302 TAPE CAULK #760703 TAPE CAULK #760703 J e
BOTH TOP AND BOTTOM OF CLOSURE WALL PANEL 12 GA. SUPPORT ANGLE #330306
p c ’ Q
- 12 GA. STUD WALL - 12 GA. STUD WALL SECTION THRU PARAPET AT WING WALL
p d 0 C WING WALL TRIM #3870350 SELF—DRILLING SCREW
SELF—DRILLING SCREW #760502 SELF—DRILLING SCREW #760502 I 4104170 @ 1'—=0" O.C.
2 PER STUD @ 1'-0" O.C. 2 PER STUD @ 1'-0" O.C.
j Q ” j ( b2 I [
12 GA. SUPPORT ANGLE (2" LEG ON WALL) #330306 12 GA. SUPPORT ANGLE (2” LEG ON WALL) #330306
SELF—DRILLING SCREW #760502 @ 3" O.C. SELF—DRILLING SCREW #760502 @ 3” O.C.
— —1—3
| — h
% 36" WIDE ROOF PANEL ’ 36” WIDE ROOF PANEL 5
L o
14 | ( d =
20 GA. TOP DIVERTING ANGLE #330308 7 \ uJ W) 20 GA. TOP DIVERTING ANGLE #330308 D WING WALL TRIM #387030 &S =
e | 4 n
- S ® 5
20 GA. BOTTOM DIVERTING ANGLE #330307 20 GA. BOTTOM DIVERTING ANGLE #330307 % 2L
B L o F 6‘
IMPORTANT:  MUST INSTALL DIVERTING ANGLES BEFORE IMPORTANT:  MUST INSTALL DIVERTING ANGLES BEFORE o 12 GA. STUD WALL (FIELD CUT TO LENGTH) 5 = 2 £
INSTALLING THE PARAPET STUD TRACK AND STUDS. INSTALLING THE PARAPET STUD TRACK AND STUDS. £ Jdu8z
(OVERLAP ANGLES AS SHOWN) (USE CAULK TAPE AT ALL (OVERLAP ANGLES AS SHOWN) (USE CAULK TAPE AT ALL o T = T8
SPLICES — CORNER DETAIL BELOW) SPLICES — CORNER DETAIL BELOW) 4= 23
) . FASTEN WITH (8) SCREWS “ 23 3¢
3/8” DIA. BOLT #760100 & NUT #760300 @ 3/8" DIA. BOLT #760100 & NUT #760300 @ 4760600 PER WING WALL J g 2 &
EVERY STUD (FIELD DRILL HOLE FOR BOLT AND EVERY STUD (FIELD DRILL HOLE FOR BOLT AND o w oL =5
> INSTALL BEFORE PLACING ROOF PANEL) > INSTALL BEFORE PLACING ROOF PANEL) / = E 2R 83
(@) L ooy} =
» =Z O Z 0 O
12 GA. JOIST TRACK #340082 12 GA. JOIST TRACK #340082 567 WIDE ROOF PANEL = > 3 e = d
7 L 11 /7 55 sy =g
———— SPECIAL STUD END TRACK #330305 AT TOP ———— SPECIAL STUD END TRACK #330305 AT TOP , © S+ E 2 &
4 AND BOTTOM OF PARAPET STUDS ONLY /, AND BOTTOM OF PARAPET STUDS ONLY \/ \J I, \J/ \J/ = oaom oo < =
I
18 GA. TRANS. TRIM #387130 18 GA. TRANS. TRIM #387130 \/
TOWER PARAPET DETAIL AT EAVE 1 T N o
Ll N~
TOWER PARAPET DETAIL AT RAKE LL] 2
— D=
O QLOO
INSTALL END CAP #380230 AND — 270y
FASTEN WITH POP RIVETS #762020 — © 8% 8E
PARAPET WING WALL DETAIL AT END e =243
18 GA. PARAPET RAKE TRIM #388630 = W8T
Ox © x
o —
| W < ; Zi‘_fgg
NOTCH OUT LL. geEho
p—t 1
- WALL PANEL = 2 1/2” TIE RING WITH SHOULDER #391013 L E5o3Z2
12 GA. SUPPORT ~ 1 =3g?
INSTALL (1) WALL PANEL VERTICAL I ANGLE #330306 WALL STUD =1 372 ¢
ON ONE SIDE OF PARAPET WING / LL] - | =97¢3
WALL OPENING AND ON BOTH Y - YE NP
- i B #
SoP DIVERTING SIDES OF WING WALLS WAL PANEL — & léfggi
(@)
ANGLE #330308 NOTCH OUT )/ L. 3852
| ‘ —— INSIDE CORNER L HRE
I TRIM #380430 Bk
BOTTOM DIVERTING FIELD CUT OUT " e J
ANGLE #330307 " — INSIDE CORNER TRIM / ) ‘ -
- _/’/~\_ ~ I(2
5 Ly - - INSTALL COTTER
A <o PIN #630142
# I 3)/8” NUT
9 ° / — | g 3/8" FLAT WASHER #630146 IMPORTANT:  FOR THE EASE OF
g INSTALLATION OF THIS TIE RING TO THE <
B FIELD CUT < STUD, INSTALL THIS ASSEMBLY BEFORE |
N _ INSTALLING THE WALL PANEL ON THE L
#760703 AS SHOWN ] e T OUTSIDE CORNER i e INTERIOR SIDE OF THE PARAPET WALL. L
/ = TRIM #3803530 (1) BETWEEN STUD & NUT )
B \ L|_|
SUN PANELS — 4] ] o — SECTION THRU PARAPET AT BUILDING CORNER PARAPET CHAIN RING INSTALLATION DETAIL a
HORIZONTAL ON = o - %
OPENING SIDE. ~_| p~ - =
] i — NSIDE CORNER TRIM INSTALL WALL PANEL VERTICAL E g
/’, 4380430 ON THIS SIDE (ONLY) — WING WALL TRIM #387030 5 8 z > —
4T S 2 I $d
- =
Ll KIGGL/E ;%POPB%%T PARAPET CHAIN RING (SEE DETAIL I INSTALL WALL PANEL VERTICAL f3 W S5 & e
I ABOVE) THREE PER SIDE, START AT /70N THIS SIDE (ONLY) S = 0O g
YL _ TOP OF WALL AND SPACE EVENLY ; _w 3 %
| — N Date:
12 GA. SUPPORT ANGLE 2 I~ ] 5 ] L DECEMBER 10, 2021
*CAULK ALONG ALL DIVERTING ANGLES WHERE TWO PIECES OVERLAP =T L ﬁ e T e— Drawn by: WDM
EACH OTHER (APPLIES TO NONCORNER OVERLAPPING AREAS ALSO)* FIELD FORM & INSTALL ALL WING WALL TRIMS ' ' ' eciod Do
4387030 BEFORE INSTALLING PARAPET RAKE TRIM pi L % SPW
: : 14 ; ; I I I I Scale:
DIVERTING ANGELS/CAULK TAPE DETAIL AT CORNER OF BUILDING PARAPET OPENING DETAIL / — =
WALL PANEL " FTE-796 / #244368

PARAPET OPENING TRIM #387450

Sheet No.

OUTSIDE CORNER TRIM #380330

SECTION THRU PARAPET OPENING 19 of 25



AutoCAD SHX Text
PARAPET OPENING TRIM #387430

AutoCAD SHX Text
PARAPET CHAIN RING (SEE DETAIL ABOVE) THREE PER SIDE, START AT TOP OF WALL AND SPACE EVENLY

AutoCAD SHX Text
(2) RINGBOLT SPACERS #391009 (1) BETWEEN PANEL & STUD (1) BETWEEN STUD & NUT

AutoCAD SHX Text
FASTEN WITH (8) SCREWS #760600 PER WING WALL

AutoCAD SHX Text
SELF-DRILLING SCREW #104170 @ 1'-0" O.C.

AutoCAD SHX Text
18 GA. TRANS. TRIM #387130

AutoCAD SHX Text
SPECIAL STUD END TRACK #330305 AT TOP AND BOTTOM OF PARAPET STUDS ONLY

AutoCAD SHX Text
12 GA. JOIST TRACK #340082

AutoCAD SHX Text
3/8" DIA. BOLT #760100 & NUT #760300 @ EVERY STUD (FIELD DRILL HOLE FOR BOLT AND INSTALL BEFORE PLACING ROOF PANEL)

AutoCAD SHX Text
20 GA. BOTTOM DIVERTING ANGLE #330307

AutoCAD SHX Text
20 GA. TOP DIVERTING ANGLE #330308

AutoCAD SHX Text
IMPORTANT:  MUST INSTALL DIVERTING ANGLES BEFORE INSTALLING THE PARAPET STUD TRACK AND STUDS. (OVERLAP ANGLES AS SHOWN) (USE CAULK TAPE AT ALL SPLICES - CORNER DETAIL BELOW)

AutoCAD SHX Text
SELF-DRILLING SCREW #760502 @ 3" O.C.

AutoCAD SHX Text
36" WIDE ROOF PANEL

AutoCAD SHX Text
12 GA. SUPPORT ANGLE (2" LEG ON WALL) #330306

AutoCAD SHX Text
SELF-DRILLING SCREW #760502 2 PER STUD @ 1'-0" O.C.

AutoCAD SHX Text
12 GA. STUD WALL

AutoCAD SHX Text
TAPE CAULK #760703 

AutoCAD SHX Text
IMPORTANT:  MUST INSTALL DIVERTING ANGLES BEFORE INSTALLING THE PARAPET STUD TRACK AND STUDS. (OVERLAP ANGLES AS SHOWN) (USE CAULK TAPE AT ALL SPLICES - CORNER DETAIL BELOW)

AutoCAD SHX Text
3/8" DIA. BOLT #760100 & NUT #760300 @ EVERY STUD (FIELD DRILL HOLE FOR BOLT AND INSTALL BEFORE PLACING ROOF PANEL)

AutoCAD SHX Text
SPECIAL STUD END TRACK #330305 AT TOP AND BOTTOM OF PARAPET STUDS ONLY

AutoCAD SHX Text
SELF-DRILLING SCREW #760502 2 PER STUD @ 1'-0" O.C.

AutoCAD SHX Text
INSIDE CLOSURE #351302 TAPE CAULK #760703 BOTH TOP AND BOTTOM OF CLOSURE

AutoCAD SHX Text
SELF-DRILLING SCREW #104170 @ 1'-0" O.C.

AutoCAD SHX Text
12 GA. STUD WALL

AutoCAD SHX Text
IMPORTANT:  FOR THE EASE OF INSTALLATION OF THIS TIE RING TO THE STUD, INSTALL THIS ASSEMBLY BEFORE INSTALLING THE WALL PANEL ON THE INTERIOR SIDE OF THE PARAPET WALL.

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
WALL STUD

AutoCAD SHX Text
3/8" NUT 

AutoCAD SHX Text
3/8" FLAT WASHER #630146

AutoCAD SHX Text
2 1/2" TIE RING WITH SHOULDER #391013

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
20 GA. TOP DIVERTING ANGLE #330308

AutoCAD SHX Text
20 GA. BOTTOM DIVERTING ANGLE #330307

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
PARAPET DETAILS

AutoCAD SHX Text
WING WALL TRIM #387030

AutoCAD SHX Text
PARAPET WING WALL DETAIL AT END

AutoCAD SHX Text
12 GA. STUD WALL (FIELD CUT TO LENGTH)

AutoCAD SHX Text
36" WIDE ROOF PANEL

AutoCAD SHX Text
SECTION THRU PARAPET AT WING WALL

AutoCAD SHX Text
INSIDE CORNER TRIM #380430

AutoCAD SHX Text
12 GA. SUPPORT ANGLE #330306

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
1'-0"

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
OUTSIDE CORNER TRIM #380330

AutoCAD SHX Text
SECTION THRU PARAPET OPENING

AutoCAD SHX Text
TOWER PARAPET DETAIL AT RAKE

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
SECTION THRU PARAPET AT BUILDING CORNER

AutoCAD SHX Text
12 GA. SUPPORT ANGLE (2" LEG ON WALL) #330306

AutoCAD SHX Text
12 GA. JOIST TRACK #340082

AutoCAD SHX Text
18 GA. TRANS. TRIM #387130

AutoCAD SHX Text
36" WIDE ROOF PANEL

AutoCAD SHX Text
SELF-DRILLING SCREW #760502 @ 3" O.C.

AutoCAD SHX Text
18 GA. PARAPET RAKE TRIM #388630 

AutoCAD SHX Text
SELF-DRILLING SCREW #104170 @ 1'-0" O.C.

AutoCAD SHX Text
18 GA. PARAPET RAKE TRIM #388630 

AutoCAD SHX Text
WING WALL TRIM #387030

AutoCAD SHX Text
TOWER PARAPET DETAIL AT EAVE

AutoCAD SHX Text
INSIDE CORNER TRIM #380430

AutoCAD SHX Text
OUTSIDE CORNER TRIM #380330

AutoCAD SHX Text
12 GA. SUPPORT ANGLE #330306

AutoCAD SHX Text
12 GA. SUPPORT ANGLE #330306

AutoCAD SHX Text
INSTALL COTTER PIN #630142

AutoCAD SHX Text
4" 

AutoCAD SHX Text
4"

AutoCAD SHX Text
FIELD CUT OUT 

AutoCAD SHX Text
BOTTOM DIVERTING ANGLE #330307

AutoCAD SHX Text
TOP DIVERTING ANGLE #330308

AutoCAD SHX Text
TAPE CAULK #760703 AS SHOWN

AutoCAD SHX Text
FIELD CUT

AutoCAD SHX Text
PARAPET OPENING DETAIL

AutoCAD SHX Text
EACH OTHER (APPLIES TO NONCORNER OVERLAPPING AREAS ALSO)*

AutoCAD SHX Text
*CAULK ALONG ALL DIVERTING ANGLES WHERE TWO PIECES OVERLAP

AutoCAD SHX Text
DIVERTING ANGELS/CAULK TAPE DETAIL AT CORNER OF BUILDING

AutoCAD SHX Text
PARAPET CHAIN RING INSTALLATION DETAIL

AutoCAD SHX Text
INSIDE CORNER TRIM

AutoCAD SHX Text
12 GA. SUPPORT ANGLE 

AutoCAD SHX Text
INSTALL (1) WALL PANEL VERTICAL ON ONE SIDE OF PARAPET WING WALL OPENING AND ON BOTH SIDES OF WING WALLS

AutoCAD SHX Text
18 GA. PARAPET RAKE TRIM #388630 

AutoCAD SHX Text
WING WALL TRIM #387030

AutoCAD SHX Text
INSTALL WALL PANEL VERTICAL ON BOTH SIDES

AutoCAD SHX Text
INSTALL WALL PANEL VERTICAL ON THIS SIDE (ONLY)

AutoCAD SHX Text
WING WALL TRIM #387030

AutoCAD SHX Text
INSTALL WALL PANEL VERTICAL ON THIS SIDE (ONLY)

AutoCAD SHX Text
INSIDE CORNER TRIM #380430

AutoCAD SHX Text
NOTCH OUT

AutoCAD SHX Text
NOTCH OUT

AutoCAD SHX Text
RUN PANELS HORIZONTAL ON OPENING SIDE.

AutoCAD SHX Text
NOTE:  MITER ALL PARAPET RAKE TRIMS TRIMS AT EXTERIOR PARAPET CORNERS ONLY (NOT AT PARAPET OPENINGS)

AutoCAD SHX Text
FIELD FORM & INSTALL ALL WING WALL TRIMS #387030 BEFORE INSTALLING PARAPET RAKE TRIM

AutoCAD SHX Text
INSTALL END CAP #380230 AND FASTEN WITH POP RIVETS #762020

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
19 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by

Sun Prairie, W 53590

800—-929-3726
Florida Licence # PE 56328

Address: 314 Wilburn Road

NOTE: SOME FIELD NOTCHING

OF FLOOR PANELS AND
W8 x 10 BEAM

TRIM 1S REQUIRED AROUND @'3 : A,
RAILING POSTS - — — — —
NOTE: FIELD WELD ALL AROUND
WITH 3/16” FILLET WELD ) ] \JOBTS
| N | )I
j \—
SOFFIT/WALL PANEL #367930
., ANGLE 4”X4"X120" #380008, — FASTEN @ 6” 0.C. TO EVERY ]
1/2” DIA. BOLT — ATTACH TO STRUCTURAL BEAM W/ JOIST WITH #12 x 1 1/4” S.D.
bl ”» b j k |_
2” OF CONCRETE BY OTHERS B o Y 3/8” DIA. BOLTS (2" 0.C. FIELD SCREWS #104170 " =
— T
S Z DRILL), ATTACH TO STUDS W/ STEP TRIM #381430 FASTEN ] 2 =
SCREWS #760600 N 3
. N WITH #12 x 3/4" S.D. INSIDE CORNER TRIM #380430 & &
L SCREWS #104080 @ 12" 0.C.  FASTEN TRIM TO PANEL WITH L - &
— 12 x 3/4” S.D. SCREWS #104080 @ ] = o 35
INSTALL DECKTITE #399149 AROUND INSIDE CORNER TRIM #3804 30 #12 S - ©
RAILING SLEEVES BﬁFORE INSTALLING B t FASTEN TRIM TO PANEL WITH 127 0.C. (CENTER OF EACH PANEL) A
” O
RAIL SYSTEM. FASTEN WITH TAPCONS #12 x 3/4" S.D. SCREWS #104080 e = © I
#502840 FOR ATTACHING DECKTITE @ 12" 0.C. (CENTER OF EACH PANEL) INTERIOR WALL J T % w3z
TO CONCRETE FLOOR STUD . =2 g
NOTCH TRIM #384630 FASTEN WITH e O & 2O
#12 x 3/4” S.D. SCREWS #104080 AT 2'—0" O.C. A, £ Ez ¢ 8
423 ¢ g
9 ) << ) <|l' & =
STRUCTURAL FLOOR BEAM - 6—6 1/2 S ¥ 2R w2
25z 88§
£ 3T % =
.538ZE
T & s & £ =

‘SECT\ON [HRU HANDRAIL StCIION THRU RECESSED BALCONY CEILING

) - o
LL] - >
99 ] ; O)E
M
[ FASTEN WITH SCREWS #/60600 @ 6 0O.C. I_ Ic_p éggg
—Jd o] 5:i82
CONCRETE STOP ANGLE #387630 ——— = FLOOR PANEL JOISTS — £33
(ALIGN EDGE OF ANGLE TO EDGE QO= WBEL
OF WALL STUD) | W12 x 30 BEAM / W14 x 34 BEAM < =T E%Sﬂi
= -7 < =l sExfe
RAKE TRIM #380830 | L. . | =528
<A T o
LlJ L L 1 N8
/ Oc | ehi
WALL PANEL STEP TRIM #381430 FASTEN LLt e =
r S.D. SCREWS #104080 @ 12" O.C. jg@i
A —— C (CENTER OF EACH PANEL) =
— = b
RECESSED BALCONY FLOOR EDGE DETAIL E N || :
FASTEN TRIM TO PANEL WITH #12 x 3/4"
S.D. SCREWS #104080 @ 12" O.C.
) _ WALL PANEL C (CENTER OF EACH PANEL) >
- STEP TRIM #381330 e X / of <
WALL PANEL #370830 WALL PANEL #370830
FASTEN TRIM TO STUDS ﬁ P L|I_
WITH #12 x 1 1/4” SCREWS V' A, ™ %
#104170 AT 2'=0" O.C. INTERIOR WALL STUD INTERIOR WALL STUD =
WALL STUDS — ) » - ]
- 117 =0 _ g 3§ S
F . .. . —=+—2" OF CONCRETE BY OTHERS O b §
: | = FLOOR PANELS = = 2
| 1\ o = E m
T § O ocf v
N 0p) = U o D
' ' ' SECTION THRU RECESSED BALCONY CEILING I RCR
\ C CLESOE = N
J FASTEN TRIM TO FLOOR PANEL 3 %D‘
WITH #12 x 1 1/4” SCREWS —
4104170 AT 1'=0" O.C. DECEMBER 10, 2021
Drawn by WDM
TOWER RECESSED AREA STEP TRIM DETAIL e
SPW

Scale
SHOWN

Order No.

FTE—796 / #244368

Sheet No.

20 of 25



AutoCAD SHX Text
RECESSED BALCONY DETAILS

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale

AutoCAD SHX Text
Checked by

AutoCAD SHX Text
Drawn by

AutoCAD SHX Text
Date

AutoCAD SHX Text
Job Description

AutoCAD SHX Text
Sheet Title

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
SECTION THRU RECESSED BALCONY CEILING

AutoCAD SHX Text
01

AutoCAD SHX Text
C

AutoCAD SHX Text
SECTION THRU RECESSED BALCONY CEILING

AutoCAD SHX Text
01

AutoCAD SHX Text
B

AutoCAD SHX Text
NOTCH TRIM #384630 FASTEN WITH  #12 x 3/4" S.D. SCREWS #104080 AT 2'-0" O.C. 

AutoCAD SHX Text
ANGLE 4"X4"X120" #380008, ATTACH TO STRUCTURAL BEAM W/ 3/8" DIA. BOLTS (2' 0.C. FIELD DRILL), ATTACH TO STUDS W/ SCREWS #760600

AutoCAD SHX Text
JOISTS 

AutoCAD SHX Text
JOISTS 

AutoCAD SHX Text
SOFFIT/WALL PANEL #367930 FASTEN @ 6" O.C. TO EVERY JOIST WITH #12 x 1 1/4" S.D. SCREWS #104170

AutoCAD SHX Text
INTERIOR WALL STUD

AutoCAD SHX Text
INSIDE CORNER TRIM #380430  FASTEN TRIM TO PANEL WITH  #12 x 3/4" S.D. SCREWS #104080 @ 12" O.C. (CENTER OF EACH PANEL)

AutoCAD SHX Text
INSIDE CORNER TRIM #380430  FASTEN TRIM TO PANEL WITH #12 x 3/4"  S.D. SCREWS #104080 @ 12" O.C.   (CENTER OF EACH PANEL)

AutoCAD SHX Text
STEP TRIM #381430 FASTEN WITH #12 x 3/4" S.D. SCREWS #104080 @ 12" O.C.

AutoCAD SHX Text
INTERIOR WALL STUD

AutoCAD SHX Text
W12 x 30 BEAM

AutoCAD SHX Text
W8 x 10 BEAM

AutoCAD SHX Text
INSIDE CORNER TRIM #380430  FASTEN TRIM TO PANEL WITH  #12 x 3/4" S.D. SCREWS #104080  @ 12" O.C. (CENTER OF EACH PANEL)

AutoCAD SHX Text
W14 x 34 BEAM

AutoCAD SHX Text
NOTE: SOME FIELD NOTCHING

AutoCAD SHX Text
NOTE:  FIELD WELD ALL AROUND

AutoCAD SHX Text
INSTALL DECKTITE #399149 AROUND RAILING SLEEVES BEFORE INSTALLING RAIL SYSTEM. FASTEN WITH TAPCONS #502840 FOR ATTACHING DECKTITE TO CONCRETE FLOOR

AutoCAD SHX Text
STRUCTURAL FLOOR BEAM

AutoCAD SHX Text
WITH 3/16" FILLET WELD

AutoCAD SHX Text
1/2" DIA. BOLT

AutoCAD SHX Text
2" OF CONCRETE BY OTHERS

AutoCAD SHX Text
OF FLOOR PANELS AND

AutoCAD SHX Text
RAILING POSTS

AutoCAD SHX Text
TRIM IS REQUIRED AROUND

AutoCAD SHX Text
SECTION THRU HANDRAIL

AutoCAD SHX Text
01

AutoCAD SHX Text
A

AutoCAD SHX Text
STEP TRIM #381430 FASTEN WITH #12 x 3/4" S.D. SCREWS #104080 @ 12" O.C.

AutoCAD SHX Text
INSIDE CORNER TRIM #380430  FASTEN TRIM TO PANEL WITH #12 x 3/4"  S.D. SCREWS #104080 @ 12" O.C.   (CENTER OF EACH PANEL)

AutoCAD SHX Text
INTERIOR WALL STUD

AutoCAD SHX Text
FASTEN TRIM TO FLOOR PANEL

AutoCAD SHX Text
#104170 AT 1'-0" O.C.

AutoCAD SHX Text
WITH #12 x 1 1/4" SCREWS

AutoCAD SHX Text
FLOOR PANELS

AutoCAD SHX Text
TOWER RECESSED AREA STEP TRIM DETAIL

AutoCAD SHX Text
FASTEN TRIM TO STUDS

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
STEP TRIM #381330

AutoCAD SHX Text
#104170 AT 2'-0" O.C.

AutoCAD SHX Text
WITH #12 x 1 1/4" SCREWS

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
RAKE TRIM #380830

AutoCAD SHX Text
CONCRETE STOP ANGLE #387630

AutoCAD SHX Text
(ALIGN EDGE OF ANGLE TO EDGE

AutoCAD SHX Text
OF WALL STUD)

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
FLOOR PANEL

AutoCAD SHX Text
STUD WALL TRACK #330000

AutoCAD SHX Text
STUD WALL

AutoCAD SHX Text
FASTEN WITH SCREWS #760600 @ 6" O.C.

AutoCAD SHX Text
RECESSED BALCONY FLOOR EDGE DETAIL

AutoCAD SHX Text
2" OF CONCRETE BY OTHERS

AutoCAD SHX Text
WALL PANEL #370830

AutoCAD SHX Text
WALL PANEL #370830

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
20 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by

NOTE:  FRAMED OPENING FRAMING WILL REQUIRE SOME FIELD CUTTING

Sun Prairie, WI 53590

800—-929-3726
Florida Licence # PE 56328

o
o
o

14
c
—
3

2

=

<

M
“
]
o
o

°

o

<C

WALL TRACK #330000
/ 4" x 2" 20 GA. CHANNELS
F - - WALL TRACK #330000
/ 4" x 2" 20 GA. CHANNELS WALL TRACK #330000 WALL TRACK #330000
= / = / 4" x 2”7 20 GA. CHANNELS / ‘ 4" x 27 20 GA. CHANNELS
= 7 = = [ T
— WINDOW HEADER #330002
‘\ (2) 10 3/4” x 2" "CEE'S”
F.O0. TRACK #330000 A
ST N\ HEADER TRACK 330000
F.0. TRACK #330000 “ WITH CLIPS #330001 ——F.0. TRACK #330000 : <A4TTAX<:|3 HZE%D%AR’SCTHC?NS'LEUL%TER w =
” 2 p 3 ” < > ©
(47 x 2% 20 GA. CHANNEL) < (4" x 2" 20 GA. CHANNEL) < JAMBS WITH CLIPS #340001 > =
ATTACH TO DOOR JAMBS 5 ATTACH TO DOOR JAMBS 5 = =
WITH CLIPS #3550001 & = JAMB SUPPORTS (SAME AS SWING DOOR) WITH CLIPS #550001 % ~——— F.0. STUDS #330226 S =
” ” 1 1 ” ”» ” bR Ll P() D_
4” x 2" 16 GA. "CEE -0 1/4 4” x 3”16 GA. "CEE T o %
T SWING DOOR JAMB SUPPORTS +=——— SWING DOOR JAMB SUPPORTS . By
% 4" x 2”16 GA. "CEE 5.0 1/4" “ 4" x 2" 16 GA. "CEE” F.0. TRACK #530000 i = © 3
" y © / (4" x 2”7 20 GA. CHANNEL) £ 5 w8z
T W~ ATTACH TRACK TO SHUTTER ST S~
™ m . JAMBS WITH CLIPS #330001 08 29
T s S Y”ALL 28”TU2%SGA "CEE” & & § % -
4" x 2” 20 GA. "CEE < X : 3 3 2238
9 O 0 w 9 IL o« %
ABOVE HIGHEST POINT OF EITHER THE . & . o Z €3 340
METAL /CONCRETE FINISHED FLOOR OR .18 ABOVE HIGHEST POINT OF EITHER THE ABOVE HIGHEST POINT OF EITHER THE .2 ABOVE HIGHEST POINT OF EITHER THE ©cw - B 5 2
CURB (NOT NECESSARILY TO THE 2 METAL/CONCRETE FINISHED FLOOR OR METAL/CONCRETE FINISHED FLOOR OR = METAL/CONCRETE FINISHED FLOOR OR = - 5282 ¢
BOTTOM OF THE STUD TRACK) . CURB (NOT NECESSARILY TO THE CURB (NOT NECESSARILY TO THE 3 CURB (NOT NECESSARILY TO THE © o g o <3
= BOTTOM OF THE STUD TRACK) BOTTOM OF THE STUD TRACK) < BOTTOM OF THE STUD TRACK) v & L B o E
s = ~— 4 = e = 1 = /4 -
3—4" 3-01/4"

TYPICAL TOWER SWING DOOR TYPICAL TOWER WINDOW/SHUTTER TYPICAL BURN ROOM SWING DOOR TYPICAL ANNEX BURN ROOM WINDOW/SHUTTER
FRAMED OPENING ELEVATION FRAMED OPENING ELEVATION FRAMED OPENING ELEVAIION FRAMED OPENING ELEVATION

INFO@ FIREFACILITIES.COM

STUD WALL TRACK \

FASTEN WITH #12 x 3/4” #760604 w

FIRE FACILITIES, INC.
314 WILBURN ROAD, SUN PRAIRIE, WI 53590

STEEL FIRE TRAINING TOWERS

FIRE FACILITIES

OFFICE: (608) 327—4100 FAX: (608) 834—1843
TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639—7012

LINER PANEL FINISHING TRIM 358440 SCREWS ON BOTH SIDES OF HEMMED §
) \—_| JOINT AND @ 10" MAX 0.C. — TOP, w o
FASTEN WITH #12 x 3/4" ———=—tm= | BOTTOM AND MIDDLE (STRAP BRACING) \ =
SCREWS #760604 @ EACH STUD OF EACH WALL PANEL B WALL TRACK #330000 S
WALL STUDS »w < / 4” x 2" 20 GA. CHANNELS n
o
STRAP BRACING #340002 @ w TN TN N N\ ™l = 4 = =
L AN i ST FRSTEN W 412 3/8° :
\ ~ < LINER PANEL FINISHING < SCREWS #760004 @ 127 0.C. - DOOR HEADER #330003
TRIM #358140 . oo
CASTEN PANELS TO STRAP \m—: \| LINER PANEL INTERIOR CORNER TRIM #358240 (2) 16 3/4" x 2" "CEE's
BRACING WITH SCREWS #760604
| FASTEN WITH #12 x 3/47 28 GA. LINER PANEL
08 GA. LINER PANEL - LOCK WALL PANEL HEM INTO PLACE SCREWS #760604 © 127 0O.C. ¥
(VARIED LENGTHS) BEFORE FASTENING | | B _\ HEADER TRACK #330000
w - 20" COVERAGE - N ~ /ST /N S ] (47 x 27 20 GA. CHANNEL) <+
LINER PANEL FINISHING TRIM #358140 | ATIACH HEADERS TO DOOR I
JAMBS WITH CLIPS #340001 L
SECTION THRU TYP. LINER PANEL SHEET % L
FASTEN WITH #12 x 3/4” — > | I
SCREWS #760604 @ 12" O.C. |__ ‘ S S S S T F.0. STUDS #530226 L
4" x 3”7 16 GA. "CEE” O 1
/ 7 Q -
|
STUD WALL TRACK ==—HOLD LINER PANEL WALL %" LINER PANEL EXTERIOR CORNER TRIM #358340 ™~ = 3
SECTION THRU WALL AWAY FROM F.0. EDGE U E 9
FASTEN WITH #12 x 3/4” SCREWS L =
FASTEN J TRIM #358040 WITH #12 x 4760604 @ 12’% Oé / i O == =
(2\§Algléb NER TPHASI;EL 3/4” SCREWS #760604 @ 12" O.C. - 8 8 2 o =
w 28 GA. LINER PANEL I LINER PANEL FINISHING TRIM #358140 5 Ll g E S
\4\ B | _—28 GA. LINER PANEL ABOVE HIGHEST POINT OF EITHER THE 2 ; O O § g
FRAMED OPENING STUD — %ﬂ —~ A METAL /CONCRETE FINISHED FLOOR OR §3 s
FASTEN J TRIM WITH #12 x 3/4” / | | | CURB (NOT NECESSARILY TO THE Date DECEMBER 10. 2021
BOTTOM OF THE STUD TRACK '
SCREW #/60604 @ EACH STUD STRAP BRACING #340002 % % > Drawn by: WDM
‘ | “E = Checked by: W
/)— 3-01/4" Scale: SHOWN
LINER PANEL J TRIM #358040 SECTION THRU F.O. JAMB Order No.

TYPICAL ANNEX BURN ROOM SWING DOOR FTE-796 / 244368
LINER PANEL FASTENING DETAILS FRAMED OPENING ELEVATION sheet e

21 of 25

SECTION THRU F.O. HEAD



AutoCAD SHX Text
MISC. DETAILS

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
TYPICAL TOWER SWING DOOR

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
SWING DOOR JAMB SUPPORTS

AutoCAD SHX Text
4" x 2" 16 GA. "CEE"

AutoCAD SHX Text
WALL TRACK #330000

AutoCAD SHX Text
4" x 2" 20 GA. CHANNELS

AutoCAD SHX Text
FRAMED OPENING ELEVATION

AutoCAD SHX Text
FRAMED OPENING ELEVATION

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
4" x 2" 20 GA. "CEE"

AutoCAD SHX Text
JAMB SUPPORTS (SAME AS SWING DOOR)

AutoCAD SHX Text
4" x 2" 16 GA. "CEE"

AutoCAD SHX Text
TYPICAL TOWER WINDOW/SHUTTER

AutoCAD SHX Text
NOTE:  FRAMED OPENING FRAMING WILL REQUIRE SOME FIELD CUTTING

AutoCAD SHX Text
FRAMED OPENING ELEVATION

AutoCAD SHX Text
TYPICAL BURN ROOM SWING DOOR

AutoCAD SHX Text
SWING DOOR JAMB SUPPORTS

AutoCAD SHX Text
4" x 2" 16 GA. "CEE"

AutoCAD SHX Text
TYPICAL ANNEX BURN ROOM SWING DOOR

AutoCAD SHX Text
F.O. STUDS #330226

AutoCAD SHX Text
4" x 3" 16 GA. "CEE"

AutoCAD SHX Text
WALL TRACK  #330000

AutoCAD SHX Text
4" x 2" 20 GA. CHANNELS

AutoCAD SHX Text
DOOR HEADER #330003

AutoCAD SHX Text
(2) 16 3/4" x 2" "CEE's"

AutoCAD SHX Text
FRAMED OPENING ELEVATION

AutoCAD SHX Text
FRAMED OPENING ELEVATION

AutoCAD SHX Text
WALL TRACK #330000

AutoCAD SHX Text
4" x 2" 20 GA. CHANNELS

AutoCAD SHX Text
F.O. STUDS #330226 

AutoCAD SHX Text
4" x 3" 16 GA. "CEE"

AutoCAD SHX Text
TYPICAL ANNEX BURN ROOM WINDOW/SHUTTER

AutoCAD SHX Text
WINDOW HEADER #330002

AutoCAD SHX Text
(2) 10 3/4" x 2" "CEE's"

AutoCAD SHX Text
HEADER TRACK #330000  (4" x 2" 20 GA. CHANNEL) ATTACH HEADERS TO DOOR JAMBS WITH CLIPS #340001

AutoCAD SHX Text
F.O. TRACK #330000 (4" x 2" 20 GA. CHANNEL) ATTACH TRACK TO SHUTTER JAMBS WITH CLIPS #330001

AutoCAD SHX Text
HEADER TRACK #330000  (4" x 2" 20 GA. CHANNEL) ATTACH HEADERS TO SHUTTER JAMBS WITH CLIPS #340001

AutoCAD SHX Text
F.O. TRACK #330000  (4" x 2" 20 GA. CHANNEL) ATTACH TO DOOR JAMBS WITH CLIPS #330001

AutoCAD SHX Text
WALL TRACK #330000

AutoCAD SHX Text
4" x 2" 20 GA. CHANNELS

AutoCAD SHX Text
F.O. TRACK #330000  (4" x 2" 20 GA. CHANNEL) ATTACH TO SHUTTER JAMBS WITH CLIPS #330001

AutoCAD SHX Text
F.O. TRACK #330000  (4" x 2" 20 GA. CHANNEL) ATTACH TO DOOR JAMBS WITH CLIPS #330001

AutoCAD SHX Text
WALL TRACK #330000

AutoCAD SHX Text
4" x 2" 20 GA. CHANNELS

AutoCAD SHX Text
ABOVE HIGHEST POINT OF EITHER THE METAL/CONCRETE FINISHED FLOOR OR CURB (NOT NECESSARILY TO THE BOTTOM OF THE STUD TRACK)

AutoCAD SHX Text
ABOVE HIGHEST POINT OF EITHER THE METAL/CONCRETE FINISHED FLOOR OR CURB (NOT NECESSARILY TO THE BOTTOM OF THE STUD TRACK)

AutoCAD SHX Text
ABOVE HIGHEST POINT OF EITHER THE METAL/CONCRETE FINISHED FLOOR OR CURB (NOT NECESSARILY TO THE BOTTOM OF THE STUD TRACK)

AutoCAD SHX Text
ABOVE HIGHEST POINT OF EITHER THE METAL/CONCRETE FINISHED FLOOR OR CURB (NOT NECESSARILY TO THE BOTTOM OF THE STUD TRACK)

AutoCAD SHX Text
ABOVE HIGHEST POINT OF EITHER THE METAL/CONCRETE FINISHED FLOOR OR CURB (NOT NECESSARILY TO THE BOTTOM OF THE STUD TRACK)

AutoCAD SHX Text
LINER PANEL FASTENING DETAILS

AutoCAD SHX Text
LINER PANEL FINISHING TRIM #358140

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" SCREWS #760604 @ 12" O.C.

AutoCAD SHX Text
SECTION THRU WALL

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" SCREWS #760604 @ 12" O.C.

AutoCAD SHX Text
FASTEN PANELS TO STRAP BRACING WITH SCREWS #760604 

AutoCAD SHX Text
LINER PANEL FINISHING TRIM 358440

AutoCAD SHX Text
STRAP BRACING #340002

AutoCAD SHX Text
28 GA. LINER PANEL

AutoCAD SHX Text
28 GA. LINER PANEL

AutoCAD SHX Text
LINER PANEL EXTERIOR CORNER TRIM #358340

AutoCAD SHX Text
LINER PANEL INTERIOR CORNER TRIM #358240

AutoCAD SHX Text
FASTEN J TRIM #358040 WITH #12 x #358040 WITH #12 x  WITH #12 x 3/4" SCREWS #760604 @ 12" O.C.

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" SCREWS #760604 @ 12" O.C.

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" SCREWS #760604 @ 12" O.C.

AutoCAD SHX Text
28 GA. LINER PANEL

AutoCAD SHX Text
STRAP BRACING #340002 @ MIDPOINT OF WALL FASTEN STRAPS TO STUDS WITH SCREWS #760600

AutoCAD SHX Text
28 GA. LINER PANEL (VARIED LENGTHS)

AutoCAD SHX Text
LINER PANEL FINISHING TRIM #358140

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" SCREWS #760604 @ EACH STUD

AutoCAD SHX Text
STUD WALL TRACK

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
STUD WALL TRACK

AutoCAD SHX Text
FASTEN WITH #12 x 3/4" #760604 SCREWS ON BOTH SIDES OF HEMMED JOINT AND @ 10" MAX O.C. - TOP, BOTTOM AND MIDDLE (STRAP BRACING) OF EACH WALL PANEL

AutoCAD SHX Text
FASTEN J TRIM WITH #12 x 3/4" SCREW #760604 @ EACH STUD

AutoCAD SHX Text
LINER PANEL J TRIM #358040

AutoCAD SHX Text
SECTION THRU F.O. HEAD

AutoCAD SHX Text
28 GA. LINER PANEL (VARIED LENGTHS)

AutoCAD SHX Text
LOCK WALL PANEL HEM INTO PLACE BEFORE FASTENING 

AutoCAD SHX Text
SECTION THRU TYP. LINER PANEL SHEET

AutoCAD SHX Text
LINER PANEL FINISHING TRIM #358140

AutoCAD SHX Text
SECTION THRU F.O. JAMB

AutoCAD SHX Text
FRAMED OPENING STUD

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
21 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by

CANOPY RIDGE CAP #395020

CANOPY ROOF
PANELS #3595000

CANOPY RIDGE ROOF PANEL SUPPORT ANGLE
SUPPORT #395010 #510700 FASTEN TO BUILDING
WALL PANELS WITH #12 X 1-1/4"

SCREWS #10417/0

CANOPY RAKE
TRIM #395230

Sun Prairie, WI 53590

800-929-3726

CANOPY EAVE STRUT
T #395430 FASTEN TO
/=6 COLUMN WITH 3/8”
BOLTS & NUTS

Florida Licence # PE 56328

°
o
o

o
c
—
3

2

=

<

M
]
1]
o
—

°

°

<C

CANOPY SUPPORT CHANNEL CANOPY WALL PANEL #3595130
#395350 FASTEN TO COLUMNS
WITH 3/8” BOLTS & NUTS

NOTE: ONE CANOPY SUPPORT
CHANNEL SHOULD BE FASTENED TO

THE WALL PANEL WITH #12 x 1-1/4" SCREWS =
#104170 AT 1'=0" O.C. % ,%
g =
L o
: = o3 g
00 L QL
| L Te) < ]
- o g o
@ % = =
L T -~ ‘o
T O W o =
— = o © -
CANOPY SUPPORT LI 5 : a
COLUMNS #311018 € W oa xS
o S 5 o S
4 O v O @
= T O
o w o &L ® 3
=Z o < o W ©H
< T ™ o n
~—~
S5z ¥ g &
= > S5 L o
< == m — X
r o« 4 .. < =
0O W = W = E
%2] % = a =
T @ 3 t zZ
E a » &6 & =
D~ y
o- o
LLl ~
| — = Q=
H o o Q © 8
— 0 5
— D -GN
j o 84 S
. 7-6 _ — = e he
= ~00 <C L
CANOPY FRAMING DETAIL CANOPY ELEVATION O] u8h
<L=| =z "
|C.—C 5o XEg
NOTE: m LLI E% . Z
INSTALL BRUSH SEAL ON ANY o J»n 39
FIRST FLOOR NON—BURN ROOM [T= L|J — 2T 03
DOOR THAT IS POSITIONED ON TOP L L 198
OF CURB LEVEL (IF ANY) m — L 2 L%
» F.0. TRIM — Lz oF
] #12 x 3/4” SELF DRILLING Ly e
SCREWS #/60600 . m Qo ~<
! DOOR «» =8k
& (NON—BURN ROOM) + Bk
. SHE
FASTEN TO DOOR WITH #12 X % =
HEX HEAD #760600 12" O.C. -
—
— T 7" BRUSH SEAL #392022 o
L \
INSTALL BRUSH SEAL #392022 ON BOTH DOOR JAMBS TO
COVER CURB OPENING WITH #12 X %" HEX HEAD
760600.
POSITIVE DOOR \\\/iig//// #
HOLDER #392010° nooR /SHUTTER <+
DOOR HOLDER (NON INSULATED DOORS/SHUTTERS ONLY) L
L
% MIN. -
NOTE: - /| Ll_l
ALWAYS MOUNT CLOSURE TILTED TO w ) N L
THE SIDE & WITH THE LOOSE LUG ON _ ! 3 =
TOP. AFTER DOOR SPRING CLOSURE IS ! LT'ESXTAHLELAEV'T,SHD@%C@ZWX#7/g06oo DOOR HINGE (@) L S
INSTALLED, TURN THE TOP LUG | - IMPORTANT NOTE: PLACE PIVOT POINT ONLY INSTALL (2) MACHINE S -
CLOCKWISE UNTIL DESIRED TENSION IS | ONLY INSTALL TWO MACHINE RIGHT NEXT TO F.0. TRIM TO ENSURE SCREWS N THE HIOLES. SHOWN = N
OBTAINED AND INSERT STOP BAR AS I SCREWS IN THE OUTER HOLES. PROPER SCREW ATTACHMENT TO JAMB. : ) O = Lol =
SHOWN. | % Ao POOr 97 FRAMED OPENING >\ EXTERIOR WALL S O O = L
. — | TRIM 1 PANEL 3 = o 5 O
( STOP BAR — KSHUTTERO F T TT | @,’4 o S & 0 L Z
()
» %./ < Il 21— DOOR STOP N S =T o5 32
— = | q 8
9 P> @ —I (o) %)
STOP BAR 3 3 o ] .o gl | o o ;ate'
) @ ~ DOOR STOP <. E = ' DECEMBER 10, 2021
™— SPRING DOOR CLOSURE /} : Drawn by:
PIVOT POINT — #392015 o d = WDM
LINE ] | I ] ||| I— Checked by:
CENTER CLOSURES » e _ e . (R il
SETWEEN UPPER HINGES ,— DOOR HINGE INSTALL 1/4”=20 x 1”7 COUNTERSUNK INSTALL 1/4”=20 x 1" COUNTERSUNK FRAMED OPENING Scale:
MACHINE SCREWS #392001 AND WHIZ MACHINE SCREWS #392001 AND WHIZ SHOWN
NUTS #502910 (ONLY TWO PER HINGE). NUTS #502910 (ONLY TWO PER HINGE). TRIM Order No.
BURN ROOM OBSTRUCTED AREAS USE TOGGLE WINGS OBSTRUCTED AREAS USE TOGGLE WINGS L DOOR HINGE FTE—796 / #244368
DOOR w #392002 IN PLACE OF WHIZ NUTS. #392002 IN PLACE OF WHIZ NUTS. DOOR /SHUTTER heof No.

BURN ROOM DOOR/GABLED ATTIC CLOSURE SWING OUT SECTION VIEW OF NONBURN ROOM JAMB SWING IN SECTION VIEW OF NONBURN ROOM JAMB 29 of 25



AutoCAD SHX Text
CANOPY WALL PANEL #395130

AutoCAD SHX Text
CANOPY SUPPORT CHANNEL

AutoCAD SHX Text
#395330 FASTEN TO COLUMNS

AutoCAD SHX Text
WITH 3/8" BOLTS & NUTS

AutoCAD SHX Text
NOTE: ONE CANOPY SUPPORT

AutoCAD SHX Text
CHANNEL SHOULD BE FASTENED TO

AutoCAD SHX Text
THE WALL PANEL WITH #12 x 1-1/4" SCREWS

AutoCAD SHX Text
#104170 AT 1'-0" O.C.

AutoCAD SHX Text
MISC. DETAILS CONT.

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
CANOPY RAKE TRIM #395230

AutoCAD SHX Text
CANOPY ROOF PANELS #395000

AutoCAD SHX Text
CANOPY RIDGE CAP #395020

AutoCAD SHX Text
CANOPY RIDGE SUPPORT #395010  

AutoCAD SHX Text
CANOPY EAVE STRUT #395430 FASTEN TO COLUMN WITH 3/8" BOLTS & NUTS

AutoCAD SHX Text
CANOPY SUPPORT COLUMNS #311018

AutoCAD SHX Text
CANOPY FRAMING DETAIL

AutoCAD SHX Text
CANOPY ELEVATION

AutoCAD SHX Text
DOOR/SHUTTER

AutoCAD SHX Text
POSITIVE DOOR HOLDER #392010

AutoCAD SHX Text
DOOR HOLDER (NON INSULATED DOORS/SHUTTERS ONLY)

AutoCAD SHX Text
#12 x 3/4" SELF DRILLING SCREWS #760600

AutoCAD SHX Text
ROOF PANEL SUPPORT ANGLE 

AutoCAD SHX Text
#510700 FASTEN TO BUILDING 

AutoCAD SHX Text
WALL PANELS WITH #12 X 1-1/4" 

AutoCAD SHX Text
SCREWS #104170

AutoCAD SHX Text
NOTE:  ALWAYS MOUNT CLOSURE TILTED TO THE SIDE & WITH THE LOOSE LUG ON TOP. AFTER DOOR SPRING CLOSURE IS INSTALLED, TURN THE TOP LUG CLOCKWISE UNTIL DESIRED TENSION IS OBTAINED AND INSERT STOP BAR AS SHOWN.

AutoCAD SHX Text
DOOR HINGE

AutoCAD SHX Text
BURN ROOM DOOR/GABLED ATTIC CLOSURE 

AutoCAD SHX Text
BURN ROOM DOOR

AutoCAD SHX Text
PIVOT POINT LINE

AutoCAD SHX Text
TOP

AutoCAD SHX Text
INSTALL WITH (6) #12 X  " 34" HEX HEAD S.D. SCREW #760600

AutoCAD SHX Text
STOP BAR

AutoCAD SHX Text
STOP BAR

AutoCAD SHX Text
SPRING DOOR CLOSURE #392015

AutoCAD SHX Text
X2 ON BURN DOOR; X1 ATTIC

AutoCAD SHX Text
MINIMUM USAGE GUIDELINES:

AutoCAD SHX Text
1.  RECOMMENDED BURN ROOM MAXIMUM SAFE TRAINING TEMPERATURE IS 1200 degrees F (600 degree F. IN

AutoCAD SHX Text
     SPOT BURN AREAS).

AutoCAD SHX Text
2.  CLEAR SIMULATOR OF ALL PERSONNEL AND UNLOCK ALL MEANS OF EGRESS BEFORE IGNITING FIRE.

AutoCAD SHX Text
3.  FIRE SHOULD NOT BE DIRECTLY POSITIONED ON METAL FLOOR OR PREMATURE DAMAGE WILL OCCUR.

AutoCAD SHX Text
4.  FIRE SHOULD ONLY BE PLACED IN DESIGNATED BURN/INSULATED AREAS.

AutoCAD SHX Text
5.  TEMPERATURE MONITORING DEVICE, FIRE CONDITIONS, AND TRAINEES SHALL BE CONSTANTLY

AutoCAD SHX Text
     MONITORED BY A TRAINING OR SAFETY OFFICER(S).

AutoCAD SHX Text
6.  THIS STRUCTURE TO BE USED IN STRICT CONFORMANCE WITH N.F.P.A. 1403.

AutoCAD SHX Text
F

AutoCAD SHX Text
IRE 

AutoCAD SHX Text
F

AutoCAD SHX Text
ACILITIES, INC.

AutoCAD SHX Text
350 Business Park Drive  Sun Prairie, WI 53590-9401

AutoCAD SHX Text
1-800-929-3726

AutoCAD SHX Text
Toll Free Fax  1-866-639-7012

AutoCAD SHX Text
608-327-4100

AutoCAD SHX Text
TOP

AutoCAD SHX Text
TOP

AutoCAD SHX Text
CENTER CLOSURES BETWEEN UPPER HINGES

AutoCAD SHX Text
DOOR STOP

AutoCAD SHX Text
DOOR/SHUTTER

AutoCAD SHX Text
EXTERIOR WALL PANEL

AutoCAD SHX Text
DOOR HINGE 

AutoCAD SHX Text
FRAMED OPENING TRIM

AutoCAD SHX Text
SWING IN SECTION VIEW OF NONBURN ROOM JAMB

AutoCAD SHX Text
INSTALL 1/4"-20 x 1" COUNTERSUNK MACHINE SCREWS #392001 AND WHIZ NUTS #502910 (ONLY TWO PER HINGE). OBSTRUCTED AREAS USE TOGGLE WINGS #392002 IN PLACE OF WHIZ NUTS.

AutoCAD SHX Text
ONLY INSTALL (2) MACHINE SCREWS IN THE HOLES SHOWN.

AutoCAD SHX Text
SHUTTER

AutoCAD SHX Text
SWING OUT SECTION VIEW OF NONBURN ROOM JAMB

AutoCAD SHX Text
INSTALL 1/4"-20 x 1" COUNTERSUNK MACHINE SCREWS #392001 AND WHIZ NUTS #502910 (ONLY TWO PER HINGE). OBSTRUCTED AREAS USE TOGGLE WINGS #392002 IN PLACE OF WHIZ NUTS.

AutoCAD SHX Text
DOOR STOP

AutoCAD SHX Text
FRAMED OPENING TRIM

AutoCAD SHX Text
DOOR HINGE  IMPORTANT NOTE: PLACE PIVOT POINT  PLACE PIVOT POINT RIGHT NEXT TO F.O. TRIM TO ENSURE PROPER SCREW ATTACHMENT TO JAMB. 

AutoCAD SHX Text
ONLY INSTALL TWO MACHINE SCREWS IN THE OUTER HOLES.

AutoCAD SHX Text
7" BRUSH SEAL #392022

AutoCAD SHX Text
FASTEN TO DOOR WITH #12 X  " 34" HEX HEAD #760600 12" O.C. 

AutoCAD SHX Text
INSTALL BRUSH SEAL #392022 ON BOTH DOOR JAMBS TO BRUSH SEAL #392022 ON BOTH DOOR JAMBS TO DOOR JAMBS TO COVER CURB OPENING WITH #12 X  " HEX HEAD 34" HEX HEAD #760600. 

AutoCAD SHX Text
F.O. TRIM

AutoCAD SHX Text
DOOR  (NON-BURN ROOM)

AutoCAD SHX Text
TYPICAL NON-BURN DOOR BRUSH SEAL DETAIL

AutoCAD SHX Text
NOTE:  INSTALL BRUSH SEAL ON ANY FIRST FLOOR NON-BURN ROOM DOOR THAT IS POSITIONED ON TOP OF CURB LEVEL (IF ANY) 

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
22 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


=

FASTEN TRIM TO PANELS WITH
2 x 1—1/4” SCREWS #104170 /\(
AT 1'=0” 0.C. =

CAULK TAPE #760703
\ | ROOF PANELS
)/ 36" x 1—1/2”

RIDGE CAP
#382100

e TRIM ( [ O\ [\ [\ [\ 18 GA.
TOP CLOSURE #351301
#380830 4 TAPE CAULK #760703
e )/ / BOTHTOP AND BOTTOM
, ROOF JOISTS OF CLOSURE
Z; 18 GA. ROOF PANELS
p ROOF JOIST
WALL PANELS RESIDENCE RIDGE TRIM DETAIL
8" x 3/4” 18 GA.
g WALL STUDS
AL
- WALL PANEL
OOr PANELS WALL STUDS == STEP TRIM #384430
, , FASTEN TRIM TO STUDS WITH #12 x
36" x 1-1/2” 18 GA.
. / TOP CLOSURE #351301 1—1/4" SCREWS #104170 AT 2’-0" O.C.
SEE ROOF PANEL DETAIL TAPE CAULK #760703
FOR FASTENER PATTERN gngJgguégD BOTTOM
FASTEN TRIM THROUGH
) BOTTOM CLOSURE K CLOSURE INTO PANEL
4351302 TAPE CAULK FASTEN TRIM TO ROOF PAN?F———\\\\\ 7 SURFACE WITH #12 x 1—1/4”
I (#760703) BOTH TOP SUPPORT WITH #12 x 1-1/4 N SCREWS #104170 AT 1'—0"
5 AND BOTTOM OF SCREWS #104170, ONE INTO EACH y 0.C.
+ CLOSURES RECESSED GROOVE IN PANEL
I
all T~ oW EAVE TR 4384230 STEP TRIM #384430—— ,, ROOF PANELS 367 x
-r———*%\\\___ —i—‘ 1—-1/2” 18 GA.
FASTEN TRIM TO PANELS !

WITH #12 x 1—1/4”
SCREWS #104170 AT 1'=0”

\

N !

WALL STUDS ——— WALL PANELS

0.C. \\ g
C

\\ BURN ROOM JOISTS

6" x 3/4" 18 GA. RESIDENCE /ANNEX STEP TRIM DETAIL

\ N
ANNEX EAVE TRIM DETAIL

IMPORTANT:
RECOMMEND POSITIONING ROOF PANELS ON

ROOF STARTING AT ROOF CURB AND

4”7 MIN GAP BETWEEN ROOF PANEL ENDS
AND EDGE OF ROOF CURB TO ALLOW FOR
PROPER FLASHDEK ATTACHMENT

ROOF PANEL ‘\\\\\<i;\_

BOTTOM CLOSURE #3551302. TAPE CAULK

(#760703) BOTH TOP AND BOTTOM OF
CLOSURES — BEHIND FLASHDEK

WORKING OUT FROM THAT POINT. POSITION

ROOF PANEL 2 5/8” (+/—2") FROM EDGE
OF CURBS AS SHOWN BELOW.

PLYWOOD (BY OTHERS)
NAIL TO BLOCKING (NAILS BY OTHERS)

2x4 WOOD BLOCKING (BY
OTHERS) BOLT TO CURB AT
2'—0" 0.C. (BOLTS BY OTHERS)

ROOF PANEL

FLASHDEK #399239
(PUSH INTO RECESSES AS SHOWN)

INSTALL FLASHDEK (#399239) ON LOW SIDE \\kggég;;;;g;;;;gzéf/x

(ONLY). SNAP A CHALK LINE TO PROVIDE A
GUIDE FOR APPLYING SEALANT. APPLY A ,

CONTINUOUS BEAD OF SEALANT ALONG CHALK
LOW SIDE

LINE. POSITION TOP EDGE OF FLASHDEK OVER

SEAL BEAD AND INSTALL #12 x 1-1/4" S.D.

SCREWS (#760502) @ 2”7 0.C. MAX. APPLY
ADDITIONAL SEALANT BOTH FASTENED EDGES

FIELD REMOVE RO/C’)’F
PANEL HIGH RIB

#/60800 AROUND FASTENED
EDGES OF FLASHDEK

~
~N
Y
~N
~
SR
Y
~N

#590504
ROOF JOIST
JOIST END TRACK

| ROOF CURB

FLASHDEK FLASHING

TAPE CAULK #/60/03

) ROOF CURB
AROUND ENTIRE
PERIMETER OF CURB g HIGH SIDES REQUIRE BOTTOM CLOSURE ROOF JOIST

\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ #351302 AND CORRESPONDING TAPE
""""" CAULK #/607/05 — DO NOT INSTALL

FASTEN CURB TO ROOF JOISTS FLASHDEK ON HIGH SIDE OF CURBS

WITH #12 x 1—=1/4" S.D. SCREWS #760502 AT
1’—0” 0.C. (AROUND ENTIRE PERIMETER)

SLOPED ROOF CHOP—OQOUT CURB INSTALLATION DETAIL (SLOPED ROOF SYSTEMS ONLY)

FASTEN TRIM TO STUDS WITH ——
#12 x 1-1/47 SCREWS #104170
AT 2°—Q0" O.C.

WALL STUDS -

A=——WALL PANEL

STEP TRIM #381350

~— INSIDE CORNER TRIM #3581430

FASTEN TRIM TO ROOF PANEL WITH
f#12 x 1—1/47 SCREWS #104170 AT 1'=0" O.C.

I | =—+——ROOF PANEL

éii;%ULK TAPE #760703 7

/

TOWER/GABLED RESIDENCE STEP TRIM DETAIL

WALL STUDS ———

TAPE CAULK #/60703

A=——WALL PANEL

STEP TRIM #381350

FASTEN TRIM TO ROOF PANEL WITH #12 x
1—1/4" SCREWS #104170 AT 1'—0" O.C.

I~

\ T\ \ / \ [ =—ROOF PANEL

GABLED RESIDENCE TO FLAT RESIDENCE ROOF STEP TRIM

ROOF PANELS
367 x 1—-1/2

BOTTOM CLOSURE #351302 TAPE —~—

CAULK #/60/03 BOTH TOP AND
BOTTOM OF CLOSURES |

18 GA.

SEE ROOF PANEL DETAIL
FOR FASTENER PATTERN

FASTEN TRIM TO PANELS

EAVE STRUTS #540060 -

WALL STUDS

WITH #12 x 1—=1/4" SCREWS
#104170 AT 1’=0" O.C.

LOW EAVE TRIM #381530
N
N
WALL PANELS
N 6" x 3/47 18 GA.

TYPICAL EAVE TRIM DETAIL (RESIDENCE)

Vi |

/7 BILCO ROOF HATCH #390400

FASTEN CURB TO ROOF JOISTS WITH #12 X
3/4” SCREWS #760600 AT 1'=0" O.C.
(AROUND ENTIRE PERIMETER)

- -

4

T f

) ]
- -

| (]

\\\v————ROOF PANEL

'}‘\\\\\———BOTTOM CLOSURE #351302

TAPE CAULK (#760703) BOTH
TOP AND BOTTOM OF CLOSURES

XJOIST OR HEADER

CHANNNEL

BILCO ROOF HATCH INSTALLATION DETAIL

REVISIONS by

Sun Prairie, WI 53590

800-929-3726

Florida Licence # PE 56328

°
o
o

o
c
—
3

2

=

<

M
"
1]
o
—

°

°

<C

SUN PRAIRIE, WI 53590

AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
WRITTEN PERMISSION.

PROPERTY OF FIRE FACILITIES, INC.,

314 WILBURN ROAD,
OFFICE: (608) 327—4100 FAX (608) 834—1843

INFO@ FIREFACILITIES.COM

FIRE FACILITIES, INC.
314 WILBURN ROAD, SUN PRAIRIE, WI 53590
OFFICE: (608) 327—4100 FAX: (608) 834—1843

STEEL FIRE TRAINING TOWERS
TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639—7012

FIRE FACILITIES

WWW.FIREFACILITIES.COM;

i
L
L
_|
L
Q
O
=
O
O
n
L
=

=
O
|_
n
D)
O

MISC. DETAILS CONT.

|
L
=
L]
=
|_
W
L]
o
O

Sheet Title:

g Job Description:
@

DECEMBER 10, 2021

Drawn by: WDM

Checked by: SPW

Scale:
SHOWN

Order No- ere_796 / #244368

Sheet No.

25 of 25



AutoCAD SHX Text
MISC. DETAILS CONT.

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
TYPICAL RAKE TRIM DETAIL

AutoCAD SHX Text
TOWER/GABLED RESIDENCE STEP TRIM DETAIL

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
STEP TRIM #381330

AutoCAD SHX Text
CAULK TAPE #760703

AutoCAD SHX Text
INSIDE CORNER TRIM #381430

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
ROOF JOIST

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
6" x 3/4" 18 GA.

AutoCAD SHX Text
CAULK TAPE #760703

AutoCAD SHX Text
RAKE TRIM

AutoCAD SHX Text
#380830

AutoCAD SHX Text
WALL PANELS

AutoCAD SHX Text
ROOF PANEL

AutoCAD SHX Text
RESIDENCE/ANNEX STEP TRIM DETAIL

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
BURN ROOM JOISTS

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
STEP TRIM #384430

AutoCAD SHX Text
LOW EAVE TRIM #381530

AutoCAD SHX Text
TYPICAL EAVE TRIM DETAIL (RESIDENCE)

AutoCAD SHX Text
SEE ROOF PANEL DETAIL

AutoCAD SHX Text
FOR FASTENER PATTERN

AutoCAD SHX Text
EAVE STRUTS #340060

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
ROOF PANELS

AutoCAD SHX Text
36" x 1-1/2" 18 GA.

AutoCAD SHX Text
6" x 3/4" 18 GA.

AutoCAD SHX Text
WALL PANELS

AutoCAD SHX Text
ROOF JOISTS

AutoCAD SHX Text
RESIDENCE RIDGE TRIM DETAIL

AutoCAD SHX Text
18 GA. ROOF PANELS

AutoCAD SHX Text
TOP CLOSURE #351301 TAPE CAULK #760703 BOTHTOP AND BOTTOM OF CLOSURE

AutoCAD SHX Text
RIDGE CAP #382100

AutoCAD SHX Text
STEP TRIM #384430

AutoCAD SHX Text
FASTEN TRIM TO PANELS WITH #12 x 1-1/4" SCREWS #104170 AT 1'-0" O.C.

AutoCAD SHX Text
FASTEN TRIM TO STUDS WITH #12 x 1-1/4" SCREWS #104170 AT 2'-0" O.C.

AutoCAD SHX Text
TOP CLOSURE #351301  TAPE CAULK #760703  BOTHTOP AND BOTTOM  OF CLOSURE

AutoCAD SHX Text
FASTEN TRIM THROUGH CLOSURE INTO PANEL SURFACE WITH #12 x 1-1/4" SCREWS #104170 AT 1'-0" O.C.

AutoCAD SHX Text
FASTEN TRIM TO PANELS WITH #12 x 1-1/4" SCREWS #104170 AT 1'-0" O.C.

AutoCAD SHX Text
BOTTOM CLOSURE #351302 TAPE CAULK #760703 BOTH TOP AND BOTTOM OF CLOSURES

AutoCAD SHX Text
FASTEN TRIM TO STUDS WITH #12 x 1-1/4" SCREWS #104170 AT 2'-0" O.C.

AutoCAD SHX Text
FASTEN TRIM TO ROOF PANEL WITH #12 x 1-1/4" SCREWS #104170 AT 1'-0" O.C.

AutoCAD SHX Text
LOW SIDE

AutoCAD SHX Text
JOIST END TRACK

AutoCAD SHX Text
2 5/8"

AutoCAD SHX Text
PLYWOOD (BY OTHERS)  NAIL TO BLOCKING (NAILS BY OTHERS)

AutoCAD SHX Text
ROOF CURB #390304

AutoCAD SHX Text
BOTTOM CLOSURE #351302. TAPE CAULK (#760703) BOTH TOP AND BOTTOM OF CLOSURES - BEHIND FLASHDEK

AutoCAD SHX Text
INSTALL FLASHDEK (#399239) ON LOW SIDE ON LOW SIDE  LOW SIDE LOW SIDE  SIDE SIDE (ONLY). SNAP A CHALK LINE TO PROVIDE A . SNAP A CHALK LINE TO PROVIDE A GUIDE FOR APPLYING SEALANT. APPLY A CONTINUOUS BEAD OF SEALANT ALONG CHALK LINE. POSITION TOP EDGE OF FLASHDEK OVER SEAL BEAD AND INSTALL #12 x 1-1/4" S.D. SCREWS (#760502) @ 2" O.C. MAX. APPLY ADDITIONAL SEALANT BOTH FASTENED EDGES

AutoCAD SHX Text
ROOF JOIST

AutoCAD SHX Text
ROOF PANEL

AutoCAD SHX Text
FLASHDEK #399239 (PUSH INTO RECESSES AS SHOWN)

AutoCAD SHX Text
2x4 WOOD BLOCKING (BY OTHERS) BOLT TO CURB AT 2'-0" O.C. (BOLTS BY OTHERS)

AutoCAD SHX Text
IMPORTANT: : RECOMMEND POSITIONING ROOF PANELS ON ROOF STARTING AT ROOF CURB AND STARTING AT ROOF CURB AND  CURB AND WORKING OUT FROM THAT POINT. POSITION ROOF PANEL 2 5/8" (+/-2") FROM EDGE OF CURBS AS SHOWN BELOW.

AutoCAD SHX Text
SLOPED ROOF CHOP-OUT CURB INSTALLATION DETAIL (SLOPED ROOF SYSTEMS ONLY)

AutoCAD SHX Text
FASTEN CURB TO ROOF JOISTS  WITH #12 x 1-1/4" S.D. SCREWS #760502 AT 1'-0" O.C. (AROUND ENTIRE PERIMETER)

AutoCAD SHX Text
ROOF CURB

AutoCAD SHX Text
TAPE CAULK #760703 AROUND ENTIRE PERIMETER OF CURB 

AutoCAD SHX Text
FIELD REMOVE ROOF PANEL HIGH RIB

AutoCAD SHX Text
HIGH SIDES REQUIRE BOTTOM CLOSURE #351302 AND CORRESPONDING TAPE CAULK #760703 - DO NOT INSTALL FLASHDEK ON HIGH SIDE OF CURBS

AutoCAD SHX Text
APPLY ADDITIONAL CAULK #760800 AROUND FASTENED EDGES OF FLASHDEK

AutoCAD SHX Text
HIGH SIDE

AutoCAD SHX Text
ROOF PANEL

AutoCAD SHX Text
ROOF JOIST

AutoCAD SHX Text
ROOF CURB 

AutoCAD SHX Text
FLASHDEK FLASHING

AutoCAD SHX Text
2 5/8"

AutoCAD SHX Text
(+/- 2")

AutoCAD SHX Text
(+/- 2")

AutoCAD SHX Text
2 5/8"

AutoCAD SHX Text
(+/- 2")

AutoCAD SHX Text
ROOF PANEL

AutoCAD SHX Text
4"MIN

AutoCAD SHX Text
4" MIN GAP BETWEEN ROOF PANEL ENDS AND EDGE OF ROOF CURB TO ALLOW FOR PROPER FLASHDEK ATTACHMENT 

AutoCAD SHX Text
ROOF PANELS 36" x 1-1/2" 18 GA.

AutoCAD SHX Text
FASTEN TRIM TO ROOF PANEL SUPPORT WITH #12 x 1-1/4" SCREWS #104170, ONE INTO EACH RECESSED GROOVE IN PANEL

AutoCAD SHX Text
ANNEX EAVE TRIM DETAIL 

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
36" x 1-1/2" 18 GA.

AutoCAD SHX Text
6" x 3/4" 18 GA.

AutoCAD SHX Text
WALL PANELS

AutoCAD SHX Text
ROOF PANELS

AutoCAD SHX Text
BOTTOM CLOSURE #351302 TAPE CAULK (#760703)  BOTH TOP AND BOTTOM OF CLOSURES

AutoCAD SHX Text
SEE ROOF PANEL DETAIL FOR FASTENER PATTERN

AutoCAD SHX Text
FASTEN TRIM TO PANELS WITH #12 x 1-1/4" SCREWS #104170 AT 1'-0" O.C.

AutoCAD SHX Text
LOW EAVE TRIM #384230

AutoCAD SHX Text
BILCO ROOF HATCH INSTALLATION DETAIL

AutoCAD SHX Text
ROOF PANELS 36" x 1-1/2" 18 GA.

AutoCAD SHX Text
FASTEN CURB TO ROOF JOISTS WITH #12 x 3/4" SCREWS #760600 AT 1'-0" O.C. (AROUND ENTIRE PERIMETER)

AutoCAD SHX Text
BOTTOM CLOSURE #351302 TAPE CAULK (#760703)  BOTH TOP AND BOTTOM OF CLOSURES

AutoCAD SHX Text
BILCO ROOF HATCH #390400

AutoCAD SHX Text
ROOF PANEL

AutoCAD SHX Text
JOIST OR HEADER CHANNNEL

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
23 of 25

AutoCAD SHX Text
GABLED RESIDENCE TO FLAT RESIDENCE ROOF STEP TRIM

AutoCAD SHX Text
FASTEN TRIM TO ROOF PANEL WITH #12 x 

AutoCAD SHX Text
1-1/4" SCREWS #104170 AT 1'-0" O.C.

AutoCAD SHX Text
TAPE CAULK #760703

AutoCAD SHX Text
WALL STUDS

AutoCAD SHX Text
WALL PANEL

AutoCAD SHX Text
STEP TRIM #381330

AutoCAD SHX Text
ROOF PANEL

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by

Sun Prairie, WM 53590

Steven P. Westra
800-929-3726

Florida Licence # PE 56328

Address: 314 Wilburn Road

«
o
]

£
o
c

L

NOTE:
IF SHUTTER SWINGS INTO BUILDING,

NOTE:
IF SHUTTER SWINGS OUT OF

BUILDING, THEN EXTERIOR FACE OF
SHUTTER IS TO BE FLUSH WITH

THEN INTERIOR FACE OF SHUTTER
IS TO BE FLUSH WITH STUD.

/STUD EXTERIOR WALL PANELS \

FRAMED OPENING TRIM

SUN PRAIRIE, WI 53590

THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

P
d—
00
1
N
00
3 o)
SHUTTER (INTERIOR OF BUILDING) SHUTTER (EXTERIOR OF BUILDING) = 3
] =
= L
- o
. =
L s T =
L ™~ o
z 5 o %
ATTACH LOCK WITH #12 x 1 1/4” S.D. SCREWS #760602 ATTACH LOCK WITH #12 x 1 1/4” S.D. SCREWS #760602 o =
o Z X o
> 5 8 &
KEEPER TO BE FLUSH TO c @ -
SHUTTER EDGE IMPORTANT _NOTE: & 2 &
N FIELD CUT 1/2” DEEP KERFS TO EXISTING WESTEMP PANEL g 7 8 -
N7 /M AT (ENTIRE WIDTH OF DOOR OR SHUTTER) AT PADLOCK HANDLE x = L x
LOCK #392030 ADJUST LOCK TO HAVE A MIN. % g INSTALLATION POINT, KERF CUTS APPRX. 4” APART TO CREATE
(INSTALL ON HINGE PIN | < | |[g-<|  OF 1/4" INSET INTO KEEPER EXPANSION JOINTS TO HELP PREVENT CRACKING IN THE WESTEMP
SIDE OF SHUTTER) PANEL ITSELF. INSTALL TWO ADDITIONAL SCREWS
(INTERIOR OF BUILDING) PADLOCKING HANDLE #392031 T >C (INTERIOR OF BUILDING) (INTERIOR OF BUILDING) #760613/WASHERS #529812 ON THIS 4" CUT IN THE WESTEMP m w
F I _ ~
\ . e — \ \ il'?,T\l/EléHiAS;NATCET% éiﬁiT%RF/OE?O é/)vssmw o =
— SO S~ LOCK #392030 LLl - >
\ (NSTALL ON HINGE PIN HANDLE WITH SET SCREW #392032 — = o=
HANDLE WITH SET SCREW #392032 // < | [0 S SIDE OF SHUTTER) p . HANDLE WITH SET SCREW #392032 I_ S o g ©3
B FASTEN PADLOCKING HANDLE WITH . N FASTEN PADLOCKING - ] FASTEN PADLOCKING - E— %ng
(4) #12 x 3/4” S.D. SCREWS 2 T \ ‘ N I HANDLE WITH (4) #12 x :[ HANDLE WITH (4) #8-18 x :[ —k @ =
¥ 4760600 I ol o = 3/4" S.D. SCREWS #760600 1 1-5/8" HEX HEAD SELF b = s® 5
i = [ i = 1 . . N — X
' C:j} K;J 45 INSTALL OPTIONAL SHIM #392033 (IF REQUIRED)  $5 L;E €;© i DRILLING SCREWS #760613 i < > = s <E
¥ ¥ o UNDER KEEPER #392034 = ¥ ¥ = G o =
FIELD CUT 1” OFF THE END OF _Jj 35 38 FIELD CUT 1" OFF THE < o =< gg
4 . <
S e USh Wi LocKsET 55 L 55 ENSURE HANDLE 13 FLUSH LL. | £2=5e
(NONBURN AREAS ONLY) d d WITH LOCKSET (NONBURN L S300%
Sa Sa PADLOCKING HANDLE #392031 AREAS ONLY) o= S g s
[T} L (o) (o]
== == PADLOCKING HANDLE #392031 I-IJ - L 183
oI
N i "8 A - 02| 25800
{ f=———FASTEN KEEPER & SHIM WITH Ly Lz _ oF
- ” N ¥ o0 AN
\ #12 x 3/4" S.D. SCREWS #760600 / — 5SSo3
m
\KEEPER ASSEMBLY | NON—BURN SHUTTER BURN SHUTTER OR BURN DOOR l-l— Ip) ggaﬁ
Lj & &
- FRAMED OPENING SILL TRIM O~
HANDLES ARE DRAWN VERTICALLY IN SIDE VIEWS FOR CLARITY ONLY. HANDLES ARE DRAWN VERTICALLY IN SIDE VIEWS FOR CLARITY ONLY. ”%H'Jjg
HANDLES SHOULD BE INSTALLED HORIZONTALLY AS SHOWN IN FRONT VIEW. w HANDLES SHOULD BE INSTALLED HORIZONTALLY AS SHOWN IN FRONT VIEW. =
—
—
O
SWING IN SHUTTER HANDLE INSTALLATION SWING OUT SHUTTER HANDLE INSTALLATION -
SCALE: 1/8" = 1'=0" SCALE: 1/8" = 1'=0"

T
L
L
_|
L
Q
O
=
O
O
n
Ll
=

=
O
=
N
D)
@)

MISC. DETAILS CONT.

|
L
=
L]
=
|_
W
L.
o
O

Sheet Title:

E Job Description:
®

DECEMBER 10, 2021

Drawn by: WDM

Checked by: SPW

Scale:
SHOWN

Order No.
raer MO t1e_796 / #244368

Sheet No.

24 of 25



AutoCAD SHX Text
NOTE: IF SHUTTER SWINGS OUT OF BUILDING, THEN EXTERIOR FACE OF SHUTTER IS TO BE FLUSH WITH WALL PANELS.

AutoCAD SHX Text
NOTE: IF SHUTTER SWINGS INTO BUILDING, THEN INTERIOR FACE OF SHUTTER IS TO BE FLUSH WITH STUD.

AutoCAD SHX Text
KEEPER TO BE FLUSH TO SHUTTER EDGE

AutoCAD SHX Text
SWING IN SHUTTER HANDLE INSTALLATION SHUTTER HANDLE INSTALLATION

AutoCAD SHX Text
SWING OUT SHUTTER HANDLE INSTALLATION SHUTTER HANDLE INSTALLATION

AutoCAD SHX Text
FASTEN PADLOCKING HANDLE WITH (4) #8-18 x 1-5/8" HEX HEAD SELF DRILLING SCREWS #760613.

AutoCAD SHX Text
NON-BURN SHUTTER

AutoCAD SHX Text
FASTEN PADLOCKING HANDLE WITH (4) #12 x 3/4" S.D. SCREWS #760600 

AutoCAD SHX Text
FASTEN PADLOCKING HANDLE WITH (4) #12 x 3/4" S.D. SCREWS #760600 

AutoCAD SHX Text
FASTEN KEEPER & SHIM WITH #12 x 3/4" S.D. SCREWS #760600 

AutoCAD SHX Text
ATTACH LOCK WITH #12 x 1 1/4" S.D. SCREWS #760602 

AutoCAD SHX Text
ATTACH LOCK WITH #12 x 1 1/4" S.D. SCREWS #760602 

AutoCAD SHX Text
HANDLE WITH SET SCREW #392032

AutoCAD SHX Text
HANDLE WITH SET SCREW #392032

AutoCAD SHX Text
HANDLE WITH SET SCREW #392032

AutoCAD SHX Text
PADLOCKING HANDLE #392031

AutoCAD SHX Text
PADLOCKING HANDLE #392031

AutoCAD SHX Text
PADLOCKING HANDLE #392031

AutoCAD SHX Text
LOCK #392030 (INSTALL ON HINGE PIN SIDE OF SHUTTER)

AutoCAD SHX Text
LOCK #392030 (INSTALL ON HINGE PIN SIDE OF SHUTTER)

AutoCAD SHX Text
BURN SHUTTER OR BURN DOOR

AutoCAD SHX Text
(INTERIOR OF BUILDING)

AutoCAD SHX Text
(INTERIOR OF BUILDING)

AutoCAD SHX Text
(INTERIOR OF BUILDING)

AutoCAD SHX Text
INSTALL OPTIONAL SHIM #392033 (IF REQUIRED) UNDER KEEPER #392034

AutoCAD SHX Text
KEEPER ASSEMBLY

AutoCAD SHX Text
EXTERIOR WALL PANELS

AutoCAD SHX Text
SHUTTER (EXTERIOR OF BUILDING)

AutoCAD SHX Text
SHUTTER (INTERIOR OF BUILDING)

AutoCAD SHX Text
FRAMED OPENING SILL TRIM 

AutoCAD SHX Text
FRAMED OPENING TRIM 

AutoCAD SHX Text
SCALE:  1/8" = 1'-0"

AutoCAD SHX Text
STUD

AutoCAD SHX Text
SCALE:  1/8" = 1'-0"

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
MISC. DETAILS CONT.

AutoCAD SHX Text
IMPORTANT NOTE: FIELD CUT 1/2" DEEP KERFS TO EXISTING WESTEMP PANEL (ENTIRE WIDTH OF DOOR OR SHUTTER) AT PADLOCK HANDLE INSTALLATION POINT, KERF CUTS APPRX. 4" APART TO CREATE EXPANSION JOINTS TO HELP PREVENT CRACKING IN THE WESTEMP PANEL ITSELF. INSTALL TWO ADDITIONAL SCREWS #760613/WASHERS #329812 ON THIS 4" CUT IN THE WESTEMP PANEL (SPACED APART) FOR WESTEMP ATTACHMENT TO SHUTTER/DOOR

AutoCAD SHX Text
HANDLES ARE DRAWN VERTICALLY IN SIDE VIEWS FOR CLARITY ONLY. HANDLES SHOULD BE INSTALLED HORIZONTALLY AS SHOWN IN FRONT VIEW.

AutoCAD SHX Text
HANDLES ARE DRAWN VERTICALLY IN SIDE VIEWS FOR CLARITY ONLY. HANDLES SHOULD BE INSTALLED HORIZONTALLY AS SHOWN IN FRONT VIEW.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
FIELD CUT 1" OFF THE END OF SHANK TO ENSURE HANDLE IS FLUSH WITH LOCKSET (NONBURN AREAS ONLY)

AutoCAD SHX Text
FIELD CUT 1" OFF THE END OF SHANK TO ENSURE HANDLE IS FLUSH WITH LOCKSET (NONBURN AREAS ONLY)

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
24 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


REVISIONS by

STAIR STRINGER A36 STEEL vﬁ
(HOT DIPPED GALVANIZED) ATTACH GAP RALL TO | T BACK TO BACK STUDS
3/8” DIA. CONCRETE ANCHOR (ONE PER E';QI}JSESR\X:LHNGSEFTLAS,\]CGREESW' J TRIM #5°8040 FASTEN //@ .
STRINGER) ICBO REPORT 4514 APPROVED 299297 TO STUDS WITH (4 HORIZONTAL PIECE TO DOUBLE = g 50 3
» # (4) STUDS (FASTEN VERTICAL PIECES § =8 °
TTO0/T)  ANCHOR MINIMUM EMBEDMENT IS 1-3/4 = 255
SCREWS #392001 AND WHIZ ~ - £8]
SEE MANUFACTURES INSTRUCTIONS FOR NUTS #502910, (2) PER STUD ,, TO HORIZONTAL PIECE AT ~ : 858«
CONCRETE FLOOR INSTALLATION ’ CORNERS) WITH #12 x 3/4 ‘ £ Sed 8
N ~| SCREWS #760604 O . 278
© BACK TO BACK STUDS —
2 3" FROM FACE OF STAIR HEADER ) LINER PANEL Y :
D _TAl |— ,] TO CENTER OF BACK TO BACK STUDS _|| |_ N 'm
- A 0\5
— ATTACH GAP RAIL POST TO BASE WITH FINISHED FLOOR LINE M 8
7 FLOOR OPENING SET SCREWS. FASTEN VERTICAL BASE / S
- #399293 TO CHANNEL WITH (2) 3/8” DIA. .\ 11 .
1 1/4” ID SCHEDULE 40 STAIR " ) " BOLTS #760100 & WHIZ NUTS #625058 _ SECTION VIEW B
RAILING (HOT DIPPED GALVANIZED) / 8 TREADS @ 11" (+1 1/4") = 89 1/4 _ (AREAS WITH LINER PANEL)
<\ FLOOR SUPPORT CHANNEL/JOIST a1
'_
L -]
= 2
(2) 3/8” DIA. A307 BOLTS SECTION THRU GAP RAIL > =
= =
% FOURTH FLOOR w o o
: e YVl = 93 g
" o S @ % 2 7
M Ll
- -| © - Lol— w ;I—) 6|
" I I %o o = 2 Z
= L y - [v'e)
o X tdygc=
0|3 v € 38
ble s E =z 2
o . 3 3 8 &
0 4 SO S =R
[72) o w 9 9~ o
o zZ 3 9 ¥ a2
- S 2
e FASTEN ANGLE TO JOISTS WITH <L g P2y
STAIR STRINGER A36 STEEL FLOOR OPENING TOE ANGLE #399000 —— #2 x 3/4” S.D. SCREWS S5z 8¢2E
(HOT DIPPED GALVANIZED) : INSTALL AROUND FLOOR OPENINGS N 4760600 AT 2'—0” 0.C. =8 x 2
BAR CRATING TREADS 3 (INSTALL WITH HEMMED LEG UP)  ~ 7] T 1 s O gy =
D _TAl |_ 2 (HOT DIPPED GALVANIZED) | . CINISHED FLOOR LINE © S+ E 2 &
- ) Foy) F @ m O < =
e =
— ™~
o|3 FLOOR SUPPORT CHANNEL/JOISTJ
O
[TeIi=) w @ N
> @ SECTION THRU HANDRAIL s -
0 |
% — > 033
> THIRD_FLOOR — 272y
_ R LN A A4 ) S , , I w " + B
. /—GAL\/ANIZED 1” x 1/8" BAR —= =03
) 3 : : GRATING WITH BANDED ENDS — X<
(2) 3/8” BOLTS, FIELD DRILL. ISTING FLOOR PANELS [ 1 1 RAIL #399350— ¢ ; s ot =] sze.t
: | oo N <0
O|© I I W W
| 1] 1] L(') © & - 5? g0=
BAR GRATE TREAD © . y > — | 2.3_=
% 3 -0 mu_ L2y 90
(HOT DIPPED GALVANIZED) - &2 - “ ~2 186
72 | lz — e R
o \p) Ll [ =
IEEEEAEEEE o . I_I — %@gg
5 Il 'Ij(l) = y \}\ ® @ ggé\é
:EXISTING FRAMING 3 ~ X > + 52k
! Pl 3 ok E
[T T T ITT 5 — > - O&E
/ STRINGER I - 9 (? f%—/} L_,L
(HOT DIPPED GALVANIZED) 2L i 3
- M 7 =
NG
A\
1” x 1”7 x 1/8" ANGLE & r A
HOT DIPPED GALVANIZED % DETAIL 3 (TYP.
( ) = \[ (TYP.) ! RAIL #399351 !
SECOND FLOOR
—+ e FOURTH FLOOR STAIR & RAILING PLAN T
_ © scale:  N.T.S. Lo
D u TA' L 3 |2 I A GALVANIZED 17 x 1/8” BAR L
__ . 5 GRATING WITH BANDED ENDS ]
IS ,\ [
M) % T 7 I G Ll'l
il ©5 TYP. STAIR STRINGER 4 | 8 .
n
- (2) 3/8" BOLTS, FIELD DRILL. o C (HOT DIPPED GALVANIZED) . s -
(HOT DIPPED GALVANIZED) 22 RAIL #399350 o § ) = ]
- DETAIL 2 (TYP.) \\ S ol X g 8 = >
[T T ITTTITTE ™ i § p) — U RN
BAR GRATE TREAD “ , . - S g ©u e
DE (HOT DIPPED GALVANIZED) " TYP. 1 1/4° SCHEDULE " \ s =T o5 5
3 < /7 40 HANDRAIL 1 X 5 g
[ [T PTOTTTT] ! ZI ‘ (HOT DIPPED GALVANlZED) 4 p > -
/- 2 © N bate DECEMBER 10, 2021
2 x ~ N .
SUPPLIED FRAMING E © % E)ETAI)L 4 (THYg.T E[B)lAFE%PEGS%AGT/LI\ll_SATNFl%ZEEA[E))S D (9 /v = L /C o Drawn by. WDM
v TYP. | 3 Checked by:
EEEEREEEEE i h a7 v : SPW
)
STRINGER x 2 DETAIL 1 | | & Seale: SHOWN
(HOT DIPPED GALVANIZED) o | | —
” » ” ‘ " FTE—796 / #244368
_ 1" x 1 x 1/8" ANGLE GROUND FLOOR 0 GAP RAIL #399299 (SEE DETAIL B)
L (HOT DIPPED GALVANIZED) sheet No.
DETAIL 4 SECTION THRU STARS  scdisr N.T.S SECOND/THIRD FLOOR STAIR & RAILING PLAN
. — scale:  N.T.S. 25 Of 25



AutoCAD SHX Text
STAIRS

AutoCAD SHX Text
Sheet No.

AutoCAD SHX Text
Order No.

AutoCAD SHX Text
Scale:

AutoCAD SHX Text
Checked by:

AutoCAD SHX Text
Drawn by:

AutoCAD SHX Text
Date:

AutoCAD SHX Text
Job Description:

AutoCAD SHX Text
Sheet Title:

AutoCAD SHX Text
GROUND FLOOR

AutoCAD SHX Text
SECOND FLOOR

AutoCAD SHX Text
THIRD FLOOR

AutoCAD SHX Text
FOURTH FLOOR

AutoCAD SHX Text
SECTION THRU STAIRS    scale: N.T.S.

AutoCAD SHX Text
OFFICE: (608) 327-4100 FAX (608) 834-1843

AutoCAD SHX Text
314 WILBURN ROAD,  SUN PRAIRIE, WI 53590

AutoCAD SHX Text
AND MAY NOT BE REPRODUCED IN WHOLE OR PART WITHOUT

AutoCAD SHX Text
THIS DRAWING AND ALL PARTS THEREOF IS THE EXCLUSIVE

AutoCAD SHX Text
WRITTEN PERMISSION.

AutoCAD SHX Text
PROPERTY OF FIRE FACILITIES, INC.,

AutoCAD SHX Text
FIRE FACILITIES, INC. 314 WILBURN ROAD, SUN PRAIRIE, WI 53590  OFFICE: (608) 327-4100 FAX: (608) 834-1843 TOLL FREE: (800) 929-3726 TOLL FREE FAX: (866) 639-7012 WWW.FIREFACILITIES.COM; INFO@ FIREFACILITIES.COM

AutoCAD SHX Text
BAR GRATE (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
BAR GRATE TREAD (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
STRINGER (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
1" x 1" x 1/8" ANGLE (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
DETAIL 4

AutoCAD SHX Text
SUPPLIED FRAMING

AutoCAD SHX Text
(2) 3/8" BOLTS, FIELD DRILL.

AutoCAD SHX Text
DETAIL 2

AutoCAD SHX Text
CONCRETE FLOOR

AutoCAD SHX Text
DETAIL 1

AutoCAD SHX Text
STAIR STRINGER A36 STEEL  (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
3/8" DIA. CONCRETE ANCHOR (ONE PER STRINGER) ICBO REPORT 4514 APPROVED ANCHOR MINIMUM EMBEDMENT IS 1-3/4" SEE MANUFACTURES INSTRUCTIONS FOR INSTALLATION

AutoCAD SHX Text
1 1/4" ID SCHEDULE 40 STAIR RAILING (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
(2) 3/8" DIA. A307 BOLTS

AutoCAD SHX Text
BAR GRATING TREADS  (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
STAIR STRINGER A36 STEEL   (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
TYP. BAR GRATING TREADS  (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
TYP. STAIR STRINGER  (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
RAIL #399350

AutoCAD SHX Text
A

AutoCAD SHX Text
SECTION THRU HANDRAIL

AutoCAD SHX Text
FLOOR SUPPORT CHANNEL/JOIST

AutoCAD SHX Text
FINISHED FLOOR LINE

AutoCAD SHX Text
FLOOR OPENING TOE ANGLE #399000 INSTALL AROUND FLOOR OPENINGS  (INSTALL WITH HEMMED LEG UP)

AutoCAD SHX Text
FASTEN ANGLE TO JOISTS WITH #12 x 3/4" S.D. SCREWS #760600 AT 2'-0" O.C.

AutoCAD SHX Text
ATTACH GAP RAIL TO FLANGES WITH SET SCREW.  FASTEN RAILING FLANGES #399297 TO STUDS WITH (4) SCREWS #392001 AND WHIZ NUTS #502910, (2) PER STUD

AutoCAD SHX Text
J TRIM #358040 FASTEN HORIZONTAL PIECE TO DOUBLE STUDS (FASTEN VERTICAL PIECES TO HORIZONTAL PIECE AT CORNERS) WITH #12 x 3/4" SCREWS #760604

AutoCAD SHX Text
LINER PANEL

AutoCAD SHX Text
BACK TO BACK STUDS

AutoCAD SHX Text
BACK TO BACK STUDS

AutoCAD SHX Text
ATTACH GAP RAIL POST TO BASE WITH SET SCREWS.  FASTEN VERTICAL BASE #399293 TO CHANNEL WITH (2) 3/8" DIA. BOLTS #760100 & WHIZ NUTS #625058

AutoCAD SHX Text
SECTION VIEW B (AREAS WITH LINER PANEL)

AutoCAD SHX Text
FINISHED FLOOR LINE

AutoCAD SHX Text
FLOOR SUPPORT CHANNEL/JOIST

AutoCAD SHX Text
B

AutoCAD SHX Text
SECTION THRU GAP RAIL

AutoCAD SHX Text
TYP. 1 1/4" SCHEDULE  1 1/4" SCHEDULE  40 HANDRAIL (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
9 RISERS @ 7" = 63"  (1ST FLOOR ONLY)

AutoCAD SHX Text
DETAIL 1

AutoCAD SHX Text
SECOND/THIRD FLOOR STAIR & RAILING PLAN

AutoCAD SHX Text
scale:  N.T.S.

AutoCAD SHX Text
GALVANIZED 1" x 1/8" BAR GRATING WITH BANDED ENDS 

AutoCAD SHX Text
A

AutoCAD SHX Text
UP

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
A

AutoCAD SHX Text
GAP RAIL #399299 (SEE DETAIL B)

AutoCAD SHX Text
FOURTH FLOOR STAIR & RAILING PLAN

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
DOWN

AutoCAD SHX Text
A

AutoCAD SHX Text
A

AutoCAD SHX Text
GALVANIZED 1" x 1/8" BAR GRATING WITH BANDED ENDS 

AutoCAD SHX Text
RAIL #399350

AutoCAD SHX Text
9 RISERS @ 6.6875" = 60"

AutoCAD SHX Text
DETAIL 2 (TYP.)

AutoCAD SHX Text
EXISTING FLOOR PANELS

AutoCAD SHX Text
BAR GRATE TREAD (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
STRINGER (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
1" x 1" x 1/8" ANGLE (HOT DIPPED GALVANIZED)

AutoCAD SHX Text
DETAIL 3

AutoCAD SHX Text
EXISTING FRAMING

AutoCAD SHX Text
(2) 3/8" BOLTS, FIELD DRILL.

AutoCAD SHX Text
DETAIL 4 (TYP.)

AutoCAD SHX Text
DETAIL 3 (TYP.)

AutoCAD SHX Text
RAIL #399351

AutoCAD SHX Text
scale:  N.T.S.

AutoCAD SHX Text
9 RISERS @ 7" = 63"  (1ST FLOOR ONLY)

AutoCAD SHX Text
9 RISERS @ 6.6875" = 60"

AutoCAD SHX Text
9 RISERS @ 6.6875" = 60"

AutoCAD SHX Text
9 RISERS @ 6.6875" = 60"

AutoCAD SHX Text
  SHOWN

AutoCAD SHX Text
SPW

AutoCAD SHX Text
WESCO MODEL FF-4

AutoCAD SHX Text
CUSTOM

AutoCAD SHX Text
CRESTVIEW, FL

AutoCAD SHX Text
DECEMBER 10, 2021

AutoCAD SHX Text
WDM

AutoCAD SHX Text
FTE-796 / #244368

AutoCAD SHX Text
25 of 25

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
by

AutoCAD SHX Text
Engineer:  Steven P. Westra Address: 314 Wilburn Road Sun Prairie, WI  53590 800-929-3726 Florida Licence #:  PE 56328 

stevew
Image


	Sheets and Views
	00-titlepageff-4-Model
	01-FF4A-Model
	02-FF4B-Model
	03-FF4C-Model
	04-FF4D-Model
	05-ABOLTff-4-Model
	06-STRFRM-Model
	07-STRELEV-Model
	08-STRELEV2-Model
	09-SECTT-Model
	10-SECTR-Model
	11-JOIST-Model
	12-JOIST2-Model
	13-PSTUDELE-Model
	14-PSTUDELE2-Model
	15-WESTECANNEX-Model
	16-WESTEC2-Model
	17-BURNDETAILS-Model
	18-BURNDETAILS2-Model
	19-PARAPET-Model
	20-RECESSED BALCONY-Model
	21-MISC-Model
	22-MISC2-Model
	23-MISC3-Model
	24-LEVERLATCH-Model
	25-USTAIR-Model


		2022-01-05T08:03:50-0600
	Steven Westra




